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2) {dÚwVemó, Mw§~H$Ëd, AUw{dkmZ d {H$aUmoËgm[aVm
3) IJmobemó d A§Vami {dkmZ
4) AmdV© gmaUr - ‘ybÐì¶o, YmVy Am{U AYmVy
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(6) gm‘mÝ` {dkmZ (15)
1) ^m¡{VH$emó ({’${O³g)
2) agm¶Zemó (Ho${‘ñQ́>r)
3) àm{Uemó (Pycm°Or)
4) dZñn{Vemó (~m°Q>Zr)
5) H¥$fr / eoVrg§b¾ {dkmZ
6) Amamo½¶emó (hm¶OrZ)
7) {dkmZ Am{U V§ÌkmZ

1) JVremó, CîUVm, bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar / Bbo³Q´>mo‘°¾o{Q>H$ ñnoŠQ´‘
2) {dÚwVemó, Mw§~H$Ëd, AUw{dkmZ d {H$aUmoËgm[aVm
3) IJmobemó d A§Vami {dkmZ- Xÿag§doXZ, hdmB© d S´>moZ N>m¶m{MÌU, ^m¡Jmo{bH$ ‘m{hVr àUmbr d Ë¶mMo Cn¶moOZ.

‘m{hVr d g§àofU V§ÌkmZ /Am¶grQ>r - BboŠQ´m°{ZŠg, H$å ẁ{ZHo$eZ Am{U g§JUH$ V§ÌkmZ, gmoeb ‘r{S>`m
4) AmdV© gmaUr - ‘ybÐì¶o, YmVy Am{U AYmVy
5) amgm`{ZH$ A{^{H«$`m - Amåb, jma, g§̀ wJo
6) g|{Ð` agm`Zemó - hm`S´moH$m~©Ýg, H$sQ>H$ZmeHo$, B§YZ, dm ỳ, IVo
7) àmÊ`m§Mo dJuH$aU Am{U CXmhaUo, àmUr eara{dkmZ
8) Cn ẁº$ Am{U hmZrH$maH$ àmUr
9) dZñnVtMo dJuH$aU Am{U CXmhaUo, dZññnVtMo earaemó Am{U eara{dkmZ
10) Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr, dZemó
11) A°J«moBH$mobm°Or - g|{Ð` eoVr, {nHo$ Am{U g§H$[aV OmVr, nmUr ì`dñWmnZ,
12) H¥$fr{dkmZ newnmbZ d Xw½Yì`dgm`, Hw$ w̧$Q>nmbZ, ‘Ëñ¶ì¶dgm¶, ’$bmoËnmXZ
13) noer{dkmZ d M¶mnM¶Z
14) ‘mZdr eara àUmbr - MoVmg§ñWm, nMZ, ídgZ, é{Yam{^gaU, ñZm¶y d AñWr, A§V…òmdr, CËgO©Z g§ñWm
15) Amamo½` Am{U amoJ - amoJàgma d H$maH$ KQ>H$, amoJ{ZXmZ, CnMma Am{U Amamo½¶ H$m ©̀H«$‘
16) Am¡fYo Am{U bgr
17) AÞ Am{U nmofU - ‘°H«$mo, gyú‘, I{ZOo, OrdZgÎdo
18) ^maVmVrb {dkmZ Am{U V§ÌkmZmVrb àJVr, g§ñWm, d¡km{ZH$
19) {dkmZ {dH$mg, V§ÌkmZmÛmao nm`m ŷV gw{dYm§Mm {dH$mg

1) ^m¡{VH$emó ({’${O³g)

67) JVremó, CîUVm, bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar / Bbo³Q´>mo‘°¾o{Q>H$ ñnoŠQ´‘
68) {dÚwVemó, Mw§~H$Ëd, AUw{dkmZ d {H$aUmoËgm[aVm
69) IJmobemó d A§Vami {dkmZ- Xÿag§doXZ, hdmB© d S´>moZ N>m¶m{MÌU, ^m¡Jmo{bH$ ‘m{hVr àUmbr d Ë¶mMo Cn¶moOZ.

‘m{hVr d g§àofU V§ÌkmZ /Am¶grQ>r - BboŠQ´m°{ZŠg, H$å ẁ{ZHo$eZ Am{U g§JUH$ V§ÌkmZ, gmoeb ‘r{S>`m
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2) agm¶Zemó (Ho${‘ñQ́>r)

70) AmdV© gmaUr - ‘ybÐì¶o, YmVy Am{U AYmVy
71) amgm`{ZH$ A{^{H«$`m - Amåb, jma, g§̀ wJo
72) g|{Ð` agm`Zemó - hm`S´moH$m~©Ýg, H$sQ>H$ZmeHo$, B§YZ, dm ỳ, IVo

3) àm{Uemó (Pycm°Or)

73) àmÊ`m§Mo dJuH$aU Am{U CXmhaUo, àmUr eara{dkmZ
74) Cn ẁº$ Am{U hmZrH$maH$ àmUr

4) dZñn{Vemó (~m°Q>Zr)

75) dZñnVtMo dJuH$aU Am{U CXmhaUo, dZññnVtMo earaemó Am{U eara{dkmZ
76) Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr, dZemó

5) eoVr{dkmZ

77) A°J«moBH$mobm°Or - g|{Ð` eoVr, {nHo$ Am{U g§H$[aV OmVr, nmUr ì`dñWmnZ
78) H¥$fr{dkmZ newnmbZ d Xw½Yì`dgm`, Hw$ w̧$Q>nmbZ, ‘Ëñ¶ì¶dgm¶, ’$bmoËnmXZ

6) Amamo½¶emó (hm¶OrZ)

79) noer{dkmZ d M¶mnM¶Z
80) ‘mZdr eara àUmbr - MoVmg§ñWm, nMZ, ídgZ, é{Yam{^gaU, ñZm¶y d AñWr, A§V…òmdr, CËgO©Z g§ñWm
81) Amamo½` Am{U amoJ - amoJàgma d H$maH$ KQ>H$, amoJ{ZXmZ, CnMma Am{U Amamo½¶ H$m ©̀H«$‘
82) Am¡fYo Am{U bgr
83) AÞ Am{U nmofU - ‘°H«$mo, gyú‘, I{ZOo, OrdZgÎdo

7) {dkmZ Am{U V§ÌkmZ

84) ^maVmVrb {dkmZ Am{U V§ÌkmZmVrb àJVr, g§ñWm, d¡km{ZH$
85) {dkmZ {dH$mg, V§ÌkmZmÛmao nm`m ŷV gw{dYm§Mm {dH$mg

‘m{hVr d g§àofU V§ÌkmZ
1) g§JUH$ V§ÌkmZ - AmYw{ZH$ g‘mOmVrc g§JUH$mMr ŷ{‘H$m, doJdoJù¶m joÌmVrc OrdZmV g§JUH$mMm dmna
2) H$å¶w{ZHo$eZ V§ÌkmZ - S>mQ>m H$å¶w{ZHo$eZ, ZoQ>d{Hª$J Am{U do~ Q>o³Zm°cm°Or
3) gm¶~a JwÝho d Ë¶mg à{V~§Y
4) emgZmMo Am¶Q>r H$m¶©H«$‘ - {‘S>r¶m c°~ E{e¶m, {dÚm dm{hZr, kmZ dm{hZr, gm‘y{hH$ ‘m{hVr H|$Ð BË¶mXr
5) ‘m{hVr V§ÌkmZ CÚmoJ - ‘m{hVr V§ÌkmZ CÚmoJmVrc ‘yc ŷV àíZ d Ë¶mMo ^{dVì¶, ZdrZ CÚmoJ åhUyZ ‘m{hVr

V§ÌkmZmMm {Za{Zamù¶m godm gw{dYm§Mr ‘m{hVr {‘iÊ¶mgmR>r hmoUmam Cn¶moJ, ̂ maVmVrc ‘m{hVr V§ÌkmZ CÚmoJmMr dmT>
d Ë¶mMm XOm©.



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … gm‘mÝ` {dkmZ  / 4

For Private Circulation Only

 gm‘mÝ` {dkmZmda àíZ AgUmè¶m ‘hmamḯ> bmoH$godm Am¶moJmÀ¶m narjm
1) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
2) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
3) JQ> -~  g§¶wº$ nyd©narjm, ’o$~«wdmar 2022
4) JQ> -H$  g§¶wº$ nyd©narjm, E{àb 2022
5) ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd© narjm,  E{àb 2022
6) amÁ¶godm gm_mÝ` AÜ``Z nona -1,  ‘o 2022
7) amÁ¶godm gm_mÝ` AÜ``Z nona -2,  ‘o 2022
8) amÁ¶godm gm_mÝ` AÜ``Z nona -3,  ‘o 2022
9) amÁ¶godm gm_mÝ` AÜ``Z nona -4,  ‘o 2022
10) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Owb¡ 2022
11) ImË¶m§VJ©V nmocrg Cn{ZarjH$  ‘w»¶ narjm, Owb¡ 2022
12) ghm¶H$ H$j A{YH$mar ‘w»¶ narjm, Owb¡ 2022
13) {b{nH$ Q>§H$boIH  ‘w»¶ narjm, Am°JñQ> 2022
14) Xþæ¶‘ {ZarjH$ ‘w»¶ narjm,Am°JñQ> 2022
15) amÁ¶godm nyd©narjm nona -1, Am°JñQ> 2022
16) amÁ¶godm nyd©narjm nona -2, Am°JñQ> 2022
17) H$a ghm¶H$ ‘w»¶ narjm, Am°JñQ> 2022
18) Vm§{ÌH$ ghm¶H$ ‘w»¶ narjm, gßQ>|~a 2022
19) CÚmoJ {ZarjH$ ‘w»¶ narjm,  gßQ>|~a 2022
20) H¥$fr godm ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
21) H¥$fr godm ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
22) ¶m§{ÌH$s A{^¶m§{ÌH$s ‘w»¶ narjm  nona -1, Am°³Q>mo~a 2022
23) ¶m§{ÌH$s A{^¶m§{ÌH$s ‘w»¶ narjm  nona -2, Am°³Q>mo~a 2022
24) dZgodm ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
25) JQ> -~  g§¶wº$ nyd©narjm, Am°³Q>mo~a 2022
26) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Am°³Q>mo~a 2022
27) {dÚwV A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
28) {dÚwV A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
29) ñWmnË¶ A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
30) ñWmnË¶ A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
31) JQ>-H$  godm g§¶wº$ nyd©narjm, Zmoìho§~a 2022
32) A{gñQ>§Q>  Q>mD$Z ßb°Za  narjm, Zmoìh|~a 2022
33) d[að> g§emoYZ A{YH$mar narjm, {S>g|~a, 2022
34) àemgH$s¶ A{YH$mar narjm, {S>g|~a 2022
35) {d^mJr¶ EEgAmo narjm nona -1, {S>g|~a 2022
36) {d^mJr¶ EEgAmo narjm nona -2, {S>g|~a 2022
37) ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd©narjm, {S>g|~a 2022
38) newd¡ÚH$s¶ A{YH$mar narjm, {S>g|~a 2022
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‘hmamḯ> bmoH$godm Am¶moJmÀ¶m narjm 2022
1) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
2) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
3) JQ> -~  g§¶wº$ nyd©narjm, ’o$~«wdmar 2022
4) {d^mJr¶ EEgAmo narjm nona -1, ‘mM© 2022
5) {d^mJr¶ EEgAmo narjm nona -1, ‘mM© 2022
6) Oo‘E’$gr d {XdmUr Ý¶m¶mYre H${Zð> ñVa nyd© narjm , ‘mM©  2022
7) JQ> -H$  g§¶wº$ nyd©narjm, E{àb 2022
8) ImË¶m§VJ©V nmocrg Cn{ZarjH$ nyd©narjm, E{àb 2022
9) ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd© narjm,  E{àb 2022
10) amÁ¶godm gm_mÝ` AÜ``Z nona -1,  ‘o 2022
11) amÁ¶godm gm_mÝ` AÜ``Z nona -2,  ‘o 2022
12) amÁ¶godm gm_mÝ` AÜ``Z nona -3,  ‘o 2022
13) amÁ¶godm gm_mÝ` AÜ``Z nona -4,  ‘o 2022
14) JQ>-~, ‘w»¶ narjm nona -1, Owb¡ 2022
15) Oo‘E’$gr ‘w»¶ narjm nona-1, Owb¡  2022
16) Oo‘E’$gr ‘w»¶ narjm nona-2, Owb¡  2022
17) nmobrg Cn{ZarjH$ ‘w»¶ narjm, Owb¡ 2022
18) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Owb¡ 2022
19) ImË¶m§VJ©V nmocrg Cn{ZarjH$  ‘w»¶ narjm, Owb¡ 2022
20) ghm¶H$ H$j A{YH$mar ‘w»¶ narjm, Owb¡ 2022
21) JQ>-H$, ‘w»¶ narjm nona -1, Am°JñQ> 2022
22) ghm¶H$ gaH$mar A{^¶moº$m narjm  nona -1, gßQ>|~a 2022
23) ghm¶H$ gaH$mar A{^¶moº$m narjm  nona -2, gßQ>|~a 2022
24) {b{nH$ Q>§H$boIH  ‘w»¶ narjm, Am°JñQ> 2022
25) Xþæ¶‘ {ZarjH$ ‘w»¶ narjm,Am°JñQ> 2022
26) amÁ¶godm nyd©narjm nona -1, Am°JñQ> 2022
27) amÁ¶godm nyd©narjm nona -2, Am°JñQ> 2022
28) H$a ghm¶H$ ‘w»¶ narjm, Am°JñQ> 2022
29) Vm§{ÌH$ ghm¶H$ ‘w»¶ narjm, gßQ>|~a 2022
30) JQ>-~ ‘w»¶ narjm nona-1 , gßQ>|~a 2022
31) CÚmoJ {ZarjH$ ‘w»¶ narjm,  gßQ>|~a 2022
32) nmobrg Cn{ZarjH$  (‘w»¶) narjm, gßQ>|~a 2022
33) H¥$fr godm ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
34) H¥$fr godm ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
35) ¶m§{ÌH$s A{^¶m§{ÌH$s ‘w»¶ narjm  nona -1, Am°³Q>mo~a 2022
36) ¶m§{ÌH$s A{^¶m§{ÌH$s ‘w»¶ narjm  nona -2, Am°³Q>mo~a 2022
37) dZgodm ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
38) dZgodm ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
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39) JQ> -~  g§¶wº$ nyd©narjm, Am°³Q>mo~a 2022
40) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Am°³Q>mo~a 2022
41) ghm¶H$ H$j A{YH$mar  ‘w»¶ narjm , Am°³Q>mo~a 2022
42) {dÚwV A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
43) {dÚwV A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
44) ñWmnË¶ A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
45) ñWmnË¶ A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
46) JQ>-H$  godm g§¶wº$ nyd©narjm, Zmoìho§~a 2022
47) A{gñQ>§Q>  Q>mD$Z ßb°Za  narjm, Zmoìh|~a 2022
48) AZwdmXH$ (‘amR>r) MmiUr narjm, [S>g|~a, 2022
49) d[að> g§emoYZ A{YH$mar narjm, {S>g|~a, 2022
50) àemgH$s¶ A{YH$mar narjm, {S>g|~a 2022
51) {d^mJr¶ EEgAmo narjm nona -1, {S>g|~a 2022
52) {d^mJr¶ EEgAmo narjm nona -2, {S>g|~a 2022
53) ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd©narjm, {S>g|~a 2022
54) ñQ>oZmo ‘amR>r narjm, {S>g|~a 2022
55) ñQ>oZmo B§J«Or narjm, {S>g|~a 2022
56) newd¡ÚH$s¶ A{YH$mar narjm, {S>g|~a 2022
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‘hmamîQ́> bmoH$godm Am¶moJ narjm 2022
1) ^maVmMm B{Vhmg Am{U ̂ maVr` amï´>r` Midi (15)
2) ‘hmamï´>, ̂ maV Am{U OmJ{VH$ ̂ yJmob (15)
3) ^maVr` amÁ¶ì¶dñWm Am{U emgZ (15)
4) Am{W©H$ Am{U gm‘m{OH$ {dH$mg (15)
5) n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb (10)
6) gm‘mÝ` {dkmZ (15)
7) Mmby  KS>m‘moS>r -  amï´>r` Am{U Am§Vaamï´>r` ‘hÎd (15)
8) Vm{H©$H$  Am{U {dl²bofUmË‘H$ j‘Vm (10)
9) gm‘mÝ` ‘mZ{gH$ j‘Vm (7)
10) ‘yb ŷV g§»`mË‘H$ j‘Vm (8)
11) {ZU©¶j‘Vm Am{U g‘ñ`m gmoS>dUyH$, g§dmX H$m¡eë` d Am§Vaì¶º$s H$m¡eë`  (5)
12) AmH$bZ, ‘amR>r Am{U B§J«Or ̂ mfm AmH$bZ H$m¡eë ò (50)
13) ‘m{hVr A{YH$ma A{Y{Z¶‘ (5)
14) ‘hmamîQ´> bmoH$godm h¸$  (5)
15) ‘m{hVr d g§àofU V§ÌkmZ  (10)

(1)  ^maVmMm B{Vhmg Am{U ^maVr` amḯ>r` Midi (15)
1) àmMrZ ^maVmMm B{Vhmg (4)
2) ‘Ü¶¶wJrZ  ^maVmMm B{Vhmg (3)
3) AmYw{ZH$ ^maVmMm B{Vhmg (4)
4) ^maVr` amï´>r` Midi (4)

(2)  ‘hmamḯ>, ^maV Am{U OmJ{VH$ ŷJmob (15)
1) OJmMm ^m¡{VH$ ŷJmob (3)
2) OJmMm gm‘m{OH$ ŷJmob (1)
3) OJmMm Am{W©H$ ŷJmob (1)
4) ^maVmMm ^m¡{VH$ ŷJmob (2)
5) ^maVmMm gm‘m{OH$ ŷJmob (1)
6) ^maVmMm Am{W©H$ ŷJmob (2)
7) ‘hmamï´>mMm ^m¡{VH$ ŷJmob (2)
8) ‘hmamï´>mMm gm‘m{OH$ ŷJmob (1)
9) ‘hmamï´>mMm Am{W©H$ ŷJmob (2)

(3)  ‘hmamḯ> Am{U ^maV - ^maVr` amOH$maU Am{U emgZ (15)
1) g§{dYmZ - ^maVmÀ¶m amÁ¶KQ>ZoMm àmW{‘H$ Aä¶mg (3)
2) amOH$s` ì`dñWm (3)
3) n§Mm`Vr amO Am{U ehar emgZ (3)
4) gmd©O{ZH$ YmoaU (3)
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5) ‘mZdr h¸$ g‘ñ`m (3)
* ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005
* ‘hmamîQ´> bmoH$godm h¸$, 2015

(4)  Am{W©H$ Am{U gm‘m{OH$ {dH$mg (15)
1) eml²dV {dH$mg (2)
2) J[a~r (2)
3) g‘mdoe (2)
4) bmoH$g§»`memó (2)
5) gm‘m{OH$ joÌmVrb CnH«$‘ (2)
6) ^maVr` AW©ì`dñWm - gmd©O{ZH$ {dÎm (1)
7) {dXoer ì`mnma (1)
8) ~±qH$J, ‘hmJmB© (1)
9) CÚmoJ (1)
10) eoVr (1)

(5) n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb (10)
1) n[apñW{VH$s (2)
2) O¡d{d{dYVm (2)
3) hdm‘mZ ~Xb (2)

(6) gm‘mÝ` {dkmZ (15)
1) ^m¡{VH$emó (3)
2) agm¶Zemó  (3)
3) àm{Uemó  (2)
4) dZñn{Vemó  (2)
5) H¥$fr / eoVrg§b¾ {dkmZ (2)
6) Amamo½¶emó  (5)
7) {dkmZ Am{U V§ÌkmZ (2)
* ‘m{hVr d g§àofU V§ÌkmZ

(7) Mmby KS>m‘moS>r, amḯ>r` Am{U Am§Vaamḯ>r` ‘hÎd (15)
1) amOH$s¶ KQ>Zm  (2)
2) Am{W©H$ d {dÎmr¶ KQ>Zm (2)
3) d¡km{ZH$ KQ>Zm (2)
4) gm‘m{OH$ d e¡j{UH$ KQ>Zm (2)
5) ^m¡Jmo{bH$, gm§ñH¥${VH$ d gm{hpË¶H$ KQ>Zm (3)
6) Zo‘UwH$m d nwañH$ma$ KQ>Zm (2)
7) gm‘mÝ¶kmZ d H«$sS>m{df¶H$ KQ>Zm (2)
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(8) Vm{H©$H$ VH©$ Am{U {dl²bofUmË‘H$ j‘Vm (10)
1) {Xboë¶m dmŠ`aMZodéZ {ZU©̀ , {ZîH$f© H$mT>Uo
2) {dYmZo Am{U ẁ{º$dmX, {dYmZo Am{U J¥{hVHo$, {dYmZo Am{U {ZîH$f©
3) n[apñWVr Am{U à{VgmX, n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo
4) {dYmZ Am{U H¥$VrMm ‘mJ©, à{VnmXZ Am{U H$maU, {dYmZmÀ`m gË`VoMr nS>VmiUr
5) ~¡R>H$, H«$‘ d ‘m§S>Ur ì`dñWm, ‘mZm§H$Z MmMUr, VwbZm
6) ZmVog§~§Y
7) ‘erZ BZnwQ> Am{U {MÝho, J{UVr` VH©$
8) ñWmZ {ZpíMVr MmMUr, {Xem{ZX}e
9) {dl²bofU, {ZU©̀  KoUo, g‘ñ`m gmoS>dUo
10) Hy$Q> ‘m{hVrdarb àíZ

(9) gm‘mÝ` ‘mZ{gH$ j‘Vm (7)
1) H«$‘ Am{U ‘m{bH$m 1
2) H«$‘ Am{U ‘m{bH$m 2
3) gm§Ho${VH$ ^mfm/ H$moqS>J-{S>H$moqS>J
4) gmå¶, VwbZm, dJuH$aU
5) J{UVr` / A§H$J{UVr` {H«$`m
6) AmH¥$Ë`m§da àl²Z 1
7) AmH¥$Ë`m§da àl²Z 2

(10) ‘yb ŷV g§»`mË‘H$ j‘Vm (8)
1) A§H$J{UVr¶  H$m¡eë¶ - Xem§e AnyUmªH$,  ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma Am{U gabrH$aU

g§»`màUmbr - bgm{d, ‘gm{d, KmVm§H$, dJ©‘yi Am{U KZ‘yi
2) Q> o̧$dmar, ^mJrXmar Am{U Jw§VdUyH$, JwUmoÎma Am{U à‘mU, gmIir {Z`‘
3) doi Am{U A§Va, aoëdoJmS>çm, ~moQ> Am{U Obàdmh
4) {dH«$s Am{U IaoXr, gdbV, Z’$m Am{U VmoQ>m, gai ì`mO Am{U MH«$dmT> ì`mO
5) doi Am{U H$m‘, nmB©n>, KS>çmi, H°$b|S>a, d¶mdarb  àíZ
6) g§̂ mì`Vm, H«$‘M¶, gamgar
7) ŷ{‘Vr - joÌ’$i, KZ’$i> Am{U n[a{‘Vr
8) AmboI, Vºo$, S>oQ>m g{’${gEÝgr

(11) {ZU©¶j‘Vm Am{U g‘ñ`m gmoS>dUyH$,  g§dmX H$m¡eë`- Am§Vaì¶º$s H$m¡eë` (5)
1) n[apñWVr hmVmiUo
2) àemgH$s` j‘Vm
3) gm‘m{OH$ Ym{‘©H$ g‘ñ`m
4) «̂ï>mMma, gMmoQ>r, Z¡{VH$Vm
5) ì`dñWmnH$s` H$m¡eë ò
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(12) CVmao,  ‘amR>r Am{U B§J«Or ^mfm AmH$bZ H$m¡eë`(40)
1) Eo{Vhm{gH$ KQ>Zm
2) gmYZg§nÎmr d n¶m©daUr¶ ~m~r
3) amOH$s¶ joÌ
4) Am{W©H$ d gm‘m{OH$ {dH$mg
5) {dkmZ d V§ÌkmZ joÌ
6) H$bm, g{hË¶ d gm§ñH¥${VH$ joÌ
7) ‘amR>r ^mfm AmH$bZ H$m¡eë`
8) B§J«Or ^mfm AmH$bZ H$m¡eë`

(13) ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005 (5)
1) H$m¶ÚmMr CËH«$m§Vr, gwYmaUm d BVa ~m~r
2) H$m¶ÚmVrb ‘hÎdmMr H$b‘o
3) H$m¶Úmer g§~§{YV ¶§ÌUm d A{YH$mar
4) H$m¶ÚmZwgmaMr H$madmB© d {ejoMr VaVyX
5) H$m¶ÚmVrb ÌwQ>r d XþéñË¶m, Anrb

(14) ‘hmamîQ́> bmoH$godm h¸$, 2015 (5)
1) H$m¶ÚmMr CËH«$m§Vr, gwYmaUm d BVa ~m~r
2) H$m¶ÚmVrb ‘hÎdmMr H$b‘o
3) H$m¶Úmer g§~§{YV ¶§ÌUm d A{YH$mar
4) H$m¶ÚmZwgmaMr H$madmB© d {ejoMr VaVyX
5) H$m¶ÚmVrb ÌwQ>r d XþéñË¶m, Anrb

(15) ‘m{hVr d g§àofU V§ÌkmZ (10)
1) g§JUH$ V§ÌkmZ - AmYw{ZH$ g‘mOmVrc g§JUH$mMr ŷ{‘H$m, doJdoJù¶m joÌmVrc OrdZmV g§JUH$mMm dmna
2) H$å¶w{ZHo$eZ V§ÌkmZ - S>mQ>m H$å¶w{ZHo$eZ, ZoQ>d{Hª$J Am{U do~ Q>o³Zm°cm°Or
3) gm¶~a JwÝho d Ë¶mg à{V~§Y
4) emgZmMo Am¶Q>r H$m¶©H«$‘ - {‘S>r¶m c°~ E{e¶m, {dÚm dm{hZr, kmZ dm{hZr, gm‘y{hH$ ‘m{hVr H|$Ð BË¶mXr
5) ‘m{hVr V§ÌkmZ CÚmoJ - ‘m{hVr V§ÌkmZ CÚmoJmVrc ‘yc ŷV àíZ d Ë¶mMo ^{dVì¶, ZdrZ CÚmoJ åhUyZ ‘m{hVr

V§ÌkmZmMm {Za{Zamù¶m godm gw{dYm§Mr ‘m{hVr {‘iÊ¶mgmR>r hmoUmam Cn¶moJ, ̂ maVmVrc ‘m{hVr V§ÌkmZ CÚmoJmMr dmT>
d Ë¶mMm XOm©.
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‘hmamḯ> ZmJar godm amOn{ÌV nyd© narjm 2023

 ‘hmamḯ> AamOn{ÌV godm (JQ> ~ d JQ> H$) nyd© narjm 2023

‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$)2023
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‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$) 2023

nona H«$‘m§H$ - 1 : ‘amR>r d B§J«Or

1) ‘amR>r ^mfm (50)

(1) gd©gm_mÝ` eãXg§J«h /15
(2) dmŠ`aMZm/13
(3) ì`mH$aU/12
(4) åhUr d dmH²$àMma (AW© d Cn`moJ)/5
(5) CVmè`mdarc àíZmoÎmao/5

(2) B§J«Or ^mfm /50
(6) CommonVocabualry / 10

(7) SentenceStructure / 20

(8) Grammar /10

(9) Use of Idioms and Phrases / 5

(10) Comprehension / 5

nona H«$‘m§H$ - 2 : gm‘mÝ¶ AÜ¶¶Z d ~wpÜX‘mnZ MmMUr
1) _hmamï´>mMm ̂ yJmoc /10
2) n¶m©daU /5
3) ^maVr¶ amÁ¶KQ>Zm/10
4) ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005 /5
5) ‘hmamîQ´> bmoH$godm h¸$, 2015 /5
6) g‘J«bú¶r AW©emó /5
7) ^maVr¶ AW©ì¶dñWm/10
8) gm‘mÝ¶ {dkmZ d V§ÌkmZ /10
9)$ ‘m{hVr d g§àofU V§ÌkmZ /5
10) Mmcy KS>m‘moS>r - OmJ{VH$ VgoM ‘hmamï´>mgh ̂ maVmVrc /15
11) gm‘mÝ¶ ~w{Õ‘mnZ d AmH$bZ /10
12) A§H$J{UV Am{U gm§p»¶H$s /10
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{XdmUr Ý¶m¶mYre H${Zð> ñVa d Ý¶m¶X§S>m{YH$mar àW‘ dJ© narjm -2023

Civil judge (Junior Div) & Judicial Magistrate (1st Class)

Preliminary Examination

* Standard : Suitable to the post

* Maximum Marks : 100

* Medium : English

* Duration : Two Hours

* Nature of the paper : Objective type ( multiple choice question)

nyd©narjoMm Aä¶mgH«$‘
1) H$moS> Am°’$ {H«${‘Zc àmo{gOa
2) {gpìhc àmo{gOa H$moS>
3) EpìhS>Ýg A°³Q>
4) Q´>mÝg’$a Am°’$ àm°nQ>u A°³Q>
5) ñno{g{’$H$ [a{c’$ A°³Q>
6) ‘hmamï´> a|Q> H§$Q´>moc A°³Q>
7) {c{‘Q>oeZ A°³Q>
8) H$m°pÝñQ>Q>çweZ Am°’$ B§{S>¶m
9) B§{S>¶Z {nZc H$moS>
10) cm° Am°’$ H$m°ÝQ´>°³Q>, goc Am°’$ JwS²>g A°³Q> A°ÝS> nmQ>©Za{en A°³Q>

* Syllabus for Competitive Examination to the post of recruitment for Civil judge ( junior

Division ) & Judicial Magistrate ( First Class) ( Preliminary) Examination under judi-

cial Service of the Government of Maharashtra .

1) Code of Criminal Procedure

2) Civil Procedure Code

3) Evidence Act

4) Transfer of property Act

5) Specific Relief Act

6) Maharashtra Rent Control Act

7) Limitation Act

8) Constitution of India

9) Indian penal Code

10) Law of Contracts, Sale of Goods Act & Partnership
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‘hmamîQ́> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h

gm‘mÝ` {dkmZ

gm‘mÝ` {dkmZ {df¶mMo KQ>H$, CnKQ>H$ Am{U ‘hÎdmMo ‘wÔo

1) ^m¡{VH$emó ({’${O³g)

67) JVremó, CîUVm, bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar / Bbo³Q´>mo‘°¾o{Q>H$ ñnoŠQ´‘
68) {dÚwVemó, Mw§~H$Ëd, AUw{dkmZ d {H$aUmoËgm[aVm
69) IJmobemó d A§Vami {dkmZ- Xÿag§doXZ, hdmB© d S´>moZ N>m¶m{MÌU, ^m¡Jmo{bH$ ‘m{hVr àUmbr d Ë¶mMo Cn¶moOZ.

‘m{hVr d g§àofU V§ÌkmZ /Am¶grQ>r - BboŠQ´m°{ZŠg, H$å ẁ{ZHo$eZ Am{U g§JUH$ V§ÌkmZ, gmoeb ‘r{S>`m

2) agm¶Zemó (Ho${‘ñQ́>r)

70) AmdV© gmaUr - ‘ybÐì¶o, YmVy Am{U AYmVy
71) amgm`{ZH$ A{^{H«$`m - Amåb, jma, g§̀ wJo
72) g|{Ð` agm`Zemó - hm`S´moH$m~©Ýg, H$sQ>H$ZmeHo$, B§YZ, dm ỳ, IVo

3) àm{Uemó (Pycm°Or)

73) àmÊ`m§Mo dJuH$aU Am{U CXmhaUo, àmUr eara{dkmZ
74) Cn ẁº$ Am{U hmZrH$maH$ àmUr

4) dZñn{Vemó (~m°Q>Zr)

75) dZñnVtMo dJuH$aU Am{U CXmhaUo, dZññnVtMo earaemó Am{U eara{dkmZ
76) Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr, dZemó

5)  eoVr{dkmZ

77) A°J«moBH$mobm°Or - g|{Ð` eoVr, {nHo$ Am{U g§H$[aV OmVr, nmUr ì`dñWmnZ
78) H¥$fr{dkmZ  newnmbZ d Xw½Yì`dgm`, Hw$ w̧$Q>nmbZ, ‘Ëñ¶ì¶dgm¶, ’$bmoËnmXZ

6) Amamo½¶emó (hm¶OrZ)

79) noer{dkmZ d M¶mnM¶Z
80) ‘mZdr eara àUmbr - MoVmg§ñWm, nMZ, ídgZ, é{Yam{^gaU, ñZm¶y d AñWr, A§V…òmdr, CËgO©Z g§ñWm
81) Amamo½` Am{U amoJ - amoJàgma d H$maH$ KQ>H$, amoJ{ZXmZ, CnMma Am{U Amamo½¶ H$m ©̀H«$‘
82) Am¡fYo Am{U bgr
83) AÞ Am{U nmofU - ‘°H«$mo, gyú‘, I{ZOo, OrdZgÎdo

7) {dkmZ Am{U V§ÌkmZ

84) ^maVmVrb {dkmZ Am{U V§ÌkmZmVrb àJVr, g§ñWm, d¡km{ZH$
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(1) JVremó, CîUVm, àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar
1) JVremó - EH$Ho$, CnH$aUo, doJ, g§doJ, ~b, eº$s, D$Om©
2) JVremó - Kf©U, {dî¶‘§XVm, Ðdàdmh
3) CîUVm, erVH$aU, ~mînr^dZ
4) ÜdZr, AëQ́>mgmo{Z³g, gmoZma
5) àH$me,
6) {dÚwVMw§~H$s¶ bhar / Bbo³Q´>mo‘°¾o{Q>H$ ñnoŠQ´>‘

1) JVremó - EH$Ho$, CnH$aUo, doJ, g§doJ, ~b, eº$s, D$Om©
1) SI EH$H$mV KZ’$i ho ............. Ago Xe©{dbo Amho.

1) {bQ>a (L) 2) (‘rQ>a)3 qH$dm m3 3) XmoÝhr (1) Am{U (2) 4) darbn¡H$s EH$hr Zmhr
1) The SI unit of volume is expressedas__

1) Litre (L) 2) (Meter)3 or m3 3) Both (1 and (2) 4) None of the above

2) dñVw‘mZ A{^gaUÎdmMo (diffusivity) EH$H$ .......... Amho.
1) cm2/sec 2) kg/m.sec 3) N-m/sec2 4) darb gd©

2) The unit of mass diffusivity is ..........

1) cm2/sec 2) kg/m.sec 3) N-m/sec2 4) All of the above

3) ........ ho KZ H$moZmMo (solid angle) EH$H$ Amho.
1) ao{S>`Z 2) ñQ>oao{S>`Z 3) {S>J«r 4) darbn¡H$s H$mhrhr Zmhr

3) ....... is the unit of solid angle.

1) Radian 2) Steradian 3) Degrees 4) None of the above

4) dmè`mMm doJ ........ ¶m EH$H$mÛmao ‘moObm OmD$ eH$Vmo.
A) knots ~) kmph H$) mps S>) mph

darbn¡H$s H$moUVo EH$H$ ~amo~a Amho/AmhoV?
1) A ’$º$ 2) ~ ’$º$ 3) A, ~ Am{U H$ ’$º$ 4) darb gd©

4) Wind speed may be noted with .....

a) knots b) kmph c) mps d) mph

Which of the above unit is/are correct ?

1) a only 2) b only 3) a, b and c only 4) All of the above

5) eoVrÀ`m H$m‘mgmR>r ndZM³³`m§À`m H$m‘mgmR>r .......... Mm {H$‘mZ dmè`mMm doJ Cn ẁº$ ‘mZbm OmVmo.
1) 5 {H$‘r/Vmg 2) 10 {H$‘r/Vmg 3) 15 {H$‘r/Vmg 4) 20 {H$‘r/Vmg

5) The minimum wind speed of .......... is considered to be useful for working of windmills for

agricultural purpose.

1) 5 km/hr 2) 10 km/hr 3) 15 km/hr 4) 20 km/hr
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6) H$moUË`mhr jUr dmè`m‘Ü ò CnbãY Agboë`m D$O}Mo à‘mU dmè`mÀ`m doJmÀ`m ...... À`m à‘mUmV AgVo.
1) XmoZMo dJ©‘wimÀ¶m 2) VrZMo dJ©‘wimÀ¶m 3) dJm©À¶m 4) KZmÀ¶m

6) The amount of energy available in the wind at any instant is proportional to ....... of the wind speed.

1) Square root power of two 2) Square root power of three

3) Square power 4) Cube power

7) CËnm{XV ndZ D$Om© ............ À`m à‘mUmV AgVo.
1) dmè`mÀ`m doJmMm dJ© 2) dmè`mÀ`m doJmMo KZ‘yi
3) dmè`mÀ`m doJmMm KZ 4) dmè`mÀ`m doJmMm Mm¡ag am°H$

7) Wind power produced is proportional to ............

1) square of wind velocity 2) cube root of wind velocity

3) cube of wind velocity 4) square roct of wind velocity

8) g§M{`V W‘©b Am{U `m§{ÌH$ D$Om© .......... ¶m gyÌmÛmao ì¶º$ hmoD$ eH$Vo, OoWo - PE = pñWVrO D$Om©, KE =
J{VO D$Om© Am{U IE = A§VJ©V D$Om©.
1) PE+KE-IE 2) PE+KE+IE 3) PE-KE+IE 4) darbn¡H$s H$mhrhr Zmhr

8) Stored thermal and mechanical energy is given by relation where, PE = Potential Energy, KE =

Kinetic Energy and IE = Internal Energy.

1) PE+KE-IE 2) PE+KE+IE 3) PE-KE+IE 4) None of the above

9) Z°Zmo ’${Q©>bm`Pg© ho ........... Z°Zmo n[a‘mUm§Mo nmofH$Ðì¶ dmhH$ AmhoV.
1) 10-20 nm 2) 30-40 nm 3) 50-60 nm 4) 70-80 nm

9) Nanofertilizers are nutrient carriers of nano dimensions ranging from -

1) 10-20nm 2) 30-40nm 3) 50-60nm 4) 70-80nm

10) eº$s P(av) = ......... ¶mgyÌmÛmao ì¶º$ Ho$br OmVo.
(T = doi Á`m‘Ü ò W D$Om© dmhVo Ago J¥hrV Yê$Z)
1) W × T 2) W/T 3) W × eT 4) W/eT

10) Average power is given by, P(av) =

(Assuming T = time in which energy W flows)

1) W × T 2) W/T 3) W × eT 4) W/eT

11) A°{Z‘mo‘rQ>a ‘moOÊ`mgmR>r dmnabo OmVo ...........
1) àdmhmMm ngmam 2) n§nm§‘Yrb {S>ñMmO©
3) n§n hoS> 4) darbn¡H$s H$mhrhr Zmhr

11)  Anemometer is used to measure ...........

1) Fan flow 2) Discharge in pumps

3) Pump head 4) None of the above

12) XmoZ dñVy A Am{U B ¶m§Mo dñVw‘mZ AZwH«$‘o m1 Am{U m2 Amho. Ý¶yQ>ZÀ¶m JVr{df¶H$ {Vgè¶m {Z¶‘mZwgma, A dñVy
B dñVyda Oo ~b à¶wº$ H$aVo Vo ........
1) g‘mZ Am{U {déÕ {XeoZo AgVo. 2) Ag‘mZ Am{U EH$mM {XeoZo AgVo.
3) g‘mZ Am{U EH$mM {XeoZo AgVo. 4) Ag‘mZ Am{U {déÕ {XeoZo AgVo.
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12) Two objects, A and B have masses m
1
 and m

2
, respectively. According to Newton’s third law of

motion, the force exerted by A on B is :

1) equal and in opposite direction 2) different and in the same direction

3) equal and in the same direction 4) different and in opposite direction

13) g§doJ n[adV©ZmMm Xa .........
1) à¶wº$ ~bmeB© g‘mZwnmVr AgVmo. 2) à¶wº$ ~bmeB© ì¶ñVà‘mUmV AgVmo.
3) à¶wº$ ~bmda Adb§~yZ ZgVmo. 4) darbn¡H$s EH$hr Zmhr

13) The rate of change of momentum is :

1) directly proportional to the applied force

2) inversely proportional to the applied force

3) does not depend on the applied force

 4) None of the above

14) XmoZ dñVy§Mr nañna {H«$¶m hmoV AgVmZm Ë¶m§À¶mda Oa H$mhr ~mø ~b H$m¶©aV Zgob, Va Ë¶mMm EHy$U g§doJ,
1) dñVy§À¶m gwê$dmVrÀ¶m doJmda Adb§~yZ AgVmo 2) ~XbV Zmhr
3) dmT>Vmo 4) H$‘r hmoVmo

14) The two objects are interacting without external force, their total momentum

1) depends on the initial velocities of the objects 2) does not change

3) increases 4) decreases

15) ''aZm°’$ [aìha ßbm§Q'' >‘Ü ò {Z‘m©U hmoUmar drO ........... da Adb§~yZ AgVo.
1) ZXrMr bm§~r 2) ZXrMr Imobr
3) ZXrVrb nmÊ`mMo à‘mU 4) àdmhmMo à‘mU

15) In runoff river plant, the power generated depends on ........

1) the length of the river 2) the depth of the river.

3) the quantity of water in the river 4) the quantity of flow.

16) Á`m XamZo gm¡a D$Om© dmVmdaUmÀ`m erf©ñWmZr òVo Ë`mbm åhUVmV.
1) {S>â ỳO ao{S>EeZ 2) gm¡a pñWam§H$ 3) ñH°$Q>[a¨J 4) ~r‘ ao{S>EeZ

16) The rate at which solar energy arrives at the top of the atmosphere is called ......

1) Diffuse radiation 2) Solar constant 3) Scattering 4) Beam radiation

17) `mo½` {dYmZo {ZdS>m.
A) à{VamoYH$ eº$s doJmÀ`m n{hë`m eº$sÀ`m WoQ> à‘mUmV AgVo
~) AZwdmXmË‘H$ JVr hr eº$sMm n[aUm‘ Amho
H$) H$R>moa earamÀ`m àË òH$ H$UmMm AZwdmXmË‘H$ JVr‘Ü ò g‘mZ aofr` doJ AgVmo
S>) H$R>moa earamÀ`m H$Um§Mo aofr` doJ ho EH$m {ZpíMV Ajm^modVr {’$aV AgVmZm gmaIo ZgVmV.
`mo½` n`m©̀  {ZdS>m:
1) (A) Am{U (~) ’$º$ 2) (A), (~) Am{U (H$) ’$º$
3) (~), (H$) Am{U (S>) ’$º$ 4) (A), (~), (H$) Am{U (S>)
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17) Select the correct statements.

a) Resistive force is directly proportional to the first power of velocity

b) Translational motion is the result of a force

c) Each particle of a rigid body has the same linear velocity in translational motion

d) Linear velocities of the particles of the rigid body are not the same during rotational motion

around a fixed axis passing through it

Select the correct option :

1) (a) and (b) only 2) (a), (b) and (c) only 3) (b), (c) and (d) only 4) (a), (b), (c) and (d)

18) Imbrbn¡H$s H$moUVo KQ>H$ ndZ D$Om© n[adV©H$mVyZ AmCQ>nwQ> R>adVmV?
A) dmè`mMm doJ
~) amoQ>aZo ñdrßQ> Ho$boë`m dmè`mMm H«$m°g-goŠeZ
H$) gỳ ©àH$memMr Vrd«Vm
S>) amoQ>a, Q´mÝg{‘eZ {gñQ>‘ Am{U OZaoQ>aMr EHy$U ê$nm§VaU H$m ©̀j‘Vm
`mo½` n`m©̀  {ZdS>m:
1) (A) ’$º$ 2) (A), (~) Am{U (S>) ’$º$
3) (H$) ’$º$ 4) (A), (~) Am{U (H$>) ’$º$

18) Which of the following factors determine output from wind energy converter ?

a) the wind speed

b) the cross-section of wind swept by rotor

c) the intensity of sun light

d) the overall conversion efficiency of the rotor, transmission system and generator

Select the correct option :

1) (a) only 2) (a), (b) and (d) only 3) (c) only 4) (a), (b) and (c) only

19) àË¶oH$ A{¾eómVyZ Jmoir PmS>br Va Ë¶m A{¾eómda ~°bopñQ>H$ {g¾oMa AgVmV. darb dm³¶mÀ¶m AZwf§JmZo Imbrb
H$moUVo {dYmZ gË¶ Amho ?
A) ~§XþH$sMo ~°aob, ’$m¶[a¨J {nZ, ’$m¶[a¨J M|~a, BOo³Q>a Am{U BVa ̂ mJ Oo ~§XþH$sMr Jmoir d H$maQ´>oOÀ¶m g§nH$m©V ¶oVmV

Voìhm Aem àH$maÀ¶m IwUm gmoSy>Z OmVmV.
~) ¶m IwUm A{ÛVr¶ AgVmV.
H$) nwZéËnm{XV hmoD$ eH$Umè¶m ¶m IwUm PmS>boë¶m àË¶oH$ Jmoirda Am{U H$mS>Vwgmda AgVmV.
S>) B§{Q>J«oQ>oS> ~°bopñQ>H$ Am`S|>{Q>{’$Ho$eZ {gñQ>‘ hr EH$ {deof g§JUH$s¶ hmS>©doAa-gm°âQ>doAa àUmbr ~°bopñQ>H$

{g¾oMaMr VwbZm H$aÊ¶mgmR>r dmnaVmV.
n¶m©¶r CÎmao …
1) ’$º$ A, ~ Am{U H$ 2) ’$º$ ~, H$ Am{U S> 3) ’$º$ A, H$ Am{U S> 4) darbn¡H$s gd©

19) Every fired firearm has Ballistic Signature. Choose the correct sentences.

a) The barrel, firing pin, firing chamber, ejector and other parts of the gun in contact with the

bullet and cartridge leaves these marks.

b) These marks are unique in nature.

c) These are reproduciable marks on each bullet and case when it fires.

d) Integrated Ballistic Identification System is specialised computer hardware-software

combination designed to compare these Ballistic Signature.

Answer Options :

1) Only a, b and c 2) Only b, c and d 3) Only a,c and d 4) All of the above
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20) XmoZ dñVy§Mo dñVw‘mZ AZwH«$‘o 200 gm Am{U 300 gm AgyZ Vo EH$mM aofoda d EH$mM {XeoZo 8 m/s Am{U 4 m/

s doJmZo OmV AmhoV. Ë¶m§Mr Q>¸$a hmoVo d Q>¸$a Pmë¶mda n{hbr dñVy 5 m/s doJmZo J{V‘mZ hmoVo. Q>¸$a Pmë¶mda Xþgè¶m
dñVyMm doJ H$mT>m …
1) 0.6 m/s 2) 60 m/s 3) 6 m/s 4) darbn¡H$s EH$hr Zmhr

20) Two objects having masses 200 gm and 300 gm, are moving along the same line in the same

direction with velocities 8 m/s and 4 m/s, respectively. After the collision of the two objects, the

first object moves with a velocity of 5 m/s. After collision, the velocity of the other object is :

1) 0-6 m/s 2) 60 m/s 3) 6m/s 4) None of the above

21) EH$m ~§XþH$sMo dñVy‘mZ 6 kg AgyZ Ë¶mVyZ Jmoir PmS>ë¶mZ§Va ~§XÿH$ 170 cm/s doJmZo à{Vjo{nV hmoVo, Va ~§XþH$sMm
g§doJ H$mT>m …
1) 10.2 kg m/s 2) 1.02 kg m/s 3) 1020 kg m/s 4) 102 kg m/s

21) The mass of a gun is 6 kg and it recoils with a speed 170 cm/s. What is the momentum of the gun?

1) 10.2 kg m/s 2) 1.02 kg m/s 3) 1020 kg m/s 4) 102 kg m/s

22) EH$m ‘mUgmbm 25 {H$bmo dOZmMr ~°J 5 ‘rQ>a C§Mrda ZoÊ¶mg 30 goH§$X bmJVmV, Va Ë¶m ‘mUgmZo dmnabobr eº$s
{H$Vr?
1) 1225 W 2) 40.83 W 3) 1.64 W 4) 245 W

22) A person carrying a bag of total mass 25 kg climbs upto a height 5 meters in 30 seconds. How

much power the man needs to carry the bag?

1) 1225 W 2) 40.83 W 3) 1.64 W 4) 245 W

2) JVremó - Kf©U, n¥ð>VmU, {dî¶‘§XVm, Ðdàdmh
1) {Zanoj {dî¶‘§XVoMo SI EH$H$ N.s/m2 Ago Amho. `m ẁ{ZQ>~Ôb Imbrbn¡H$s H$moUVo gË` Amho?

1) 1 N.s/m2 = 10 poise 2) 10 N.s/m?.= 1 poise

3) 1N.s/m? = 10 stokes 4) 10 N.s/m? = 1 stoke

1) SI unit of absolute viscosity is N.s/m2. Which of the following is true about this unit ?

1) 1 N.s/m2 = 10 poise 2) 10 N.s/m?.= 1 poise

3) 1N.s/m? = 10 stokes 4) 10 N.s/m? = 1 stoke

2) Imbrbn¡H$s H$moUË`m ‘mnZ §̀Ìm‘Ü ò ~Zm£brMo g‘rH$aU dmnabo OmVo?
1) ìh|À ẁ[a‘rQ>a 2) Amo[a{’$g‘rQ>a 3) {nQ>moQ> Q>çy~ 4) darb gd©

2) In which of the following measuring devices is Bernouili’s equation used ?

1) Venturimeter 2) Orificemeter 3) Pitot tube 4) All of the above

3) nmœ© VmU Am{U aoIr` VmU `m§Mo JwUmoÎma ........... åhUyZ AmoiIbo OmVo.
1) ‘m°S>çwbg Am°’$ BbmpñQ>{gQ>r 2) ‘m°S>çwbg Am°’$ [a{O{S>Q>r
3) nm°gm°ZMo JwUmoÎma 4) bd{MH$ ‘`m©Xm

3) The ratio of lateral strain to linear strain is known as ...........

1) Modulus of elasticity 2) Modulus of rigidity

3) Poisson’s ratio 4) Elastic limit
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4) Imbrbn¡H$s H$moUVo n¥ð>^mJ VUmdmÀ`m KQ>ZoMo CXmhaU Amho?
1) nmdgmMo W|~ 2) PmS>mVrb agmMm CX`
3) {b{¹$S> OoQ²gMo ~«oH$An 4) darb gd©

4) Which of the following is an example of phenomenon of surface tension ?

1) Raindrops 2) Rise of sap in a tree

3) Break up of liquid jets 4) All ofthe above

5) Ooìhm EImXo eara ÐdnXmWm©V A§eV… qH$dm nyU©nUo ~wS>dbo OmVo, Voìhm CÜd©gaUmMm Omoa ........ À¶m g‘mZ AgVmo.
1) earamMo dOZ
2) earamÛmao {dñWm{nV ÐdnXmWm©Mo dOZ
3) earamÀ`m AmH$ma‘mZmÀ`m g‘mZ ÐdmÀ`m KZ’$imMo dOZ
4) darbn¡H$s H$mhrhr Zmhr

5) When a body is immersed in a fluid, partially or completely, the force of buoyancy is equal to -

1) the weight of the body.

2) the weight of the fluid displaced by the body.

3) the weight of the volume of the fluid equal to the volume of body.

4) None of the above

6) CÜd©gmaUmMr pñWVr ........ `mda Adb§~yZ AgVo.
1) {dñWm{nV ÐdmMo dOZ 2) Ðd Á`m Xm~mZo {dñWm{nV hmoVmo
3) ÐdmMr {dî¶‘§XVm 4) ÐdmMr g§Hw${MVVm

6) The buoyancy depends upon the .........

1) Weight of the liquid displaced 2) Pressure with which the liquid is displaced

3) Viscosity of the liquid 4) Compressibility of the liquid

7) Ðd àdmh pñWVrV gm‘mÝ` àdoJ VoìhmM ApñVËdmV AgVmo, Ooìhm .........
1) àdmh ApñWa Amho. 2) àdmh {Û{‘Vr` Amho
3) àdmh gai Am{U g‘m§Va AmhoV. 4) àdmh dH«$ AmhoV.

7) Normal acceleration in fluid flow situation exists only when

1) the flow is unsteady. 2) the flow is two-dimensional.

3) the streamlines are straight and parallel. 4) the streamlines are curved.

8) H$moUË¶mhr dmhZmMm doJ OmUyZ KoÊ¶mgmR>r .......... dmnabr OmVmV.
1) ES>r H$a§Q> (MH«$mH$ma àdmh) 2) {dÚwV àdmh
3) M§~wH$s¶ àoaUm 4) ¶mn¡H$s Zmhr

8) ............ are used to know the speed of any vehicle.

1) Eddy currents 2) Electric currents

3) Magnetic induction 4) None of these

9) Ooìhm àdmh b°{‘Zma AgVmo Voìhm JmobmH$ma nmB©n‘Ü ò OmñVrV OmñV doJ ....... ¶oWo AgVmo.
1) nmB©nMm daMm ^mJ 2) nmB©nMm Vi 3) nmB©nMo H|$Ð 4) darbn¡H$s H$mhrhr Zmhr

9) The maximum velocity in a circular pipe when the flow is laminar, occurs at ........

1) the top of the pipe 2) the bottom of the pipe

3) the centre of the pipe 4) None of the above
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10) Kf©Um‘wio hmoUmao ZwH$gmZ ........ Ûmao H$‘r H$aVm òVo.
A) Kf©U{da{hV ZwH$gmZr BV³¶m EH$H$mZo H§$S>am§Mo (tendons) AmoìhaQ>oÝeqZJ H$aUo
~) VwiB©À`m XmoÝhr Q>moH$m§nmgyZ H§$S>am O°H$ H$aUo.
{àñQ´>og g§X^m©Vrb Kf©U ZwH$gmZ g§X^m©V `mo½` {dYmZ {ZdS>m.
n¶m©¶r CÎma …
1) A ~amo~a Amho; ~ MwH$sMo Amho 2) A MwH$sMo Amho; ~ ~amo~a Amho
3) XmoÝhr ~amo~a AmhoV 4) XmoÝhr MwH$sMo AmhoV

10) Friction losses can be reduced by .........

a) Overtensioning the tendons by an amount equal to the maximum frictional losses

b) Jacking the tendons from both ends of the beam.

Pick up the correct statement with respect to frictional losses in prestress.

Answer Options :

1) a is correct; b is incorrect 2) a is incorrect; b is correct

3) Both are correct 4) Both are incorrect

11) gd© Z¡g{J©H$ à{H«$`m ............ nma nmS>ë`m OmVmV.
1) ‘`m©{XV J«o{S> §̀Q>gh 2) Agr‘ hiyhiy
3) OoUoH$ê$Z CÎmrU© Pmbobr gd© amÁ ò g‘Vmob pñWVrV AgVrb 4) darb gd©

11) All natural processes are carried out ........

1) with finite gradient 2) infinitely slowly

3) so that all states passed are in equilibrium 4) All of the above

12) Imbrbn¡H$s H$moUVr CbQ> H$aVm òUmar AmXe© à{H«$`m Agy eH$V Zmhr?
1) Ðdm§Mo g§jonU Am{U CH$iUo 2) Kf©U{da{hV A°{S>~°{Q>H$ {dñVma
3) Kf©Ua{hV g‘Vmnr` {dñVma 4) XmoZ Ðdm§Mo {‘lU

12) Which of the following cannot be the ideal reversible process ?

1) Condensation and boiling of liquids 2) Frictionless adiabatic expansion

3) Frictionless isothermal expansion 4) Mixing of two fluids

13) Imbrbn¡H$s H$moUË`m H$maUm‘wio gr‘m ñVa ApñVËdmV Amho?
1) n¥ð>^mJmdarb VmU 2) JwéËdmH$f©U à^md
3) ÐdnXmWm©Mr {dî¶‘§XVm/ {MH$Q>nUm 4) darbn¡H$s H$moUVohr Zmhr

13) On account of which of the following does the boundary layer exist ?

1) Surface tension 2) Gravitational effect

3) Viscosity of fluid 4) None of the above

14) H$m¶Zo‘°{Q>H$ {dî¶‘§XVm .......... Amho.
1) S>m`Z°{‘H$ {dî¶‘§XVm Am{U dñVw‘mZ KZVoMo JwUmoÎma
2) ÐdmÀ`m dñVw‘mZ KZVoMo S>m`Z°{‘H$ pìhñH$mo{gQ>rer JwUmoÎma
3) S>m`Z°{‘H$ {dî¶‘§XVm Am{U ÐdmÀ`m dñVw‘mZ KZVoMm JwUmH$ma
4) S>m`Z°{‘H$ {dî¶‘§XVm Am{U ÐdmÀ`m dñVw‘mZmMm JwUmH$ma
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14) The kinematic viscosity is the ..........

1) Ratio of dynamic viscosity to the mass density

2) Ratio of mass density of the liquid to the dynamic viscosity

3) Product of dynamic viscosity and mass density of the liquid

4) Product of dynamic viscosity and mass of the liquid

15) H|$ÐmngmaH$ n§nmMo (centrifugal pump) hoS> ............ AgVo, OoWo N hm doJ Amho.
1) N À`m WoQ> à‘mUmV 2) N À`m ì`ñV à‘mUmV
3) N2 À`m WoQ> à‘mUmV 4) N2 À`m ì`ñV à‘mUmV

15) Head of centrifugal pump is ............. where N is speed.

1) Directly proportional to N 2) Inversely proportional to N

3) Directly proportional to N2 4) Inversely proportional to N2

16) g|Q´râ ỳJb n§n‘Ü ò ßboQ²g ........ AgVmV Voìhm OmñVrV OmñV H$m ©̀j‘Vm àmá hmoVo.
1) gai 2) nwT>o dmH$Uo 3) ‘mJo dmH$Uo 4) ao{S>`b

16) In centrifugal pumps maximum efficiency is obtained when plates are .........

1) Straight 2) Bent forward 3) Bent backward 4) Radial

17) XJS>mMo dOZ hdoV 392.40 N Am{U nmÊ`mV 196.20 N Amho. Va XJS>mMo KZ’$i {H$Vr ?
1) 8 × 104 cm3 2) 2×104 cm3 3) 4×104 cm3 4) 5×104 cm3

17) A stone weighs 392.4N in air and 196.2N in water. Compute the volume of stone.

1) 8 × 104 cm3 2) 2×104 cm3 3) 4×104 cm3 4) 5×104 cm3

18) 30 go‘r ì`mgmÀ`m nmB©n‘YyZ nmUr 4 m/s doJmZo dmhVo. 10 go‘r ì`mgmÀ`m Xwgè`m nmB©n‘YyZ Vob dmhV Aho. Oa
¶m XmoÝhr nmB©n‘Yrb S>m`Z°{‘H$ g‘mZVoMr pñWVr g‘mYmZH$maH$ Agob Va Xwgè`m nmB©n‘YyZ dmhUmè`m VobmMm doJ
{H$Vr ? nmUr Am{U VobmMr {dî¶‘§XVm 0.01 nm°B©g Am{U 0.025 nm°B©g Aer Amho. VobmMo {d{eï> JwéËd = 0.8.
1) 75.3 ‘r/go 2) 37.5 ‘r/go 3) 73.5 ‘r/go 4) 57.3 ‘r/go

18) Water is flowing through a pipe of diameter 30 cm at a velocity of 4 m/s. Find the velocity of oil

flowing in another Pipe of diameter 10 cm, if the condition of dynamic similarity is satisfied

between the two pipes. The viscosity of water and oil is given as 0.01 poise and 0.025 poise. The

specific gravity of oil = 0.8.

1) 75.3 m/s 2) 37.5 m/s 3) 73.5 m/s 4) 57.3 m/s

19) Oa nmÊ¶mMr KZVm 1000 kgm-3 Am{U Vm§ã¶mMr KZVm 8.9 × 103 kgm-3 Agob Va Vm§ã¶mMr gmnoj KZVm {H$Vr?
1) 8.9 2) 8.9 kgm-3 3) 8.9 × 106 4) 8.9 × 10-6

19) If density of water is 1000 kgm-3 and density of copper is 8.9 × 103 kgm-3. What is relative density

of copper?

1) 8.9 2) 8.9 kgm-3 3) 8.9 ´ 106 4) 8.9 ´ 10-6

20) XmoZ n¥ð>^mJmÀ¶m ‘Ü¶o Á¶mdoiog d§JUmMm nmVi Wa g§nH$m©V AgVmo, Ë¶mdoiog Ë¶mbm ...... åhUVmV.
1) KZ Kf©U 2) AmdV©Zr Kf©Um 3) d§JU Kf©U 4) AmdaU Kf©U

20) When the two surface in contact have a very thin layer of lubricant in between them, it is

known as......

1) Solid friction 2) Rolling friction 3) Greasy friction 4) Film friction
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3) CîUVm, erVH$aU, ~mînr^dZ
1) earamÀ`m Vmn‘mZmV 50 {S>J«r gopëgAg ~Xb hmoVmo, Va Ho$pëdZ ñHo$bda Vmn‘mZmV hmoUmam hm ~Xb ...... Agob:

1) 70K 2) 20K 3) 50K 4) 323K

1) The change in temperature of body is 50°C, then the change in temperature on kelvin scale will

be:

1) 70K 2) 20K 3) 50K 4) 323K

2) dm°Q>a Hy$qbJ {gñQ>r‘‘Yrb W‘m}ñQ>°Q> ìhm°ëìh hmD$Q> ......... Vmn‘mZmg CKSy> bmJVmo.
1) 90°C 2) 80°C 3) 100°C 4) 70°C

2) Thermostat valve in water cooling system starts to open at ahout .......... temperature.

1) 90°C 2) 80°C 3) 100°C 4) 70°C

3) W‘©br g§doXZerb ’$moQ>moH§$S>ŠQ>a‘wio, Vmn‘mZmVrb ’$aH$ ........ n¶©§V H$aUo e³¶ hmoVo.
1) 10°C 2) 0-1°C 3) 0-01°C 4) 0-001°C

3) Thermally sensitive photoconductors permit to discriminate temperature differences of ..........

1) 10°C 2) 0-1°C 3) 0-01°C 4) 0-001°C

4) .......... {dYmZmV Ago åhQ>bo Amho H$s H$moUË`mhr àUmbrbm W‘m}S>m`Zm{‘H$ MH«$mV H$m ©̀ H$aUo Am{U EH$mM
òmoVgmR>çmVyZ CîUVm hñVm§VaUmÛmao D$Om© àmá H$aVmZm Ë`mÀ`m g^modVmbÀ`m ^mJmV {Zìdi à‘mUmV H$m ©̀ H$aUo
AeŠ` Amho.
1) Ho$pëdZ-ßb±H$ 2) Šbm°{e`g 3) {S>Q>g ~moEëQ>a 4) Šbonoam°Z

4) Statement states that it is impossible for any system to operate in a thermodynamic cycle and

deliver a net amount of work to its surroundings while receiving energy by heat transfer from a

single reservoir.

1) Kelvin-Planck 2) Clausius 3) Dittus Boelter 4) Clapeyron

5) Ý ỳQ>ZÀ`m erVH$aUmÀ`m {Z`‘m‘Ü ò, CîUVm hñVm§VaUmÀ¶m .......... Ûmao {Xbo OmVo.
Q = h A (T

s 
- T

f
), òWo h = CîUVm hñVm§VaU JwUm§H$ Amho.

1) gamgar 2) ñWm{ZH$ 3) OmJ{VH$ 4) darbn¡H$s H$mhrhr Zmhr
5) In Newton’s law of cooling, heat transfer is given by ..........

Q = h A (T
s 
- T

f
). Here h is ......... heat transfer coefficient.

1) average 2) local 3) global 4) None of the above

6) .......... {Z¶‘ gm§JVmo H$s dhZm‘wio CîUVm hñVm§VaUmMo à‘mU H«$m°g-goŠeZb joÌ Am{U Vmn‘mZ J«o{S> §̀Q>À`m
à‘mUmV AgVo.
1) ñQ>r’$Z-~moëQ>P‘ZMm 2) Ý ỳQ>ZMm 3) ’y$[a`aMm 4) {H$M©hm°’$Mm

6) .......... law states that the amount of heat transfer due to conduction is proportional to the cross-

sectional area and temperature gradient.

1) Stefan-Boltzmann’s 2) Newton’s 3) Fourier’s 4) Kirchhoff’s
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7) Imbrbn¡H$s H$moUË¶m nXmWm©Mr Am¡pî‘H$ àdmhH$Vm gdm©V OmñV AgVo?
1) bmHy$S> 2) A°ë¶w{‘{Z¶‘ 3) H$mM 4) Mm§Xr

7) Which of the following substance has the highest thermal conductivity ?

1) Wood 2) Aluminium 3) Glass 4) Silver

8) bm`{g‘rQ>a à`moJ hr ............ À`m WoQ> ‘mnZmMr à‘wI nÕV Amho.
1) O{‘ZrVrb Amobmdm 2) H$mbì`mV àdmh 3) H$mbì`mVrb Jmi 4) ~mînr^dZ

8) Lysimeter experiment is the principal method for direct measurement of ..........

1) Moisture content in soil 2) Flow in canal

3) Canal siltation 4) Evapotranspiration

9) Ooìhm nmUr H«$m§{VH$ Vmn‘mZq~XyÀ`m da pñWa Xm~mZo Ja‘ Ho$bo OmVo, Voìhm .......
1) Vo Ðd + ~mîn XmoZ-’o$O {‘lU ~ZdVo 2) Vo H$moaS>o g§V¥á dm’$ ~ZdVo
3) Vo AMmZH$ ~mîn ‘Ü ò M‘H$Vo 4) darbn¡H$s H$moUVohr eŠ` Amho

9) When water is heated at a constant pressure above critical point, then ........

1) it forms liquid + vapour two-phase mixture 2) it forms dry saturated steam

3) it flashes suddenly into vapour 4)any of the above is possible

10) H$‘r Vmn‘mZmÀ¶m dñVyVyZ Cƒ Vmn‘mZmdarb dñVyV, CîUVm ñWmZm§VaU ......
1) Ae³¶ Amho 2) XmoÝhr dñVy g§nH$m©V R>odyZ e³¶ Amho
3) H$mhr ~mø H$m¶© H$ê$Z Vo e³¶ Amho 4) ¶mn¡H$s Zmhr

10) Transfer of heat from a body at low temperature to a body at higher temperature is ...

1) impossible 2) possible by keeping both the bodies in contact

3) possible by doing some external work 4) None of the above

11) CîUVm Am{U H$m`m©gmR>r Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho?
1) CîUVm Am{U H$m ©̀ ho àUmbrMo JwUY‘© AmhoV.
2) CîUVm Am{U H$m‘ XmoÝhr {gñQ>‘‘Ü ò gmR>dbo OmD$ eH$VmV.
3) CîUVm Am{U H$m ©̀ à{H«$ òÀ`m ‘mJm©nmgyZ ñdV§Ì AmhoV.
4) darbn¡H$s H$mhrhr Zmhr

11) Which of the following statements is correct for Heat and Work ?

1) Heat and work are properties of the system.

2) Both heat and work can be stored in the system.

3) Heat and work are independent of path of process.

4) None of the above

12) Amobo ~ë~, S´m` ~ë~ Am{U Xdq~Xy Vmn‘mZmÀ`m 3 Vmn‘mZ ‘yë`m§Mr KQ>Ë`m H«$‘mZo ‘m§S>Ur ........ Aer Agob.
1) Xdq~Xy Vmn‘mZ, H$moaS>çm ~ë~Mo Vmn‘mZ, Amobo ~ë~ Vmn‘mZ.
2) H$moaS>çm ~ë~Mo Vmn‘mZ, Amoë`m ~ë~Mo Vmn‘mZ, Xdq~Xy Vmn‘mZ.
3) H$moaS>çm ~ë~Mo Vmn‘mZ, Xdq~Xy Vmn‘mZ, Amoë`m ~ë~Mo Vmn‘mZ.
4) darbn¡H$s Zmhr
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12) The arrangement of 3 temperature values of wet bulb, dry bulb and dew point temperature in

decreasing order will be ........

1) Dew point temperature, dry bulb temperature, wet bulb temperature.

2) Dry bulb temperature, wet bulb temperature, dew point temperature.

3) Dry bulb temperature, dew point temperature, wet bulb temperature.

4) Nene of the above

13) Ag§V¥á hdoda A°{S>~°{Q>H$ g§n¥º$VoÀ`m à{H«$ òXaå`mZ ...... pñWa amhVo.
1) H$moaS>çm ~ë~Mo Vmn‘mZ 2) gmnoj AmÐ©Vm
3) Amobo ~wB~ Vmn‘mZ 4) darbn¡H$s H$mhrhr Zmhr

13) During adiabatic saturation process on unsaturated air ...... remains constant.

1) Dry bulb temperature 2) Relative humidity

3) Wet buib temperature 4) None of the above

14) ~mînmoËgO©ZmVyZ hmoUmam nmÊ¶mMm ì¶¶ H$‘r H$aVm ¶oVmo …
a) à{V~mînmoËgOHo$ dmnê$Z
b) namdV©Ho$ dmnê$Z
c) dmT> amoYHo$ dmnê$Z
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (b) 2) ’$º$ (b) Am{U (c) 3) ’$º$ (a) Am{U (c) 4) darbn¡H$s gd©

14) Water loss through transpiration can be reduced by :

a) Using antitranspirants

b) Using reflectance

c) Using growth retardants

Answer Options :

1) Only (a) and (b) 3) Only (a) and (c) 2) Only (b) and (c) 4) All of the above

15) {hdmù`mV Amam‘mgmR>r, dmVmZwHy$bZ Amdûm`H$ Amho ...........
1) Hy$qbJ Am{U AmÐuH$aU 2) Hy$qbJ Am{U AmÐuH$aU
3) Ja‘ H$aUo Am{U AmÐuH$aU H$aUo 4) Ja‘ H$aUo Am{U AmÐuH$aU H$aUo

15) For comfort in winter season, air conditioning requires ...........

1) Cooling and humidification 2) Cooling and dehumidification

3) Heating and humidification 4) Heating and dehumidification

16) EH$ Q>Z ao{’«$OaoqQ>J ‘erZ åhUOo .......
1) ‘erZMo EHy$U dOZ EH$ Q>Z Amho
2) dmnaboë`m ao{’«$Oa§Q>Mo à‘mU EH$ Q>Z Amho
3) EH$ Q>Z nmÊ`mMo ~’$m©V ê$nm§Va hmoD$ eH$Vo
4) EH$ Q>Z ~’©$ 0°C da 24 VmgmV {dVië`mda, ao{’«$OaoqQ>J à^md 14,000 kd à{V Vmg BVH$m AgVmo

16) A one tonne refrigerating machine means that .......

1) The total weight of the machine is one tonne

2) The quantity of the refrigerant used is one tonne

3) One tonne of water can be converted into ice

4) One tonne of ice when melts at 0°C in 24 hours, the refrigerating effect is equivalent to

14,000 kd per hour
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17) ao{’«$OaoeZ‘Ü ò dmnaë`m OmUmè`m ao{’«$Oa§Q>Mr {dî¶‘§XVm ...... AgUo Amdûm`H$ Amho.
1) ‘Ü`‘ 2) {ZåZ 3) Cƒ 4) darbn¡H$s H$mhrhr Zmhr

17) The viscosity of refrigerant used in refrigeration is required to be .......

1) Medium 2) Low 3) High 4) None of the above

18) ao{’«$Oa§Q> H$m±àoga‘Ü ò Ðd àdoe ...... ‘wio Q>mibm OmVmo.
1) ’$º$ {nñQ>Z Am{U {gb|S>a Ag|ãbrÀ`m ñH$moA[a¨JMr eŠ`Vm 2) ’$º$ d§JU YwUo
3) XmoÝhr (1) Am{U (2) EH$Ì 4) JiVr g‘ñ`m

18) Liquid entry to refrigerant compressor is avoided due to ......

1) Chances of scoring of piston and cylinder assembly only

2) Washing away of lubricant only

3) Both (1) and (2) together

4) Leakage problem

19) Imbrb {dYmZo {dMmamV ¿`m:
{dYmZ I : EAa ao{’«$OaoQ>a‘Ü ò hdoÛmao dmhÿZ Zobr OmUmar CîUVm Ho$di `mo½` CîUVoÀ`m ñdê$nmV AgVo.
{dYmZ II : åhUyZ, EAa ao{’«$OaoQ>a‘Ü` hdoÀ`m A{^gaUmMo dñVw‘mZ ho BVa ao{’«$Oa§Q> àUmbr‘Ü¶o dmnaë`m OmUmè¶m
dñVw‘mZmnojm OmñV Amho.
{dYmZ III : åhUyZ, Amdûm`H$ hdoMo n[ag§MaU BVa ao{’«$Oa§Q> dmnaboë`m àUmbtnojm H$‘r Amho.
Imbrbn¡H$s `mo½` CÎma {ZdS>m :
1) {dYmZ I Am{U {dYmZ II ~amo~a Amho 2) {dYmZ II Am{U {dYmZ III ~amo~a AmhoV
3) {dYmZ I Am{U {dYmZ III ~amo~a AmhoV 4) ’$º$ {dYmZ I ~amo~a Amho

19) Consider the following statements :

Statement I : In an air refrigerator the heat carried by air is in the form of sensible heat only.

Statement II : Therefore, mass of air circulation required is more than other refrigerant used

systems.

Statement III : Therefore, mass of air circulation required is less than other refrigerant used

systems.

Select the correct answer from the following :

1) Statement I and Statement II are correct 2) Statement II and Statement III are correct

3) Statement I and Statement III are correct 4) Only Statement I is correct

20) ao{’«$OaoeZ {gñQ>r‘À`m `mo½` W‘©b BÝgwboqQ>J ‘Q>o[a`bÀ`m {ZdS>r‘Ü ò H$moUVm JwUY‘© Adm§{N>V Amho?
1) H$‘r W‘©b MmbH$Vm 2) Cƒ AmÐ©Vm emofÊ`mMr j‘Vm
3) nmÊ`mÀ`m dm’o$bm A ôÚ 4) AmJrMm à{VH$ma

20) Which is undesirable property in the selection of proper thermal insulating material of a

refrigeration system ?

1) Low thermal conductivity 2) High moisture absorption capacity

3) Impervious to water vapour 4) Resistance to fire

21) ao{’«$Oa§Q>Mo Imbrbn¡H$s H$moUVo JwUY‘© Adm§pÀN>>V AmhoV?
1) Cƒ J§̂ ra Vmn‘mZ 2) ÐdmMr H$‘r {d{eï> CîUVm
3) Cƒ CËH$bZ q~Xy 4) ~mînmMo H$‘r {d{eï> à‘mU



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … gm‘mÝ` {dkmZ  / 38

For Private Circulation Only

21) Which of the following properties of a refrigerant is undesirable ?

1) High critical temperature 2) Low specific heat of liquid

3) High boiling point 4) Low specific volume of vapour

22) EAa H§${S>eqZJ S>ŠQ> {S>PmBZgmR>r H$moUË`m nÕVr dmnaë`m OmVmV?
1) g‘mZ Kf©U/àoea S´m°n nÕV 2) doJ H$‘r H$aÊ`mMr nÕV
3) ñQ>°{Q>H$ arJoZ nÕV 4) darb gd©

22) What are the methods used for air conditioning duct design ?

1) Equal friction /pressure drop method 2) Velocity reduction method

3) Static regain method 4) All of the above

23) Hy$qbJ Am{U hrqQ>J H$m°BbMo H$m ©̀àXe©Z .......... ‘wio Mm§Jbo hmoB©b
1) XmoÝhr H$m°BbMm Cƒ ~m`nmg KQ>H$
2) XmoÝhr H$m°BbMm bmoAa ~m`nmg ’°ŠQ>a
3) Cƒ ~m`nmg ’°ŠQ>agh Hy$qbJ H$m°Bb Am{U H$‘r ~m`nmg ’°ŠQ>agh hrqQ>J H$m°Bb
4) darbn¡H$s H$mhrhr Zmhr

23) The performance of cooling and heating coil will be better with ....

1) Higher bypass factor of both coils

2) Lower bypass factor of both coils

3) Cooling coil with high bypass factor and heating coil with low bypass factor

4) None of the above

24) B§Q>aHy$qbJ Am{U ar{hqQ>Jgh, XmoZ-ñQ>oO J°g Q>~m©BZ ßbm§Q>‘Ü ò .........
1) H$m ©̀ JwUmoÎma Am{U W‘©b H$m ©̀j‘Vm XmoÝhr gwYmaVo.
2) H$m‘mMo à‘mU gwYmaVo na§Vw W‘©b H$m ©̀j‘Vm H$‘r hmoVo.
3) W‘©b H$m ©̀j‘Vm gwYmaVo na§Vw H$m‘mMo à‘mU H$‘r hmoVo.
4) H$m‘mMo à‘mU Am{U W‘©b H$m ©̀j‘Vm XmoÝhr H$‘r hmoVo.

24) In two-stage gas turbine plant, with intercooling and reheating .......

1) both work ratio and thermal efficiency improves.

2) work ratio improves but thermal efficiency decreases.

3) thermal efficiency improves but work ratio decreases.

4) both work ratio and thermal efficiency decreases.

25) nmÊ`mMo `mo½` dm ẁdrOZ gw{Z{l²MV H$aÊ`mgmR>r, ........ Amdûm`H$ Amho.
1) hdoÀ`m g§nH$m©V nmÊ`mMo joÌ’$i dmT> 2) ÐdmMm n¥ð>^mJ gVV hbdV R>odUo
3) nmÊ`mMm hdoer g§nH©$ hmoÊ`mMr doi dmT> 4) darb gd©

25) To ensure proper aeration of water, it is necessary to ........

1) Increase the area of water in contact with air

2) Keep the surface of the liquid constantly agitated

3) Increase the time of contact of water with air

4) All of the above
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26) Oa 1 {H$bmo nmUr 0°C Vo 100°C n ª̀V Ja‘ Ho$bo Va Ë`m‘Ü¶o ........ CîUVm OmoS>br OmB©b.
1) 450 kJ 2) 418 kJ 3) 3350 kJ 4) 10, 000 calories

26) If 1 kg of water is heated from 0°C to 100°C the sensible heat added to it will be

1) 450 kJ 2) 418 kJ 3) 335 kJ 4) 1000 calories

4) ÜdZr, AëQ́>mgmo{Z³g, gmoZma
1) Oa ÜdZrMm ómoV Am{U AS>Wim ¶mVrb A§Va ...... Agob, VaM à{VÜdZr EoHy$ ¶oVmo.

1) 17 ‘rQ>anojm H$‘r 2) 17 ‘rQ>anojm OmñV qH$dm 17 ‘rQ>a
3) 7 ‘rQ>anojm H$‘r 4) darbn¡H$s H$moUVoM Zmhr

1) Echo is heard if the distance between the source of sound and the obstacle is

1) Less than 17 meters 2) More than or equal to 17 meters

3) Less than 7 meters 4) None of the above

2) T.V. ñQw>{S>AmogmR>r KamVrb AmdmOmMr ñdrH$m ©̀ nmVir {H$Vr Amho?
1) 5-10dB 2) 25-30dB 3) 50-55 dB 4) 1-45dB

2) How much is the acceptable indoor source noise level for the T.V. studio ?

1) 5-10dB 2) 25-30dB 3) 50-55 dB 4) 1-45dB

3) Ooìhm - Ooìhm ÜdZrMm òmoV Am{U {ZarjH$ ¶m§À¶mV gmnoj JVr AgVo Voìhm òmoVmÛmao CËg{O©V hmoUmè¶m ÜdZrÀ¶m
dma§daVo Am{U {ZarjH$mÛmao EoH$ë¶m OmUmam ÜdZrÀ¶m dma§dmaVoV ~Xb {XgyZ ¶oVmo. ¶mbm ........... åhUVmV.
1) øyOoÝgMm à^md 2) Á ỳëgMm à^md 3) S>m°nbaMm à^md 4) a‘UMm à^md

3) Whenever there is a relative motion between a source of sound and an observer, there is appar

change in Frequency of a sound emitted by a source and as heard by the observer. This is call ......

1) Huygen’s effect 2) Joule’s effect 3) Doppler effect 4) Raman effect

4) ''hm`naH$moBH$ '' hm eãX ......... V§ÌkmZmer g§~§{YV Amho.
A) AëQ´mgmoZmoJ«m’$s ~) ao{S>AmoJ«m’$s H$) qgQ>oJ«m’$s S>) âbmoamoñH$monr
n`m©¶r CÎmao :
1) A Am{U H$ ’$º$ 2) A Am{U S> ’$º$ 3) A ’$º$ 4) ho gd©

4) The term "hyperechoic" is used in

a) Ultrasonography b) Radiography c) Scintegraphy d) Fluoroscopy

Answer Options :

1) a and c only 2) a and d only 3) a only 4) All of these

5) ............. ho V§Ì dmnê$Z g‘wÐmMr Imobr ‘moOVmV.
1) gmoZma 2) gmoZmoJ«m’$s 3) hmobmoJ«m’$s 4) ‘m¶H«$moñH$monr

5) The depth of the sea can be measured using techniques.

1) Sonar 2) Sonography 3) Holography 4) Microscopy
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6) gmoZma (gmC§S> ZoìhrJoeZb loUr) V§Ì .............. ¶mgmR>r dmnabo OmVo.
1) OÝ‘nyd© narjm
2) öX¶mÀ¶m PS>nm§À¶m {H«$¶oMm Aä¶mg
3) ŵd¡km{ZH$ Aä¶mg
4) nmZ~wS>rgma»¶m ~wS>boë¶m dñVwMr JVr Am{U pñWVr ‘mnÊ¶mgmR>r

6) SONAR (Sound Navigational Ranging) technique is used for ....

1) Prenatal examination

2) the study of heart valve action

3) Geological study

4) measuring motion and position of the submerged objects like submarines

7) ÜdZrMr H$‘rVH$‘r ldUr¶ dma§dmaVm åhUOo -
1) ldUj‘VoMr Ama§̂  Vrd«Vm 2) ÜdZr ldUj‘VoMr Ý¶yZV‘ ‘¶m©Xm
3) ÜdZr ldUj‘VoMr CƒV‘ ‘¶m©Xm 4) darbn¡H$s Zmhr

7) The minimum audible frequency of sound means

1) threshold intensity of audibility 2) lower pitch limit of audibility

3) upper pitch limit of audibility 4) None of the above

8) ÜdZrVa§J hr ¶m§{ÌH$s AZwVa§J AgyZ Imbrbn¡H$s H$moUË¶m ‘mÜ¶‘mVyZ Ë¶m àdmg H$aVmV ?
1) dm¶y 2) Ðd 3) KZ 4) darbn¡H$s gd© ‘mÜ¶m‘mVyZ

8) Sound waves are longitudinal mechanical waves that can travel through which of the following

mediums?

1) Gases 2) Liquids 3) Solids 4) In all of above mediums

9) EH$ ÜdZr Va§JmMr dma§dmaVm 1000 hQ²>©P AgyZ Va§Jbm§~r 0.25 ‘rQ>a Amho. Oa Vmo EH$m {d{eï> ‘mÜ¶‘mV 5 goH§$X
àdmg H$aV Agob, Va H$mnbobo A§Va H$mT>m.
1) 50 {H$.‘r. 2) 1250 ‘r. 3) 800 ‘r. 4) 80 {H$.‘r.

9) Calculate the distance travelled by a sound wave having frequency 1000 Hz and wavelength 0-25

m, if it travels for 5 seconds in a certain medium.

1) 50 km 2) 1250 m 3) 800m 4) 80km

5) àH$me
1) àH$memMm doJ ............ AgVmo.

1) 3 × 108 ‘rQ>a à{VgoH§$X 2) 3 × 108 g|{Q>‘rQ>a à{VgoH§$X
3) 3 × 108 {H$cmo‘rQ>a à{VgoH§$X 4) 3 × 108 B§M à{VgoH§$X

1) Speed of light is .........

1) 3 x 105 m/s 2) 3 x 108 cm/s 3) 3 x 108 km/s 4) 3 x 108 inch/s

2) àH$memMo EH$H$ ghgm ............ ‘Ü¶o {Xco OmVo.
1) ‘rQ>a 2) g|{Q>‘rQ>a 3) {‘{c‘rQ>a 4) Z°Zmo Am{U ‘m¶H«$mo‘rQ>a

2) Light unit is generally expressed in ..........

1) Meter 2) Centimeter 3) Millimetre 4) Nano - Micrometer
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3) àH$me‘` àdmhmMo EH$H$ ........ Amho.
1) do~a 2) A±{nAa 3) Hw$bm°å~ 4) bw‘oZ

3) The Unit of luminous flux is .........

1) Weber 2) Ampere 3) Coulomb 4) Lumens

4) BZ°ÝS>oÝg|Q> {Xì`mVrb ìh°Š ỳ‘ ........ À`m H«$‘mZo AgVmo.
1) 10-2 {‘‘r He. 2) 10-4 {‘‘r EMOr 3) 10-6 {‘‘r EMOr. 4) 10-8 {‘‘r EMOr.

4) The vacuum inside an incandescent lamp is of the order of .........

1) 10-2 mm He. 2) 10-4mm Hg 3) 10-6 mm Hg. (4) 10-8mm Hg.

5) 1 bŠg g‘mZ Amho ...........
1) 0.1 bw‘oZ/Mm¡. ‘rQ>a 2) 1 bw‘oZ/Mm¡. ‘rQ>a 3) 1 bw‘oZ/Mm¡. go‘r. 4) 1 bw‘oZ/Mm¡. {‘‘r

5) 1 lux is equal to ...........

1) 0.1 lumen/sq. meter 2) 1 lumen/sq. meter 3) 1 lumen/sq. cm. 4) 1 lumen/sq. mm.

6) n¥ð>^mJmnmgyZ 'd' A§Vamda Agboë`m àH$memÀ`m ómoVm‘wio n¥ð>^mJmdarb àXrnZ ........ Ago ~XbVo.
1) 1/d2 2) 1/d 3) d 4) d2

6) The illumination at a surface due to a source of light placed at a distance ‘d’ from the surface

varies as ........

1) 1/d2 2) 1/d 3) d 4) d2

7) ‘erqZJ, J«mB§qS>J nm°{bqeJ BË`mXr Cƒ AMyH$ H$m‘mgmR>r Amdûm`H$ àXrnZ nmVir gw‘mao ......... bŠg Amho.
1) 50 — 100 2) 100 — 200 3) 200 — 400 4) 1000 — 2000

7) Illumination level required for high precision work like machining, grinding polishing etc. is

around ......... lux.

1) 50 — 100 2) 100 — 200 3) 200 — 400 4) 1000 — 2000

8) ......... hm EH$ JwUY‘© Amho Omo n¥ð>^mJmÛmao namd{V©V hmoUmè`m {H$aUmoËgJm©Mm A§e {ZpíMV H$aVmo.
1) emofH$Vm 2) namdV©H$Vm 3) AndV©H$Vm 4) CËgO©Z

8) ......... is a property that determines the fraction of the incident radiation reflected by a surface.

1) Absorptivity 2) Reflectivity 3) Refractivity 4) Emissivity

9) àH$me Ooìhm EH$m ‘mÜ¶‘mVyZ Xþgè¶m ‘mÜ¶‘mV àdoe H$aVmo, Voìhm Imbrbn¡H$s àH$memÀ¶m H$moUË¶m JwUY‘m©V ~Xb hmoV
Zmhr ?
1) doJ 2) Va§Jbm§~r 3) Am¶m‘ 4) dma§dmaVm

9) When light travels from one medium to another medium, which of the following property of light

does not change ? .

1) Velocity 2) Wavelength 3) Amplitude 4) Frequency

10) àH$me Va§J ‘w»¶V: ........... ñdê$nmV AgVmV.
1) Mw§~H$s¶ Va§J 2) {dÚwV Va§J 3) {dÚwV M§§w~H$s¶ Va§J 4) darcn¡H$s EH$hr Zmhr

10) Light is generally in the form of :

1) Magnetic Waves 2) Electrical Waves

3) Electromagnetic Waves 4) None of the above
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11) àH$memÀ¶m dU©nQ>m‘Ü¶o H$moUË¶m àH$memMm g‘mdoe AgVmo ?
1) Ñí¶ àH$me d A{VZrc àH$me 2) AÑí¶ àH$me Am{U Ñí¶ àH$me
3) Adaº$ {H$aUm§Mm àH$me Am{U Ñí¶ àH$me 4) darcn¡H$s gd©M

11) Optical spectrum consist of ..........

1) Visible light and ultraviolet light 2) Invisible light and visible light

3) Infrared light and visible light 4) All of the above

12) {’$H$À¶m àgmamMm n{hbm {Z`‘ `mÀ`mer g§~§{YV Amho -
1) àgma àdmh Am{U {S>â ỳ{gpìhQ>r
2) àgma àdmh, àgma Am{U EH$mJ«Vm
3) {S>â ỳOZ âbŠg, {S>â ỳ{gpìhQ>r Am{U pñWVrÀ`m g§X^m©V EH$mJ«Vm
4) darbn¡H$s H$mhrhr Zmhr

12) Fick’s first law of diffusion is related with -

1) diffusion flux and diffusivity

2) diffusion flux, diffusivity and concentration

3) diffusion flux, diffusivity and concentration with respect to position

4) None of the above

13) {ZH$mob {àP‘Ûmao àgm[aV hmoUmam àH$me ......... hm Amho:
1) AY«wdrH¥$V 2) g‘Vb Y«wdrH¥$V 3) JmobmH$ma Y«wdrH¥$V 4) b§~dVw©imH$ma Y«wdrH¥$V

13) Light transmitted by nichol prism is :

1) unpolarized 2) plane polarized 3) circularly polarized 4) elliptically polarized

14) H$moUVo {Xdo ho YwŠ`m‘Ü ò OmñV ̀ mo½` AmhoV H$maU Ë`mÛmao {Z{‘©V àH$me YwŠ`m‘Ü ò A{YH$ Mm§Jë`m àH$mao Kwgw eH$Vmo.
1) nmam dm’o$Mo {Xdo 2) gmo{S>`‘ dm’o$Mo {Xdo 3) YmVyMo h°{bS> {Xdo 4) M‘H$Umao {Xdo

14) ......... are particularly suitable in fog as their light can penetrate the fog better.

1) Mercury vapour lamps 2) Sodium vapour lamps

3) Metal halid lamps 4) Glow lamps

15) âbyamog§Q> Q>çy~À`m nwadR>çm‘Ü ò H°$no{gQ>aMo H$m ©̀ àm‘w»`mZo ...... Amho.
1) AmhoV pñWa H$aUo 2) àma§̂  H$a§Q> H$‘r H$aUo
3) nwadR>m nm°da ’°$ŠQ>a gwYmaUo 4) AmdmO H$‘r H$aUo

15) The function of capacitor across the supply to the fluorescent tube is primarily to .......

1) Stabilize the are 2) Reduce the starting current

3) Improve the supply power factor 4) Reduce the noise

16) Imbrbn¡H$s H$moUË`m {Xì`m‘Ü ò B{¾Q>a dmnabm OmVmo?
1) {’$bm‘|Q> {Xdo 2) âbmoamog|Q> {Xdo
3) gmo{S>`‘ ìhona {Xdo 4) darbn¡H$s H$mhrhr Zmhr

16) Ignitor is used in which of the following lamps ?

1) Filament lamps 2) Fluorescent lamps

3) Sodium vapour lamps 4) None of the above
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17) âbmoamog|Q> {Xì`m§À`m PJ‘JmQ>mMm à^md ........ À¶m AdñWoV A{YH$ ñnï> hmoVmo.
1) H$‘r dma§dmaVo 2) Cƒ dma§dmaVo 3) bmoAa ìhmoëQ>oO 4) OmñV ìhmoëQ>oO

17) The flicker effect of fluorescent lamps is more pronounced at ..........

1) Lower frequencies 2) Higher frequencies 3) Lower voltages 4) Higher voltages

18) bmobH$m‘YyZ ~mhoa nS>VmZm Imbrbn¡H$s H$moUË¶m à{H«$¶o‘wio nm§T>è¶m àH$memMo Ë¶mÀ¶m KQ>H$ a§JmV {d^mOZ hmoVo ?
1) àH$memMo namdV©Z 2) Q>moQ>b B§Q>Z©b [aâbo³eZ
3) {S>ñne©Z 4) àH$memMo AndV©Z

18) Due to which of the following process white light get separated into its constituent colors when

passing through a prism ?

1) Reflection of light 2) Total internal reflection

3) Dispersion 4) Refraction of light

19) Oa àH$me n{hë¶m ‘mÜ¶‘mVyZ 2 × 108 ms-1 doJmZo OmVmZm Xþgè¶m ‘mÜ¶‘mV Ë¶mMm doJ 1.25 × 108 ms-1 hmoV Agob
Va Xþgè¶m ‘mÜ¶‘mMm n{hë¶m ‘mÜ¶‘mÀ¶m g§X^m©Vrb AndV©Zm§H$ H$mT>m.
1) 2.5 2) 1.33 3) 1.6 4) 0.625

19) Find the refractive index of the second medium with respect to the first medium, if light moves

through the first medium with velocity 2 × 108 ms-1, which changes to 1.25 × 108 ms-1 in the

second medium.

1) 2.5 2) 1.33 3) 1.6 4) 0.625

20) XmoZ q^JmMo Zm^r¶ A§Va ho 2 ‘rQ>a d 1 ‘rQ>a Amho, Va Ë¶m q^JmMr n[aUm‘r eº$s {H$Vr Agob ?
1) 3 S>m¶m°ßQ>a 2) 1.5 S>m¶m°ßQ>a 3) 1 S>m¶m°ßQ>a 4) 0.5 S>m¶m°ßQ>a

20) The focal lengths of two lenses are 2 m and 1 m, then the total power of a combination of these

lenses is

1) 3 D 2) 1.5 D 3) 1 D 4) 0.5 D

21) XmoZ g‘Vb Amaem‘Ü¶o EH$ ‘m§Oa ~gbr Amho, Oa XmoZ g‘Vb Amaem‘Yrb H$moZ 30 A§e Agë¶mg, ‘§mOarÀ¶m
{H$Vr à{V‘m {XgVrb ?
1) 0 2) 1 3) 11 4) 12

21) A cat is sitting in between two plane mirrors. If the angle between two plane mirrors is 30 degrees,

how many images of the cat will appear?

1) 0 2) 1 3) 11 4) 12

22) ‘mUgmMm gm‘mÝ¶ S>moim 25 go‘r nojm OdiÀ¶m dñVy nmhÿ eH$V Zmhr H$maU :
1) S>moù¶mV Zm^r¶ A§Va 25 go‘r Amho.
2) Ñ{ï>nQ>bmMo ZoÌq^JmnmgyZMo A§Va 25 go‘r Amho.
3) S>moim hm ZoÌq^J d Ñ{ï>nQ>b ¶mVrb A§Va ‘¶m©Xonojm H$‘r H$ê$ eH$V Zmhr.
4) S>moim hm Zm^r¶ A§Va ‘¶m©Xonojm H$‘r H$ê$ eH$V Zmhr.

22) A normal eye is not able to see objects closer than 25 cm because :

1) the focal length of the eye is 25 cm.

2) the distance of the retina from the eye-lens is 25 cm.

3) the eye is not able to decrease the distance between the eye-lens and the retina beyond

limit.

4) the eye is not able to decrease the focal length beyond a limit.



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … gm‘mÝ` {dkmZ  / 44

For Private Circulation Only

6) {dÚwVMw§~H$s¶ bhar / Bbo³Q́>mo‘°¾o{Q>H$ ñnoŠQ́>‘
1) 0-7 Vo 1-3 ‘m¶H«$mo‘rQ>a Xaå¶mZÀ`m BÝ’«$maoS> a|O‘Ü ò dZñnVrMo nmZ Z¡g{J©H$[aË`m .......... Vrd«VoMm àH$me

namd{V©V H$arb.
1) 40-60% 2) 30-50% 3) 50-70% 4) 60-80%

1) In the near infrared range between 0-7 to 1-3 um a plant leaf will naturally reflect between ..........

light intensity.

1) 40-60% 2) 30-50% 3) 50-70% 4) 60-80%

2) Adaº$ àH$me {H$aUm§Mr dma§dm[aVm hr Om§̂ ù¶m a§JmÀ¶m àH$me {H$aUm nojm ...........
1) H$‘r AgVo 2) OmñV AgVo 3) ~amo~a AgVo 4) darcn¡H$s EH$hr Zmhr

2) Frequency of infrared light is .......... than violet light.

1) Less than 2) Greater than 3) Equal to 4) None of the above

3) à{V ẁ{ZQ> joÌ’$imÀ`m n¥ð>^mJmda Á`m XamZo ao{S>EeZ KS>Vo Ë`mbm åhUVmV ......
1) ao{S>Amo{gQ>r 2) {d{H$aU 3) CËg{O©V eº$s 4) AndV©Z

3) The rate at which radiation is incident upon a surface per unit area is called ......

1) Radiosity 2) Irradiation 3) Emissive power 4) Refraction

4) Ho$gmg§~§Yr CËnmXZo Am{U H$m°ÝQ>°³Q> boÝg gmoë ỳeZ ¶mgmaIo J«mhH$ gm¢X¶©àgmYZo {ZOªVyH$ H$aÊ¶mgmR>r H$moUË¶m
àH$maMo ao{S>EeZ ‘moR>çm à‘mUmda dmnabo OmVo ?
1) Aë’$m 2) {~Q>m 3) J°‘m 4) Ý ỳQ́m°Z

4) Which type of radiation is widely used to sterilise consumer cosmetics such as hair products and

contact lens solutions ?

1) Alpha 2) Beta 3) Gamma 4) Neutron

5) Ooìhm XñVEodOmda emB© AmoVyZ ‘OHy$a {‘Q>dbm OmVmo Voìhm XñVEodOmdarb Ajao AmoiIÊ¶mgmR>r ...... ¶m§Mr ‘XV
hmoVo.
1) AëQ´>m-ìhm¶moboQ> {H$aUo 2) ao{S>Amo {H$aUo 3) BÝ’«$maoS> {H$aUo 4) j-{H$aUo

5) If contents of a document are erased by using an ink, then which of the following techniques is

used to identify the erased letters ?

1) Ultra-violet Rays 2) Radio Rays 3) Infrared-Rays 4) X-Rays
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(2) {dÚwVemó, Mw§~H$Ëd, AUw{dkmZ d {H$aUmoËgm[aVm
1) {dÚwVemó
2) Mw§~H$Ëd
3) AUw{dkmZ d
4) {H$aUmoËgm[aVm

1) {dÚwVemó
1) nm°da {gpñQ>‘ ZoQ>dŠg©‘Yrb pñdqMJ Amoìha ìhmoëQ>oOrg ........... À`m Xaå¶mZ AgVmV.

1) Ldp.u 2) 2.5 Vo 3.3 p.u. 3) 10 p.u. 4) 20 p.u.

1) The switching over voltages in power system networks are of the order of ...........

1) Ldp.u. 2) 2.5 to 3.3 p.u. 3) 10p.u. 4) 20 p.u.

2) Á¶m nmÊ¶mMr {dÚwV dmhH$Vm hr ........ {‘br gm¶‘oÝg à{V ‘rQ>a AgVo, Ago nmUr ~hþVoH$ gd© {nH$m§gmR>r ~hþVoH$
gd© O{‘ZrV qgMZmgmR>r ¶mo½¶ AgVo.
a) 25 n¶ªV b) 25 nojm OmñV c) 75 n¶ªV d) 75 nojm OmñV
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) Am{U (c) 3) ’$º$ (c) 4) ’$º$ (d)

2) Water with EC value ............... milli Siemens per metre is suitable for irrigation of most of the

crops on most of the soils.

a) up to 25 b) above 25 c) up to 75 d) above 75

Answer Options :

l) Only (a) 2) Only (b) and (c) 3) Only (c) 4) Only (d)

3) H$‘r ìhmoëQ>oO àUmbrgmR>r gdm©V H$‘r I{M©H$ g§ajU¶§ÌUm ...... Amho.
1) Am`gmoboQ>a 2) Am°Bb g{H©$Q> ~«oH$a 3) â ỳO 4) EAa g{H©$Q> ~«oH$a

3) The least expensive protection for low voltage system is .......

1) isolator 2) oil circuit breaker 3) fuse 4) air circuit breaker

4)  UPS àUmbrVrb BÝìhQ>©aMo ‘w»` H$m ©̀ ........ Amho.
1) EgrMo Egr‘Ü¶o ê$nm§VaU 2) EgrMo S>rgr‘Ü¶o ê$nm§VaU
3) S>rgrMo Vo S>rgr‘Ü¶o ê$nm§VaU 4) S>rgrMo Vo Egr‘Ü¶o ê$nm§VaU

4) Main function of inverter in UPS system is ........

1) ac to ac conversion 2) ac to dc conversion

3) dc to dc conversion 4) dc to ac conversion

5) Hw$bm|~À`m BboŠQ´moñQ>°{Q>ŠgÀ`m {Z`‘mZwgma H$moUË`mhr XmoZ MmO© Ho$boë`m dñVy‘Yrb AmH$f©U qH$dm à{VH$f©U ho
........ Amho.
1) Ë`m§À`m ewëH$mÀ`m JwUmH$mamÀ`m dJm©er WoQ> à‘mUmV 2) Ë`m§À`m‘Yrb A§VamÀ`m dJm©À`m WoQ> à‘mUmV
3) Ë`m§À`m‘Yrb A§VamÀ`m dJm©À`m ì`ñV à‘mUmV 4) ewëH$m§‘Yrb ‘mÜ`‘mÀ`m ñdê$nmda Adb§~yZ Zmhr
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5) According to Coulomb’s law of electrostatics the magnitude of force of attraction or repulsion

between any two charged bodies is ..........

1) directly proportional to the square of product of their charges

2) directly proportional to the square of distance between them

3) inversely proportional to the square of distance between them

4) not dependent on the nature of medium between the charges

6) WoQ> {dOoMo PQ>Ho$ Am{U Cƒ ìhmoëQ>oO Vrd« bmQ>m§nmgyZ g§ajU ...... ¶mÛmao àXmZ Ho$bo OmVo.
1) J«mC§S> dm`g© 2) bmBQ>qZJ AaoñQ>a 3) XmoÝhr (1) Am{U 2) (4) A{WªJ Ý ỳQ´b

6) The protection against direct lightning strokes and high voltage steep waves is provided by .......

1) ground wires 2) lightning arrester 3) both (1) and (2) 4) earthing neutral

7) ......... g{H©$Q> ~«oH$aÀ`m ~m~VrV Cƒ à{VamoYH$ ì`Ë`` VÎdmMm dmna Ho$bm OmVmo.
1) Cƒ ìhmoëQ>oO A.C. 2) H$‘r ìhmoëQ>oO A.C. Am{U ‘Ü`‘ ìhmoëQ>oO A.C.

3) S>r.gr. 4) XmoÝhr (2) Am{U (3)
7) High resistance interruption principle is used in case of .............. circuit breaker.

1) High voltage A.C. 2) Low voltage A.C. and medium voltage A.C.

3) D.C. 4) Both (2) and (3)

8) DC-DC H$ÝìhQ>©aMr H$m }̀ hr AmhoV ....
1) S>rgr BZnwQ> ìhmoëQ>oO S>rgr AmCQ>nwQ> ìhmoëQ>oO‘Ü ò ê$nm§V[aV H$aÊ`mgmR>r
2) ^ma Am{U aofoÀ`m {^ÞVoÀ`m {dê$Õ S>rgr AmCQ>nwQ> ìhmoëQ>oOMo {Z`‘Z H$aÊ`mgmR>r
3) XmoÝhr (1) Am{U (2)
4) `mn¡H$s Zmhr

8) The functions of DC-DC converters are ....

1) To convert a dc input voltage into dc output voltage

2) To regulate the dc output voltage against the load and line variation

3) Both (1) and (2)

4) None of these

9) Ý ỳQ´b A{WªJMm ’$m`Xm hm Amho ........
1) d¡̀ {º$H$ gwajm 2) n¥Ïdr Xmof àdmh H$‘r
3) Am{Hª$J J«mC§S>Mo {Z‘y©bZ 4) darbn¡H$s H$mhrhr Zmhr

9) Advantage of neutral earthing is

1) Safety of personal 2) Reduction of earth fault current

3) Elimination of arcing ground 4) None of the above

10) ......... pñWVrV H$m ©̀aV AgVmZm AëQ>aZoQ>a A{VdoJmZo H$m¶©aV (over excited) Agë`mMo åhQ>bo OmVo.
1) ẁ{ZQ>r nm°da ’°$ŠQ>a 2) brqS>J nm°da ’°$ŠQ>a
3) b°qJJ nm°da ’°$ŠQ>a 4) brqS>J nm°da ’°$ŠQ>a‘Ü ò ‘mJo nS>Vo

10) An alternator is said to be over excited when it is operating at........

1) Unity power factor 2) Leading power factor

3) Lagging power factor 4) Lagging to leading power factor
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11) ......... pñWVrV H$m ©̀aV AgVmZm AëQ>aZoQ>a H$‘r doJmZo H$m¶©aV (under excited ) Agë`mMo åhQ>bo OmVo.
1) ẁ{ZQ>r nm°da ’°ŠQ>a 2) b°qJJ nm°da ’°ŠQ>a
3) brqS>J nm°da ’°ŠQ>a 4) ¶mn¡H$s Zmhr

11) An alternator is said to be under excited when it is operating at ..........

1) Unity power factor 2) Lagging power factor

3) Leading power factor 4) None of the above

12) Ho$~bMm BÝgwboeZ ao{PñQ>Ýg ........ À¶m à‘mUmV H$‘r hmoVmo.
1) {dÚwV VmUm 2) Ho$~bÀ`m BÝgwboeZMr bm§~r dmTÊ¶mÀ¶m
3) Ho$~bÀ`m BÝgwboeZMr bm§~r H$‘r hmoÊ¶mÀ¶m 4) `mn¡H$s Zmhr

12) The insulation resistance of the cable decreases with .........

1) Electric stress

2) The increase in length of the insulation of the cable

3) The decrease in length of the insulation of the cable

4) None of these

13) drOdmhH$ Vmam§À¶m H$‘mb PwH$md (maximum sag) g§X^m©Vrb ‘m{hVr hr ..... {Z{l²MV H$aÊ`mgmR>r àm‘w»`mZo
Amdí`H$ Amho.
1) H§$S>ŠQ>aMm J«mC§S> Šbr`aÝg 2) H§$S>ŠQ>aMm H$‘mb ñn°Z
3) H§$S>ŠQ>ada OmñVrV OmñV VmU 4) darbn¡H$s H$mhrhr Zmhr

13) The knowledge of maximum sag is primarily essential in determining the ......

1) Ground clearance of the conductor 2) Maximum span of the conductor

3) Maximum stress on the conductor 4) None of the above

14) Imbrbn¡H$s H$moUVo dmŠ` Iao Amho?
a) Q>~m©BZ âbmo ‘rQ>a ho ìhm°ë ỳ‘o{Q´H$ âbmo ‘rQ>a Amho.
b) BboŠQ´mo‘°¾o{Q>H$ âbmo ‘rQ>a ho ñbar Am{U drOdmhH$ Ðì`m§À`m àdmh ‘mnZmgmR>r `mo½` AmhoV.
c) BboŠQ´mo‘°¾o{Q>H$ âbmo ‘rQ>a‘Ü ò àdmhmV AS>Wim Amë`m‘wio Xm~ H$‘r hmoD$ eH$Vmo.
d) BboŠQ´mo‘°¾o{Q>H$ âbmo ‘rQ>a‘Yrb AmCQ>nwQ> ÐdmÀ`m d¡{eï²>`m§‘Yrb ~Xbm§‘wio à^m{dV hmoVo.
n¶m©¶r CÎmao …
1) a Am{U b gË` AmhoV 2) c Am{U d gË` Amho
3) gd© ~amo~a 4) darbn¡H$s Zmhr

14) Which of the following sentence are true ?

a) The turbine flow meters are volumetric flow meters.

b) The electromagnetic flow meters are suitable for flow measurement of slurries and electrically

conducting liquids.

c) In electromagnetic flow meters there is obstruction to flow that may cause pressure drops.

d) The output in electromagnetic flow meter is affected by changes in characteristics of liquid.

Answer options :

1) a and b are true 2) c and d are true 3) All are true 4) None of the above



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … gm‘mÝ` {dkmZ  / 48

For Private Circulation Only

15) Q́mÝg’$m°‘©aMo aoqQ>J kVA ‘Ü ò AgVo Am{U kW ‘Ü ò Zmhr H$maU ........
1) kW ‘Yrb JUZm kVA nojm gmonr Amho
2) H$m°na bm°g Am{U Am`Z© bm°g AZwH«$‘o H$a§Q> Am{U ìhmoëQ>oOda Adb§~yZ AgVmV
3) gd© ZwH$gmZ nm°da ’°ŠQ>ada Adb§~yZ AgVo
4) darbn¡H$s H$mhrhr Zmhr

15) The rating of transformers is in kVA and not in kW because,

1) Calculations in kVA are easier than in kW

2) Cu loss and Iron loss depends on current and voltage respectively

3) Alllosses are dependent on power factor

4) None of the above

16) Q´mÝg’$m°‘©adarb em°Q>© g{H©$Q> MmMUr Xaå`mZ, bmoI§S>mMo ZwH$gmZ ZJÊ` hmoVo H$maU .........
1) Xwæ`‘ ~mOyH$S>rb {dÚwVàdmh ZJÊ` AgVo
2) Xwæ`‘ ~mOydarb ìhmoëQ>oO ~XbV Zmhr
3) àmW{‘H$ ~mOybm bmJy ìhmoëQ>oO H$‘r AgVo
4) Q´mÝg’$m°‘©abm nyU© bmoS> H$a§Q> nwadbm OmV Zmhr

16) During short circuit test on transformer, iron losses are negligible because .........

1) the current on the secondary side is negligible

2) the voltage on the secondary side does not vary

3) the voltage applied on primary side is low

4) full load current is not supplied to the transformer

17) H§$S>oÝgaMm CÔoe hm .............. ‘YyZ ~mhoa nS>Umè`m dm ỳbm H§$S>oÝg H$aUo hm Amho.
1) ~mînr^dH$ 2) Q>~m©BZ 3) H$m±àoga 4) W«m°Q>b

17) The purpose of condenser is to condense the gas coming out from exit of .......

1) Evaporator 2) Turbine 3) Compressor 4) Throttle

18) S>rgr Vo S>rH$ÝìhQ>©a qH$dm Mm°naMo H$m¶© ..............
1) ’$º$ ñQ>on-S>mCZ S>r.gr. ìhmoëQ>oO
2) ’$º$ ñQ>on-An S>r.gr. {dÚwVXm~
3) ñQ>on-An qH$dm ñQ>on-S>mCZ S>r.gr. ìhmoëQ>oO
4) BZnwQ> d.c. ìhmoëQ>oO AmCQ>nwQ> d.c À`m g‘mZ Amho. {dÚwVXm~

18) DC to de converter or chopper can ...........

1) only step-down d.c. voltage 2) only step-up d.c. voltage

3) step-up or step-down d.c. voltage 4) input d.c. voltage is equal to output d.c. voltage

19) J«mC§S> dm`a Q´mÝg{‘eZ bmBZ H§$S>ŠQ>abm ào[aV ewëH$mnmgyZ, T>Jm§nmgyZ VgoM ...... nmgyZ g§ajU H$aVo.
1) bmBQ>qZJ {S>ñMmO© 2) pñdqMJ {S>ñMmO© 3) darb XmoÝhr 4) darbn¡H$s Zmhr

19) The ground wire shields the transmission line conductor from induced charges, from clouds as

well as from .......

1) Lightning discharge 2) Switching discharge

3) Both of the above 4) None of the above
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20) ŷ{‘JV Ho$~ëg‘Ü ò BboŠQ´moñQ>°{Q>H$ VUmd ........... AgVmo.
1) H§$S>ŠQ>ada VgoM å`mZda eyÝ`
2) H§$S>ŠQ>aÀ`m n¥ð>^mJmda {H$‘mZ Am{U AmdaUmda {H$‘mZ
3) H§$S>ŠQ>aÀ`m n¥ð>^mJmda H$‘mb Am{U AmdaUmda {H$‘mZ
4) H§$S>ŠQ>a n¥ð>^mJ Am{U AmdaU òWo g‘mZ

20) In underground cables the electrostatic stress is ..........

1) Zero at the conductor as well as on the sheath

2) Minimum at the conductor surface and minimum at the sheath

3) Maximum at the conductor surface and minimum at the sheath

4) Same at the conductor surface and sheath

21) Imbrbn¡H$s H$moUË`m VQ>ñW àUmbrgmR>r H$‘rV H$‘r ìhmoëQ>oO aoqQ>JMo bmBqQ>J AaoñQ>a Amdûm`H$ Agob?
1) CîUVmamoYH$ 2) KZ ‘mVr
3) Resistance earthed 4) Reactance earthed

21) Which of the following neutral system will require the lighting arrester of least voltage rating ?

1) Insulated 2) Solidly earthed

3) Resistance earthed 4) Reactance earthed

22) g‘Om 1 KW j‘VoMo gmoba ’$moQ>moìhmoëQ>mB©H$ ‘moS>çyb EH$m {XdgmV 5 ẁ{ZQ> {dÚwV {Z‘m©U H$ê$ eH$Vo. Va EH$m
{XdgmV 1,00,000 ẁ{ZQ> {dÚwV D$Om© {Z{‘©Vr H$aÊ¶mgmR>r ................ j‘VoMo gmoba ‘moS>çyb bmJVrb.
1) 20 MW 2) 2000 KW 3) 200 MW 4) 200 KW

22) Suppose solar photovoltaic module of power 1 kW can generate 5 units of electricity in a day. To

generate electricity of 1,00,000 units in a day, the power of solar modules needed is

1) 20 MW 2) 2000 kW 3) 200 MW 4) 200 KW

23) 110 Amoh‘ amoY Agboë¶m CnH$aUmÀ¶m XmoZ Q>moH$m§‘Ü¶o 33 V {d^dm§Va à¶wº$ Ho$bo AgVm CnH$aUmVyZ H$mhr
{dÚwVYmam dAmhVo. 500 Amoh‘ amoY AgUmè¶m CnH$aUmVyZ VodT>rM {dÚwV Ymam dmhÿ XoÊ¶mgmR>r Ë¶mÀ¶m XmoZ Q>moH$m§‘Ü¶o
{H$Vr {d^dm§Va à¶wº$ H$amdo bmJob ?
1) 726 V 2) 455 V 3) 1500 V 4) 150 V

23) When a potential difference of 33 V is applied to a device whose resistance is 110 Q, some

current flows through it. If the same current is to be passed through a device whose resistance is

500 Q, then how much potential difference is to be applied?

1) 726 V 2) 455 V 3) 1500 V 4) 150 V

24) EH$mM YmVynmgyZ ~Zdboë¶m XmoZ Vmam A Am{U B ¶m§Mr bm§~r 6 … 1 ¶m à‘mUmV Amho. XmoÝhr Vmam EH$ga nÕVrZo
OmoS>bobr AmhoV. XmoZ Vmam§‘Yrb {d^dm§Va AZwH«$‘o 3 V d 2 V Amho. Oa RA Am{U RB AZwH«$‘o A d B Vmam§À¶m

{ÌÁ¶m AgVrb Va  =

1) 1/4 2) 1/2 3) 1/3 4) 1/6
24) Two wires A and B are made of same material and having their lengths in the ratio 6 : 1 are

connected in series. The P.D. across the wires are 3 V and 2 V respectively.

Find , where R
A
 and R

B
 are the radii of the 2 wires.

1) 1/4 2) 1/2 3) 1/3 4) 1/6
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25) Oa nm°da Ho$~b Am{U H$å ẁ{ZHo$eZ Ho$~b g‘m§Va H$m¶©aV R>odm`Mr Agob Va hñVjon ( interference) Q>miÊ`mgmR>r
Ë`m§À`mVrb {H$‘mZ A§Va .......... Agmdo.
1) 2 - 5 go‘r 2) 10 - 12 go‘r 3) 40 - 60 go‘r 4) 100 - 120 go‘r

25) If a power cable and communication cable are to run parallel the minimum distance between

them to avoid interference should be ..........

1) 2 - 5cm 2) 10 - 12cm 3) 40 - 60cm 4) 100 - 120 cm

26) 120 V Am{U 60 W Ago aoQ> Ho$boë`m BbopŠQ´H$ ~ë~‘YyZ dmhUmam {dÚwV² àdmh ...... Amho:
1) 2A 2) 7.2 A 3) 0.5 A 4) 1.5 A

26) The current flowing through an electric bulb rated 120 V, 60 W is :

1) 2A 2) 7.2 A 3) 0.5 A 4) 1.5 A

27) nm°da ñQ>oeZMr H$‘mb ‘mJUr 600 ‘oJmd°Q> Amho. dm{f©H$ ^ma KQ>H$ (load facto) 60% Am{U j‘Vm KQ>H$
(capacity factor ) 45% Amho. Va ßbm§Q>Mr amIrd j‘Vm emoYm.
1) 500 MW 2) 250 MW 3) 200 MW 4) 100 MW

27) A maximum demand on power station is 600 MW. The annual load factor is 60% and capacity

factor is 45%. Find the reserve capacity of the plant.

1) 500 MW 2) 250 MW 3) 200 MW 4) 100 MW

28) g‘mZ H$mQ>N>oX joÌ’$i ( H«$m°g goŠeZ joÌ ) Agboë¶m, 1 go‘r bm§~rÀ`m Vm§ã`mÀ`m VmaoMr à{VamoYH$Vm ρ
1
 Amho Am{U

1000 go‘r bm§~rMr Vm§ã`mMr Vma ρ
2
 Amho, Va :

1) ρ
1
 = ρ

2
2) ρ

1
 > ρ

2
3) ρ

1
 < ρ

2
4) darbn¡H$s H$mhrhr Zmhr

28) Resistivity of 1 cm long copper wire is ρ
1
 and 1000 cm long copper wire is ρ

2
 having same cross

section area, Then :

1) ρ
1
 = ρ

2
2) ρ

1
 > ρ

2
3) ρ

1
 < ρ

2
4) None of the above

29) α
1
 Am{U α

2
 Ago à{VamoY Vmn‘mZ JwUm§H Agbobo$ R

1
Am{U R

2
 ho XmoZ {dÚwVdmhH$ EH$ga ‘m{bHo$V EH$Ì OmoS>bobo

Agë`mg, g‘Vwë` à{VamoY Vmn‘mZ JwUm§H$ ......

1) α
1
 + α

2
2) α1

 + α
2 3) α

1
 - α

2

 4) darbn¡H$s Zmhr
           2

29) If two conductors of resistances R
1
 & R

2
 with resistance temperature coefficients α

1
 & α

2
 are

joined together in series, then the equivalent resistance temperature coefficientis ......

1) α
1
 + α

2
2) α1

 + α
2 3) α

1
 - α

2
4) None of the above

         2

30) 20 µF j‘VoÀ`m H°$no{gQ>a‘Yrb {d^dm§Va ho , 1 goH§$XmV, 0 ìhmoëQ>déZ 240 ìhmoëQ>n¶ªV EH$g‘mZ dmT>{dë¶mg
Mm{OªJ H$a§Q> ......... Agob.
1) 1mA 2) 4.8mA 3) 12mA 4) 9.6mA

30) Potential difference across a capacitor of capacitance of 20 µF is increased uniformly from 0 te

240 V in 1 second. The charging current will be ...........

1) 12mA 2) 4.8mA 3) 12mA 4) 9.6mA
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31) H$m°BbMm B§S>ŠQ>Ýg 2H Amho. H$m°Bb‘Ü ò 2A Mm àdmh AgVmo. dV©‘mZ ‘yë` 3A n ª̀V dmT>dÊ`mgmR>r (Á¶wb‘Ü ò)
{H$Vr H$m¶© H$amdo bmJob?
1) 1 Oyb 2) 4 Oyb 3) 9 Oyb 4) 5 Oyb

31) The inductance of a coil is 2H. The coil is carrying a current of 2A. How much work (in Joule) is

to be done to increase the current value to 3A ?

1) 1Joule 2) 4 Joules 3) 9 Joules 4) 5 Joules

2) Mw§~H$Ëd
1) Imbrbn¡H$s Z¡g{J©H$ Mw§~H$mMo Zm§d H$moUVo Amho ?

1) Vm§~o (H$m°na) 2) {gbrH$m°Z 3) OñV (qPH$) 4) bmoS>ñQ>moZ (Fe
3
O

4
)

1) Which one of the following is a natural magnet?

1) Copper 2) Silicon 3) Zinc 4) Lodestone (Fe3O,4)

2) Imbrbn¡H$s H$embm "ñWm{ZH$ AmH$f©U' Ago åhUVmV?
1) {‘Ìmgmo~V H§$nmg eoAa H$aUo 2) H§$nmgdarb Mw§~H$s` joÌmMm à^md
3) ñQ>oeZÀ`m {XeoZo doJmZo YmdUo 4) darbn¡H$s H$mhrhr Zmhr

2) Which is called as ‘Local Attraction’ from the following ?

1) Sharing compass with friend 2) Effect of magnetic field on compass

3) Running fast towards station 4) None of the above

3) AUw{dkmZ
1) {Xboë¶m AUw {dI§S>Z {H«$¶oV, 1000 J«°. AUw§Mo {dI§S>Z hmoD$Z ........... BVH$s D$Om© V¶ma hmoB©b.

a) 4.3 × 109 {H$bmo H°$bar b) 186 {‘{b¶Z Bbo³Q´>m°Z ìhmoëQ> (MeV)

c) 2 × 107 {H$bmo H°$bar d) 1.83 × 1010 {H$bmo H°$bar
n¶m©¶r CÎmao …
1) ’$º$ (d) 2) ’$º$ (c) 3) ’$º$ (a) Am{U (b) 4) ’$º$ (b) Am{U (d)

1) From 1000 g of by the given nuclear fission process, the amount of energy released is

a) 4.3 × 109 kcal b) 186 million electron volts (MeV)

c) 2 × 107 kcal d) 1.83 × 1010 kcal

Answer Options :

1) Only (d) 2) Only (c) 3) Only (a) and (b) 4) Only (b) and (d)

2) Imbrb n[aH$pënV A{^{H«$¶m nyU© H$am …

a) x = 141, y = 91 b) x = 139, y = 93 c) x = 141, y = 93 d) x = 139, y = 95

n¶m©¶r CÎmao …
1) ’$º$ (b) Am{U (d) 2) ’$º$ (a) Am{U (c)

3) ’$º$ (a) Am{U (b) 4) ’$º$ (c) Am{U (d)
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2) Complete the following hypothetical reaction :

a) x = 141, y = 91 b) x = 139, y = 93 c) x = 141, y = 93 d) x = 139, y = 95

Answer Options :

1) Only (b) and (d) 2) Only (a) and (c) 3) Only (a) and (b) 4) Only (c) and (d)

3) Ý¶w³br¶ ^Å>r‘Ü¶o {Z¶m‘H$ OS> Ob hm H$m dmnabm OmVmo ?
a) Ý¶w³br¶ ^Å>r W§S> H$aÊ¶mgmR>r
b) Ý¶wQ´>m°ZMr D$Om© dmT>{dÊ¶mgmR>r
c) Ý¶wQ´>m°ZMr D$Om© H$‘r hmoD$Z Ë¶mMm doJ ‘§X ìhmdm, Am{U Ë¶mMo àJ«hU ìhmdo åhUyZ
n¶m©¶r CÎmao …
1) ’$º$ (b) 2) ’$º$ (c) 3) ’$º$ (a) 4) (a), (b) Am{U (c)

3) In nuclear reactors, why is moderator (heavy water) used ?

a) To cool the nuclear reactor

b) To enhance the energy of neutrons

c) To reduce the energy and hence the speed of neutron so that it slows down and gets captured

Answer Options :

1) Only (b) 2) Only (c) 3) Only (a) 4) (a), (b) and (c)

4) e¥§Ibm A{^{H«$¶mgmR>r {dI§S>Z hmoUmè¶m nXmWm©Mo gr‘m§V dñVw‘mZ AgUo H$m Amdí¶H$ AgVo ?
a) {dI§S>Z hmoUmè¶m nXmWm©À¶m n¥ð>^mJmdê$Z Ý¶wQ´>m°Z {ZgQy>Z OmÊ¶mgmR>r
b) {dI§S>Z hmoUmè¶m nXmWm©À¶m n¥ð>^mJmdê$Z Ý¶wQ´>m°Z doJdoJù¶m {XeoZo ’o$H$bo OmÊ¶mgmR>r
c) Ý¶wQ´>m°Z nH$S>bo OmD$Z e¥§Ibm A{^{H«$¶m gwê$ hmoD$Z Mmby ahmÊ¶mgmR>r
d) {dI§S>Z hmoUmè¶m nXmWm©À¶m n¥ð>^mJmdê$Z Ý¶wQ´>m°Z namd{V©V hmoÊ¶mgmR>r
n¶m©¶r CÎmao …
1) ’$º$ (d) 2) ’$º$ (a) Am{U (b) 3) ’$º$ (c) Am{U (d) 4) ’$º$ (c)

4) For the chain reaction, why is it necessary to have critical mass ?

a) For neutrons to escape from the surface of the fission material

b) For neutrons to scatter from the surface of the fission material

c) To capture neutrons to start and sustain the fission reaction

d) For neutrons to reflect from the surface of the fission material

Answer Options :

1) Only (d) 2) Only (a) and (b) 3) Only (c) and (d) 4) Only (c)

5) {dI§S>Z à{H«$¶m§‘Ü¶o {Z‘m©U hmoUmè¶m D$O}Mo à‘mU Imbrbn¡H$s H$moUË¶m ~m~rda/~m~tda Adb§~yZ AgVo ?
a) A{^{H«$¶m H$maH$mMo dñVw‘mZ b) CËnmXmMo dñVw‘mZ
c) A{^{H«$¶mH$maH$ Am{U CËnmXmMo dñVw‘mZ d) {dI§S>Zm§À¶m doir H$‘r Pmbobo dñVw‘mZ
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (c) 2) ’$º$ (b)

3) ’$º$ (d) 4) ’$º$ (a) Am{U (d)
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5) In fission processes, the amount of energy released depends on which of the following factor/s ?

a) The mass of the reactant b) The mass of the product

c) The mass of the reactant and product d) The loss in mass during fission

Answer Options :

1) Only (a) and (c) 2) Only (b) 3) Only (d) 4) Only (a) and (d)

6) OS> nmÊ¶mÀ¶m ~m~VrV Imbrbn¡H$s H$moUVo EH$ {dYmZ gË¶ Zmhr ?
1) OS> nmUr ho S>çwQ>o[a`‘ Am°³gmB©S> Amho.
2) Vo Cƒ Xm~mÀ¶m OS> nmUr AUŵ Å>rV, {Z¶§ÌH$ (‘m°S>aoQ>a) d erVbH$ (Hw$b§Q>) åhUyZ dmnabo OmVo.
3) ^maV, OS> nmÊ¶mMm, OJmV gdm©V ‘moR>m CËnmXH$ Amho.
4) ^m^m AUwg§emoYZ H|$Ð (BARC) Mm OS> nmUr {Z{‘©VrV gh^mJ Amho.

6) Which one of the following statements about heavy water is not true ?

1) Heavy water is deuterium oxide.

2) It is used as moderator and coolant in pressurized heavy water reactor.

3) India is the largest producer of heavy water in the world.

4) Bhabha Atomic Research Centre (BARC) is involved in the production of heavy

4)${H$aUmoËgm[aVm
1) {H$aUmoËgmamMm emoY H$moUr bmdbm?

1) ‘mar ³¶war 2) ê$Xa’$moS>© 3) AmB©ZñQ>mB©Z 4) hoÝar ~oŠdoaoc
1) Who discovered radioactivity ?

1) Marie Curie 2) Rutherford 3) Einstein 4) Henry Becquerel

2) ...... À¶m AUyÀ¶m ‘m°S>ob‘Ü¶o, Bbo³Q´>m°ZMm H$moZr¶ g§doJ hm h/2π ¶m n[a‘mUmMm A{d^mÁ¶ JwUH$ Amho.
1) ê$Xa’$moS>© 2) S>mëQ>Z 3) ~moha 4) ’$‘u

2) In .......... Model of an atom, the angular momentum (mvr) of an electron is an integral multiple of

the quantity h/2π.

1) Rutherford’s 2) Dalton’s 3) Bohr’s 4) Fermi’s

3) amoJ {ZXmZmV gm‘mÝ¶V… H$moUVo {H$aUmoËgO©H$ g‘ñWm{ZH$ dmnabo OmVo ?
1) Q>o³Zo{Q>¶‘ - 90 2) AmB©ZñQ>o{Z¶‘ - 253 3) H°${b’$mo{Z©¶‘ - 249 4) ~H}${b¶‘ - 249

3) Which radioactive isotope is commonly used in diagnosis ?

1) Technetium — 99 2) Einsteinium — 253

3) Californium — 249 4) Berkelium — 249

4) {Z §̀{ÌV n[apñWVrV, J°‘m ao{S>EeZMm {H$aUmoËgJu òmoV qH$dm BboŠQ´m°ÝgÀ`mm g§nH$m©V EImÚm CËnmXZ AmUyZ Ë¶mda
Ho$br OmUmar à{H«$¶m åhUOo .......
1) {H$aUmoËgJu 2) OmoZmBqPJ ao{S>EeZ 3) Ba°{S>EeZ 4) AmBgmoW‘©

4) ............... is a treatment of product by exposing it to gamma radiation from radioactive source or

electrons under controlled conditions.

1) Radioactivity 2) Jonizing radiation 3) Irradiation 4) Isotherm
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5) AÞmdarb àmaUm§À¶m à{H«$¶o~m~V Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV ?
a) ¶mMm dmna gmR>dU H$mb‘¶m©Xm dmT>{dÊ¶mgmR>r Am{U {ZOªVwH$sH$aUmgmR>r H$aVmV.
b) ¶m à{H«$¶oV J°‘m {H$aUo d Adaº$ {H$aUo ¶m§gma»¶m Cƒ D$Om©¶wº$ àmaUm§Mm Cn¶moJ hmoVmo.
c) {h à{H«$¶m ~Q>mQ>o d H$m§Xo ¶m§Zm A§Hw$a (H$m|~) ’w$Q>Ê¶mMr j‘Vm jrU H$aVo.
d) ¶m à{H«$¶oV dmnaë¶m OmUmè¶m àmaUmMr ‘mÌm "Jm°g' ¶m EH$H$mV ì¶º$ H$aVmV.
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (c) 2) ’$º$ (a), (b) Am{U (c)

3) (a), (b), (c) Am{U (d) 4) ’$º$ (b), (c) Am{U (d)

5) Which of the following statements are correct regarding radiation processing of food ?

a) It is used for extension of shelf-life and insect disinfestation.

b) The process utilizes energy from high energy radiations such as gamma rays and infrared rays.

c) The process impairs the ability of potato and onion to sprout.

d) Radiation dose used in this process is expressed in units of’Gauss’.

Answer Options :

1) Only (a) and (c) 2) Only (a), (b) and (c)

3) (a), (b), (c) and (d) 4) Only (b), (c) and (d)

6) H¥${f joÌmV, "àmaU V§ÌkmZ' ............. ¶mV ¶moJXmZ XoV Amho.
a) Cƒ CËnÞ XoUmè¶m {~¶mUm§Mm {dH$mg b) IVm§À¶m dmnamMo AZwHy$bV‘Z
c) H$sQ>H$ {Z¶§ÌU d) AÞmMo OVZ
n¶m©¶r CÎmao …
1) ’$º$ (d) 2) (a) Am{U (d) 3) (a), (b) Am{U (d) 4) (a), (b), (c) Am{U (d)

6) In the field of agriculture, ’radiation technology’ is contributing to

a) the development of high yielding crop seeds b) optimizing use of fertilizers

c) pest control d) preservation of food

Answer Options :

1) Only (d) 2) (a) and (d) 3) (a), (b) and (d) 4) (a), (b), (c) and (d)

7) Oa T Am{U 1 ho {H$aUmoËgJu Ý ỳŠbmBS>Mo AY©Am ẁî` Am{U gamgar Am ẁî` H$mbmdYr Agob, Va AY©Am ẁî`mMo
gamgar Am ẁî` H$mbmdYrer JwUmoÎma ...... Amho.

1) T = 0.3% 2) T = 0.693% 3) T = 0.963 4) T = 0.936
 τ     τ      τ       τ

7) If T and 1 be the half life and mean life periods of radioactive nuclide, then the ratio of half life to

mean life period is ......

1) T = 0.3% 2) T = 0.693% 3) T = 0.963 4) T = 0.936
 τ     τ      τ       τ
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(3) IJmobemó d A§Vami {dkmZ
1)  IJmobemó
2) A§Vami {dkmZ
3) CnJ«h ¶§ÌUm d àjonU
4) Xÿag§doXZ
5) OrnrEg d OrAm¶Eg

1) IJmobemó
1) O{‘ZrnmgyZ dmVmdaUmÀ`m {eIamn ª̀V hdoÀ`m ñV§̂ mVrb AmoPmoZMr OmS>r ...... Zo ‘moObr OmVo.

1) nmñH$b ẁ{ZQ> 2) S>m°ãgZ ẁ{ZQ> 3) A±½ñQ´m°‘ ẁ{ZQ> 4) S>o{g~b ẁ{ZQ>
1) The thickness of ozone in a column of air from the ground to the top of atmosphere is measured

in term of ......

1) Pascal unit 2) Dobson unit 3) Angstrom unit 4) Decibel unit

2) namd{V©V hmoUmè`m gm¡a D$O}Mo à‘mU qH$dm òUm`m© gm¡a {H$aUmoËgJm©Mo namdV©Z JwUm§H$ ................ åhUVmV.
1) gỳ ©{H$aU 2) Aë~oS>mo 3) AndV©H$ {ZX}em§H$ 4) darbn¡H$s Zmhr

2) The proportion of incident solar energy that is reflected or the reflection coefficient for incoming

solar radiation is called ................

1) Sunrays 2) Albedo 3) Refractive index 4) None of the above

3) n¥ÏdrÀ¶m dmVmdaUmÀ¶m ...... ^mJmV dmVmdaUmVrb EHy$U hdoÀ¶m gw‘mao 70% ^mJ AgVmo.
1) ñQ´>oQ>mopñ’$¶a 2) ‘ogmopñ’$¶a 3) Wa‘mopñ’$¶a 4) Q´>monmopñ’$¶a

3) The part of the Earth’s atmosphere contains about 70% of the total air in the atmosphere.

1) Stratosphere 2) Mesosphere 3) Thermosphere 4) Troposphere

4) Imbrbn¡H$s H$moUVr nÕV n¥Ïdr Am{U J«h ¶m§À¶m‘Yrb A§Va ‘moOÊ¶mgmR>r dmnaVmV ?
1) n°a°b°³g nÕVr 2) S>m¶ao³Q> {S>ñQ>Ýg ‘mnZ
3) ñbmon Q>°ntJ nÕVr 4) BH$mo nÕVr

4) Which of the following methods is used for measurement of distance between Earth and planets?

1) Parallax method 2) Direct distance measurement

3) Slope tapping method 4) Echo method

5) ........... A§XmOo EH$ {‘{c‘rQ>anojm OmñV Va§JX¡Ü¶© Agboë¶m àmaUm§Mm Aä¶mg H$aVmo.
1) ao{S>Amo IJmobemó 2) Adaº$ IJmobemó
3) Am°pßQ>H$b IJmobemó 4) A{VZrb IJmobemó

5) ............. studies radiation with wavelengths greater than approximately one millimetre.

1) Radio astronomy 2) Infrared astronomy

3) Optical astronomy 4) Ultraviolet astronomy
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6) 1999 gmbr A‘o[aHo$À¶m Zmgm ¶m g§ñWoZo "j'-{H$aU Xw~uU AdH$memV gmoS>br. Ë¶mg Imbrbn¡H$s H$moUË¶m ^maVr¶
d¡km{ZH$mMo Zmd XoÊ¶mV Ambo ?
1) gr. ìhr. a‘U 2) E. nr. Oo. AãXþb H$bm‘
3) {dH«$‘ gmam^mB© 4) gw~«‘Ê`‘ M§ÐeoIa

6) NASA’s ‘X-ray telescope launched in 1999 is named after which of the following Indian Scientists?

1) C.V. Raman 2) APJ. Abdul Kalam

3) Vikram Sarabhai 4) Subrahmanyam Chandrasekhar

7) Zmgm (NASA) Zo OJmVrc gdm©V ‘moR>çm Q>o{cñH$moncm H$moUË¶m ZmdmZo A§VamimV àjo{nV Ho$co ?
1) ’$m¶aqdJ Q>o{cñH$mon 2) c|g H$moa Q>o{cñH$mon 3) E³g ‘moa Q>o{cñH$mon 4) Ooåg do~ Q>o{cñH$mon

7)  NASA recently launched the world's largest telescope by which name?

1) Firewing Telescope 2) Lens Core Telescope

3) X More Telescope 4) James Webb Telescope

8) boga {H$aU n¥Ïdrdê$Z M§ÐmH$S>o gmoS>ë¶mZ§Va M§ÐmÀ¶m n¥ð>^mJmnmgyZ namd{V©V hmoD$Z n¥Ïdrda naV ¶oÊ¶mg 2.56
goH§$X bmJVmV. Va M§ÐmÀ¶m n¥Ïdr^modVrÀ¶m n[a «̂‘U H$joMr {ÌÁ¶m {H$Vr?
1) 7.68 × 108 ‘r. 2) 76.8 × 105 {H$.‘r. 3) 38.4 × 105 {H$.‘r. 4) 3.84 × 108 ‘r.

8) A laser light beamed at the Moon takes 2.56 s to return to earth after reflection at the Moon's

surface. How much is the radius of the lunar orbit around the Earth?

1) 7.68 × 108 m 2) 76.8 × 105 km 3) 38.4 × 105 km 4) 3.84 × 108 m

2) A§Vami {dkmZ
1) ^maVr¶ AdH$me g§emoYZ g§ñWoZo (ISRO) ~«mPrbMm 'A°‘oPm°{Z¶m-1' hm CnJ«h AdH$memV Ho$ìhm gmoS>bm?

1) 12 Am°JñQ> 2021 2) 19 E{àb 2021 3) 28 ’o$~«wdmar 2021 4) 21 ’o$~«wdmar 2021
1) When did the Indian Space Research Organization (ISRO) launch the Brazillian ‘Amazonia - 1’

satellite into space ?

1) 12 August 2021 2) 19 April 2021 3) 28 February 2021 4) 21 February 2021

3) CnJ«h ¶§ÌUm d àjonU
1) ŷpñWa CnJ«h n¥ÏdrnmgyZ gmYmaUnUo {H$Vr C§Mrda pñWa AgVmV ?

1) 1000 {H$.‘r. 2) 36000 {H$.‘r. 3) 3000 {H$.‘r. 4) 100 {H$.‘r.
1) At what approximate height from the Earth, are the geostationary satellites stationed ?

1) 1000 km 2) 36000 km 3) 3000 km 4) 100 km

2) ........... Ûmao Ho$bobo n¥ÏdrMo {ZarjU ‘moR>çm joÌmMo g§jo{nV Ñûm` àXmZ H$aVo.
1) dU©H«$‘r` namdV©Z 2) ‘m`H«$modoìh {d{H$aU
3) CnJ«h ßb°Q>’$m°‘© 4) BÝ’«$maoS> ao{S>EeZ Odi

2) Earth observations from ......... provide synoptic view of a large area.

1) spectral reflectance 2) microwave radiations

3) satellite platforms 4) near infrared radiations
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3) Imbrb OmoS>çm ¶mo½¶àH$mao Owidm :
[a‘moQ> gopÝg§J CnJ«h ‘yi Xoe
A) [agmog© g°Q> i) ^maV
~) ñnm°Q> ii) ’«$mÝg
H$) aS>mag°Q> iii) H°$ZS>m
S>) IKONOS iv) USA

n¶m©¶r CÎmao …
(A) (~) (H$) (S>)

1) (i) (ii) (iv) (iii)

2) (iv) (iii) (ii) (i)

3) (iv) (ii) (iii) (i)

4) (i) (ii) (iii) (iv)

3) Match the pairs :

Remote Sensing satellite Country of Origin

a) Resource sat i) India

b) SPOT ii) France

c) Radarsat iii) Canada

d) IKONOS iv) U.S.A.

Answer options :

(a) (b) (c) (d)

1) (i) (ii) (iv) (iii)

2) (iv) (iii) (ii) (i)

3) (iv) (ii) (iii) (i)

4) (i) (ii) (iii) (iv)

4) Imbrbn¡H$s H$moUVo ì`mdgm{`H$ Cƒ [aPmoë ỳeZ ‘ëQ>rñnoŠQ´b B‘oOar loUrV Zmhr?
1) IKONOS-2 2) IKONOS-3 3) GeoEye-1 4) QuickBird-2

4) Which of the following is not in the category of commercial high resolution multispectral imagery?

1) IKONOS-2 2) IKONOS-3 3) GeoEye-1 4) QuickBird-2

5) Imbrbn¡H$s H$moUË¶m Ajd¥Îmmda ŷpñWa CnJ«h AdH$memV ñWm{nV H$aÊ¶mV ¶oVmo ?
1) {dfwdd¥Îm 2) H$H©$d¥Îm 3) A§Q>m³Q>uH$ d¥Îm 4) Y«wd

5) Over which of the following latitudes is the Geostationary satellite set?

1) The Equator 2) The Tropic of Cancer

3) The Antaretic Circle 4) The Poles

6) BÝg°Q>-3S>r (‘oQ´>mog°Q>) hm ^maVmVrb CnJ«h ...... KQ>H$mer g§~§{YV Amho.
1) {ejU 2) g‘wÐ 3) hdm‘mZ 4) gmYZg§nXm

6) INSAT—8D (Metrosat) is an Indian satellite associated with the ............ component.

1) Education 2) Sea 3) Climate 4) Resource
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4) Xÿag§doXZ
1) {d{dY gm‘m{OH$, Am{W©H$ Am{U n`m©daUr` Mbm§‘Yrb g§~§Ym§Mo {dl²bofU gwb^ H$aÊ`mgmR>r {R>H$mUo qH$dm àXoem§~Ôb

‘m{hVr Am`mo{OV H$aÊ`mgmR>r nÕVeranUo {S>PmBZ Ho$bobo, AdH$mer` AZwH«${‘V Ñï>rH$moZ Amho.
1) GPS 2) GIS 3) RS 4) SPSS

1) Systematically designed, spatially indexed approach for organizing information about places or

regions in order to facilitate analysis of relationships between different social, economic and

environmental variables is .

1) GPS 2) GIS 3) RS 4) SPSS

2) H$moUË¶mhr KQ>H$mÀ¶m qH$dm dñVyÀ¶m àË¶j g§nH$m©V Z ¶oVm Ë¶m g§~§YrMr ‘m{hVr {‘idUo, g§H${cV H$aUo d Ë¶mMo dU©Z
H$aUo ¶m V§Ìmg ............. åhUVmV.
1) ’$moQ>moJ«°‘oQ´>r 2) Xÿa g§doXZ
3) OmJ{VH$ ñWmZ {ZpíMVr (GPS) 4) ^m¡Jmo{bH$ ‘m{hVr àUmbr

2) The science and art of acquiring various information about any object from a distance, without

having any physical contact with the object, is known an

1) Photogrammetry 2) Remote Sensing

3) Global Positioning System 4) Geographic Information System

3) Imbrbn¡H$s H$moUVo Cn¶moOZ ho XÿañW àUmbr Ûmao H$ê$ eH$Vmo ?
a) H¥${f nmUr ì¶dñWmnZ b) nrH$ àUmbr {díbofU
c) ~mJm¶Vr nrH$ joÌ A§XmO Am{U XoIaoI d) nrH$ joÌ Am{U CËnmXZ A§XmO
n¶m©¶r CÎmao …
1) (a), (b) Am{U (c) 2) (b), (c) Am{U (d)

3) (a), (b) Am{U (d) 4) (a), (b), (c) Am{U (d)

3) Which of the following applications can be done using remote sensing technique ?

a) Agricultural water management

b) Cropping system analysis

c) Horticultural crop area estimation and monitoring

d) Crop area estimation and production forecast

Answer Options :

1) (a), (b) and (c) 2) (b), (c) and (d) 3) (a), (b) and (d) 4) (a), (b), (c) and (d)

4) amñQ>a S>oQ>mÀ`m àË òH$ {nŠgobbm dmñV{dH$-OmJ{VH$ {ZX}eH$ qH$dm ^m¡Jmo{bH$ {ZX}eH$ àUmbr {Z ẁº$ H$aÊ`mÀ`m
à{H«$ òbm ................. åhUVmV.
1) [a‘moQ> gopÝg§J 2) {OAmo-ao’$apÝg§J 3) {S>{OQ>m`PoeZ 4) S>oQ>m Q´mÝg’$m°‘}eZ

4) The process of assigning real-world coordinates or geographic coordinate system to each pixel

of the raster data is called ..................

1) Remote sensing 2) Geo-referencing 3) Digitization 4) Data transformation

5) hdmB©{MÌ KoV AgVmZm {d‘mZmÀ¶m WoQ> Imbr O{‘Zrda aofm H$mT>br OmVo {Vbm .......... åhUVmV.
1) O‘rZ aofm 2) Zm{Xa aofm 3) ‘Ü¶ aofm 4) ‘w»¶ aofm

5) The line traced on the ground directly beneath the aircraft during acquisition of photography is

called the

1) Ground Line 2) Nadir Line 3) Centre Line 4) Principal Line
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6) hdmB© N>m¶m{MÌm§Mo narjU H$aVm§Zm OdiOdiÀ¶m hdmB© N>m¶m{MÌmÀ¶m OmoS>rbm ...... åhUVmV.
1) hdmB© N>m¶m{MÌ 2) ñQ>rarAmoñH$mon 3) nmoV 4) ñQ>rarAmoJ«m‘

6) In interpreting the aerial photograph, the pair of adjacent aerial photographs is called ......

1) Aerial photograph 2) Stereascope 3) Texture 4) Stereogram

7) [a‘moQ> gopÝg§J ........ ‘Ü ò ‘hËdmMr ŷ{‘H$m (‘w»` ŷ{‘H$m) ~OmdVo.
A) O‘rZ Am{U ObòmoVm§Mo ‘yë`m§H$Z.
~) ŷOb ApñVËdmV Agbobo joÌ.
H$) nrH$ H$sQ>H$ Am{U amoJm§Mm àmXŵ m©d Am{U àgma `m§Mo {ZarjU H$aUo.
S>) O§JbmÀ`m AmÀN>mXZmMm A§XmO Am{U nrH$ CËnÞmMo ‘yë`m§H$Z.
darbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV/AmhoV?
1) A ’$º$ 2) A Am{U ~ ’$º$ 3) A, ~ Am{U H$ ’$º$ 4) A, ~, H$ Am{U S>

7) Remote sensing plays an important role (pivotal role) in ......

a) assessing the land and water resources.

b) areas of groundwater existence. .

c) monitoring the outbreak and spread of crop pests and diseases.

d) estimation of forest cover and assessing crop yields.

Which of the statements given above is/are correct ?

1) a only 2) a and b only 3) a, b and c only 4) a, b, c and d

8) [a‘moQ> gopÝg§J‘Ü ò a|O gìh}‘Ü ò Imbrbn¡H$s H$moUVo bmJy Zmhr?
1) dhZ j‘Vm 2) nmÊ`mMo ñWmZ 3) nrH$mVrb Omo‘ 4) dÝ`Ord `mXr

8) In Remote Sensing which of following is not applicable in range survey ?

1) Carrying capacity 2) Location of water 3) Crop vigour 4) Wildlife inventory

9) [a‘moQ> gopÝg§J, ̂ m¡Jmo{bH$ ‘m{hVr àUmbr Am{U ½bmo~b nmo{PeqZJ {gñQ>r‘ hr gd© e{º$embr V§ÌkmZo AmhoV Or emídV
eoVrbm ............. ñ‘mQ>© nÕVrZo dmT>dVmV.
1) AmYw{ZH$ eoVr 2) emídVVm 3) AMyH$ eoVr 4) H$‘r IMm©Mo V§ÌkmZ

9) Remote Sensing, Geographical Information System and Global Positioning System are all such

powerful technologies which enhance sustainable agriculture towards ............... in a smart way.

1) modern agriculture 2) sustainability

3) precision farming 4) low cost technology

10) H¥$fr gd}jUm§‘Ü ò [a‘moQ> gopÝg§JÀ`m {d{eï> dmnamMo joÌ ........ AmhoV.
A) nrH$ gd}jU ~) loUr gd}jU H$) newYZ gd}jU S>) ‘mVr gd}jU
darbn¡H$s H$moUVo n`m©̀  `mo½` AmhoV/AmhoV?
1) A ’$º$ 2) ~ ’$º$ 3) A, ~ Am{U H$ ’$º$ 4) A, ~, H$ Am{U S>

10) Areas of specific application of Remote Sensing in agricultural surveys are ........

a) Crop surveys b) Range surveys c) Livestock surveys d) Soil surveys

Which of the options given above is/are correct ?

1) a only 2) b only 3) a, b and c only 4) a, b, c and d
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5) OrnrEg d OrAm¶Eg
1) .......... hr EH$ CnJ«h Am{U J«mC§S>-AmYm[aV ao{S>Amo ZopìhJoeZ Am{U bmoHo$eZb {gñQ>r‘ Amho Or dmnaH$Ë`m©bm

n¥ÏdrÀ`m n¥ð>^mJmda A{Ve` AMyH$ ñWmZo {ZYm©[aV H$aÊ`mg gj‘ H$aVo.
1) ^m¡Jmo{bH$ ‘m{hVr àUmbr 2) ½bmo~b nmo{PeqZJ {gñQ>‘
3) [a‘moQ> gopÝg§J 4) aS>ma

1) ................ is a satellite and ground-based radio navigation and locational system that enables the

user to determine very accurate locations on the surface of the earth.

1) Geographical information system 2) Global positioning system

3) Remote sensing 4) Radar

2) OrnrEg ............ Zo ~ZVo.
i) nmÊ`mMm I§S> ii) hdm I§S> iii) AdH$me I§S> iv) ̂ yI§S>
v) dmnaH$Vm© {d^mJ
n¶m©¶r CÎmao …
1) (i), (ii) Am{U (v) 2) (ii), (v) Am{U (v) 3) (i), (iv) Am{U (ii) 4) (iii), (iv) Am{U (v)

2) GPS constitutes of ................

i) water segment i) air segment ii) space segment iv) ground segment

v) user segment:

Answer options :

1) (i), (ii), and (v) 2) (ii), (v), and (v) 3) (i), (iv), and (ii) 4) (iii), (iv), and (v)

3) ^m¡Jmo{bH$ ‘m{hVr àUmbr (Or.Am¶.Eg.) ‘Ü¶o Imbrbn¡H$s H$moUË¶m KQ>H$m§Mm g‘mdoe hmoVmo ?
a) {S>{OQ>b S>oQ>m b) g§JUH$ hmS>©doAa c) g§JUH$ gm°âQ>doAa d) darbn¡H$s gd©
n¶m©¶r CÎmao …
1) (d) ¶mo½¶ Amho. 2) (a) Am{U (b) ¶mo½¶ AmhoV.
3) (b) Am{U (c) ¶mo½¶ AmhoV. 4) (a) Am{U (c) ¶mo½¶ AmhoV.

3) Geographic Information System (GIS) consists of

a) Digital data b) Computer hardware

c) Computer software d) All of the above

Answer Options :

1) (d) is correct 2) (a) and (b) are correct

3) (b) and (c) are correct 4) (a) and (c) are correct

4) n¥ÏdrVimdaVr ApñVËdmV AgUmè¶m ~m~r Am{U Á¶m KQ>Zm KS>V AmhoV Ë¶mMo g§JUrH¥$V gmYZmÛmao aoIm§H$Z Am{U
{díbofU Ho$bo OmVo Ë¶mg ........... Ago g§~moYVmV.
1) ^m¡Jmo{bH$ {ZX}em§H$ (g‘Ýd¶H$) 2) ^m¡Jmo{bH$ ‘m{hVr ì¶dñWm
3) ^m¡Jmo{bH$ g§X ©̂ 4) ^m¡Jmo{bH$ {dñV¥V gm‘J«r

4) ............. is a computer based tool for snapping and analysing things that exist and events that

happen on the Earth.

1) Geographic coordinates 2) Geographic information system

3) Geographic reference 4) Geographic database
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5) H$‘rVH$‘r 4 {d{eï> CnJ«hm§Ûmao {‘iUmè¶m ao{S>Amo g§Xoem§Mo [a{gìhg©Ûmao J«hU H$ê$Z ñWmZ {ZpíMVr H$aUmè¶m
àUmbrbm ............ åhUVmV.
1) [aAb Q>mB©‘ ZopìhJoeZ àUmbr 2) OmJ{VH$ pñWVr àUmbr
3) OmJ{VH$ ‘m{hVr àUmbr 4) OmJ{VH$ àmogoga àUmbr

5) A location finding system which uses radio receivers to pick up signals from minimum 4 special

satellites is called

1) Real Time Navigation System 2) Global Positioning System

3) Global Information System 4) Global Processor System

6) Cƒ [aPmoë ỳeZ g°Q>obmBQ> B‘oO B§Q>a{àQ>oeZgmR>r lò ñH$a Q>monmoJ«m{’$H$b ZH$memMo ñHo$b Amho:
1) 1 : 50,000 Vo 1 : 11,50,000 2) 1 : 50,000 Vo 1 : 2,00,000
3) 1 : 50,000 Vo 1 : 250,000 4) 1 : 50,000 Vo 1 : 3,00,000

6) The preferable topographical map for higher Resolution Satellite image interpretation has a scale

of :

1) 1 : 50,000 to 1 : 11,50,000 2) 1 : 50,000 to 1 : 2,00,000

3) 1 : 50,000 to 1 : 250,000 4) 1 : 50,000 to 1 : 3,00,000

7) Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho ?
1) Omir gm§p»¶H$s à{V‘mZmV ‘yb ŷV aMZmI§S> ho ñdV§Ì Omio AgVo.
2) g{Xe gm§p»¶H$s¶ à{V‘mZmV ‘yb ŷV aMZmI§S> ho ñdV§Ì Omio AgVo.
3) g{Xe gm§p»¶H$s¶ à{V‘mZmV {ZpíMV gr‘m Xe©{dVm ¶oVmV.
4) Omir gm§p»¶H$s¶ à{V‘mZmV ñWmZm§Mr pñWVr ñnï> Xe©{dVm ¶oVo.

7) State which of the following statements is true?

1) In the raster data model, the basic building block is the individual cell.

2) In the vector data model, the basic building block is the individual cell.

3) In the vector data model, well-defined boundaries are represented.

4) In the vector data model, locations are well represented.
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(4) AmdV© gmaUr - ‘ybÐì¶o, YmVy Am{U AYmVy
1) AmdV© gmaUr
2) AUwaMZm d aoUy
3) ‘ybÐì¶o
4) YmVy Am{U AYmVy
5) {‘lUo

1) AmdV© gmaUr
1) AmdV© gmaUrdarb H$mbI§S>mV S>mdrH$Sy>Z COdrH$S>o OmVmZm Imbrb Jmoï>t‘Ü ò KQ> hmoVo :

1) àW‘ Am`ZrH$aU D$Om© 2) na‘mUw MmO©
3) {dÚwV F$UmË‘H$Vm 4) YmVy JwUY‘©

1) As you go from left to right across a Period on the periodic table there is decrease in :

1) First ionization energy 2) Nuclear charge

3) Electronegativity 4) Metallic character

2) Imbrbn¡H$s H$moU Aï>H$mMm {Z¶‘ nmiV Zmhr ?
1) BeCI2 2) PCI

3
3) BCI

3
4) darbn¡H$s gd©

2) Which of the following does not obey octet rule ?

1) BeCI2 2) PCI
3

3) BCI
3

4) All of the above

3) ...... ¶m ‘ybÐì¶m§Mm g§M S-ñV§̂ mV ‘moS>Vmo.
1) Ca, Ba, Ra, Ta 2) Ca, Ba, Ra, Pa 3) Be, Re, Ge, Se 4) Na, Ca, Ba, Ra

3) The set of the elements belonging to S-block is .........

1) Ca, Ba, Ra, Ta 2) Ca, Ba, Ra, Pa 3) Be, Re, Ge, Se 4) Na, Ca, Ba, Ra

2) AUwaMZm d aoUy
1) ""EH$mM doir Bbo³Q´>m°ZMo AMyH$ ñWmZ Am{U AMyH$ g§doJ {ZpíMV H$aUo Ae³¶ Amho.'' ho H$moUr gwM{dbo ?

1) ñH«$m°qS>Oa 2) hm¶goZ~J© 3) S>r ~«moJmocr 4) ‘°³g ßb±H$
1) "It is impossible to determine simultaneously, the exact position and exact momentum of an

electron." Who proposed this ?

1) Schrédinger 2) Heisenberg 3) de Broglie 4) Max Planck

2) AZwH«$‘o Cu Am{U Cu+1 Mo `mo½` BboŠQ´m°{ZH$ H$m°pÝ’$JaoeZ ...... AmhoV.
1) 3d10, 450; 3d9, 4s0 2) 3d9, 4s1 ; 3d9, 4s0

3) 3d10, 4s1; 3d10, 4s0 4) 3d8, 4s1; 3d10, 4s0

2) The correct Electronic configuration of Cu and Cu+1, respectively are ......

1) 3d10, 450; 3d9, 4s0 2) 3d9, 4s1 ; 3d9, 4s0

3) 3d10, 4s1; 3d10, 4s0 4) 3d8, 4s1; 3d10, 4s0



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … gm‘mÝ` {dkmZ  / 63

For Private Circulation Only

3) ’$m°ñ’$ag noÝQ>m°ŠbmoamB©S>Mm aoUy ........... g§H$aUmZo V¶ma hmoVmo.
1) sp2d 2) sp2d2 3) sp3d2 4) sp3d

3) Phosphorous pentachloride formed by ...... hybridisation.

1) sp2d 2) spa 3) sp3d2 4) sp3d

4) Oa g§¶wOm H$joV EH$M BboŠQ´>m°Z AgUmè¶m ‘ycÐì`mV ¹$m§Q>‘ H«$‘m§H$m§Mm g§M : n = 2, l = 0, m = 0, s = + 1/2

Agob Va Vo ‘ycÐì` ........ Agob.
1) {b{W¶‘ 2) ~o[a{b¶‘ 3) ~moam°Z 4) hm¶S´>moOZ

4) If the valence shell of an element has only one electron having the following set of quantu numbers

: n = 2, l = 0, m = 0, s = + 1 /2 , then the element is ......

1) Lithium 2) Beryllium 3) Boron 4) Hydrogen

5) Aë’$m j¶m‘Ü¶o ApñWa Ý¶yp³bAg, Aë’$m H$U CËg{O©V H$aVmo, Á¶m‘wio Ë¶mMo àmoQ>m°Z Am{U Ý¶yQ´>m°Z ...... Zo H$‘r
hmoVo?
1) àmoQ>m°Z 2 Zo Am{U Ý¶yQ´>m°Z 2 Zo 2) àmoQ>m°Z 1 Zo Am{U Ý¶yQ´>m°Z 2 Zo
3) àmoQ>m°Z 2 Zo Am{U Ý¶yQ´>m°Z 1 Zo 2) àmoQ>m°Z 1 Zo Am{U Ý¶yQ´>m°Z 1 Zo

5) In alpha decay, the unstable nucleus emits an alpha particle reducing its proton and neutron by :

1) Z by 2 and N by 2 2) Z by 1 and N by 2

3) Z by 2 and N by 1 4) Z by 1 and N by 1

6) Imbrbn¡H$s H$moUË¶m AUy‘Ü¶o Ý¶yQ´>m°Z ZgVmo ?
1) S>çwQ>o[a`‘ 2) hm¶S´>moOZ 3) {Q´{Q>`‘ 4) ho{b¶‘

6) Which atom does not contain neutron ?

1) Deuterium 2) Hydrogen 3) Tritium 4) Helium

7) Imbrb {dYmZo nhm …
a) AUy hm {dÚwV^maÑîQ>çm CXmgrZ AgVmo.
b) H|$ÐH$m^modVr {’$aUmè¶m gd© Bbo³Q´>m°ZMm F$U {dÚwV^ma d H|$ÐH$mdarb F$U ^ma g‘mZ AgVmo.
n¶m©¶r CÎmao …
1) XmoÝhr MyH$ 2) XmoÝhr ~amo~a 3) (a) ~amo~a, (b) MyH$ 4) (a) MyH$, (b) ~amo~a

7) Consider the following statements :

a) An atom is electrically neutral.

b) The negative charge on nucleus is equal to the total negative charge of all the orbiting electrons.

Answer Options :

1) Both are incorrect 2) Both are correct

3) (a) correct, (b) incorrect 4) (a) incorrect, (b) correct

8) H°$pëeA‘ Am°³gmB©S> (CaO) Mr ñQ>o~c Am°³Q>oQ> {‘i{dÊ¶mgmR>r :
1) H°$pëe¶‘À¶m AUy H$Sy>Z XmoZ Bco³Q´>m°Z Am°pŠgOZÀ`m AUyg OmVrc
2) H°$pëe¶‘À¶m AUy H$Sy>Z EH$ Bco³Q´>m°Z Am°pŠgOZÀ`m AUyg OmVrc
3) Am°pŠgOZÀ`m AUy H$Sy>Z XmoZ Bco³Q´>m°Z H°$pëe¶‘À¶m AUyg OmVrc
4) Am°pŠgOZÀ`m AUy H$Sy>Z EH$ Bco³Q´>m°Z H°$pëe¶‘À¶m AUyg OmVrc
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8) In CaO, so as to achieve the stable octate :

1) Ca atom transfer its two valence electrons to the same oxygen atom.

2) Ca atom transfer its one valence electron to the same oxygen atom.

3) Oxygen atom transfer its two valence electronics to the same calcium atom

4) Oxygen atom transfer its one valence electron to the same calcium atom

9) {Q´>Q>r¶‘Mm AUwH«$‘m§H$ ...... Amho.
1) 03 2) 04 3) 02 4) 01

9) An atomic number of Tritium is……

1) 03 2) 04 3) 02 4) 01

10) 0.025 Bbo³Q´>m°Z ìhmoëQ> D$Om© Agbobm Ý¶yQ´>m°Z åhUOo -
1) Am¡pîUH$ Ý¶yQ´>m°Z 2) E{nW‘©b Ý¶yQ´>m°Z 3) doJdmZ Ý¶yQ´>m°Z 4) ‘§X Ý¶yQ´>m°Z

10) A neutron having energy of 0.025 eV is a/an ........

1) Thermal neutron 2) Epithermal neutron

3) Fast neutron 4) Slow neutron

11) ............ ¶m‘Ü¶o gJù¶mV OmñV aoUy AgVrb.
[H = 1, C = 12, O = 16, I = 127]

1) 250 J«°‘ Am¶moS>rZ ñ’${Q>H$ 2) 22 J«°‘ H$m~©Z S>m¶Am°³gmBS>
3) 45 J«°‘ nmUr 4) 10 J«°‘ hm¶S´>moOZ dm¶y

11) The maximum number of molecules are present in

[H = 1, C = 12, O = 16, I = 127]

1) 250 g of iodine crystals 2) 22 g of carbon dioxide

3) 45 g of water 4) 10g of hydrogen gas

12) Imbrbn¡H$s MwH$sMo {dYmZ {ZdS>m.
1) aoUy‘Yrb ~m±qS>J H$jm ¶m AUy H$ú¶m§À¶m ~oaOoÀ¶m à^mdmZo V¶ma hmoVmV.
2) ~m±qS>J aoUy H$jo‘Ü¶o XmoZ H|$ÐH$m§‘Yrb ^mJmV Bbo³Q´>m°Z KZVm ’$ma H$‘r AgVo.
3) EH$Ì ¶oUmè¶m AUyH$jm§nojm A±{Q>~m±qS>J aoUy H$joMr D$Om© hr OmñV AgVo.
4) σ*, π*, δ*, BË¶mXr {MÝhm§Zr A±{Q>~m±qS>J aoUy H$jm Xe©{dë¶m OmVmV.

12) Choose the incorrect answer :

1) Bonding molecular orbitals are formed by the additive effect of the atomic orbitals.

2) The electron density in the internuclear region in bonding molecular orbital is very low.

3) anerey of the antibonding molecular orbital is higher than that of the combining atomié orDitals

4) Antibonding molecular orbitals are represented by σ*, π*, δ*, etc.

13) ....... À¶m aoUw‘Ü¶o n[aUm‘r {ÛY«wd AnyU© hm .......... Am{U ............ AUwÀ¶m/AUw§À¶m {Xeobm AgVmo.
1) H$‘r, Zm¶Q´>moOZ 2) OmñV, âbw[aZ 3) OmñV, Zm¶Q´>moOZ 4) H$‘r, âbw[aZ

13) The resultant dipole moment in NF
3
 molecule is ...... and in the direction of ...... atom/s.

1) low, nitrogen 2) high, fluorine 3) high, nitrogen 4) low, fluorine
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14) {hè¶m‘Ü¶o H$m~©ZMm EH$ AUy hm H$m~©ZÀ¶m BVa AUy§Zr ........... aMZoV Koabobm AgVmo.
1) gaiaofm 2) MVw…fn¥ð>r¶ 3) MVw…fH$moZr¶ 4) Aï>H$moZ H¥$Vr

14) In a diamond, each carbon atom is surrounded by other carbon atoms.

1) linearly 2) tetrahedrally 3) tetragonally 4) octahedrally

15) {Xboë¶m g§¶wOm H$joVrb Bbo³Q´>m°ZÀ¶m OmoS>çm§‘Yrb - CXm. {d‘wº$ OmoS>r - {d‘wº$ OmoS>r ({d.Omo. - {d.Omo.); ~§{YV
OmoS>r - ~§{YV OmoS>r (~§.Omo. - ~§.Omo.) d {d‘wº$ OmoS>r - ~§{YV OmoS>r ({d.Omo. - ~§.Omo.) {dÚwVpñW{VH$ à{VH$f©U
...... Ago H$‘r hmoV OmVo.
1) {d.Omo. - {d.Omo. < {d.Omo. - ~§.Omo. < ~§.Omo. - ~§.Omo.
2) {d.Omo. - {d.Omo. > {d.Omo. - ~§.Omo. > ~§.Omo. - ~§.Omo.
3) ~§.Omo. - ~§.Omo. < {d.Omo. - {d.Omo. < {d.Omo. - ~§.Omo.
4) {d.Omo. - ~§.Omo. > ~§.Omo. - ~§.Omo. > {d.Omo. - {d.Omo.

15) The electrostatic repulsion between electron pairs such as lone pair — lone pair (1p. — Lp.),

bond pair — bond pair (b.p. — b.p.) and lone pair — bond pair (1.p. — b.p.) in a given valence

shell decreases in the order of

1) Lp.-ip. <p. —b.p. < b.p.—b.p.

2) lp.-Lp. > lp. —b.p. > b.p. — b.p.

3) bp.—b.p. <Lp.—lp. < Lp. +b.p.

4) Lp.—b.p.>b.p.-—b.p. > Lp. —Lp.

16) n[a «̂‘U ¹$m§Q>‘ H«$‘m§H$ 'l' .... Agob, Va Ë¶m g~-eob ‘Yrb Bbo³Q´>m°Ýg Mr H$‘mb g§»¶m ......... AgVo.
1) 2t+1 2) 2[22 + 1] 3) 2[2 +1] 4) l + 1

16) The maximum number of electrons in any subshell with orbital quantum number 7 is .

1) 2t+1 2) 2[22 + 1] 3) 2[2 +1] 4) l + 1

17) Imbrbn¡H$s H$moUË¶m ¹$m§Q>‘ A§H$m§À¶m g§M Ae³¶ Amho ?

1) n = 1, l = 0, m = 0, s = + 1 . 22) n = 4, l = 0, m = 3, s = - 1 .

 2)  2

3) n = 1, l = 1, m = 0, s = - 1 . 24) n = 3, l = 2, m = 2, s = + 1 .

 2)  2

17) Which of the following set of quantum numbers is not possible?

1) n = 1, l = 0, m = 0, s = +   1 . 22) n = 4, l = 0, m = 3, s = -   1 .

          2)         2

3) n = 1, l = 1, m = 0, s = -   1 . 24) n = 3, l = 2, m = 2, s = +   1 .

       2)           2

3) ‘ybÐì¶o
1) hm¶S´>moOZ AUyMr Am¶moZm¶PoeZ D$Om© {H$Vr AgVo?

1) 786 eV 2) 13.6 eV 3) 0 eV 4) 1 MeV

1) How much is the ionisation energy of the Hydrogen atom ?

1) 786 eV 2) 13.6 eV 3) 0 eV 4) 1 MeV
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2) Ðì¶‘mZ 1 ¶w À¶m D$O}Mr g‘Vwë¶ ...... Amho.
1) 911 ‘oJm Bbo³Q´>m°Z ìhmoëQ> 2) 921 ‘oJm Bbo³Q´>m°Z ìhmoëQ>
3) 931 ‘oJm Bbo³Q´>m°Z ìhmoëQ> 4) 941 ‘oJm Bbo³Q´>m°Z ìhmoëQ>

2) Energy equivalent of mass 1 u is

1) 911 MeV 2) 921 MeV 3) 931 MeV 4) 941 MeV

3) H$moUmMr Am¶ZZ D$Om© (IE) gdm©V OmñV Amho ?
1)  Mg 2) Mg 3) Mg 4) darcn¡H$s gd©

3) Which has maximum Ionization Energy ?

1)  Mg 2) Mg 3) Mg 4) All of the above

4) ‘moR>çm Am§Va AmpÊdH$ A§Vam‘wio Am{U `mÑpÀN>H$ AmpÊdH$ JVr‘wio, dm ỳ§Mr W‘©b MmbH$Vm gm‘mÝ`V… KZ nXmWmªÀ¶m
MmbH$Vo .............. AgVo.
1) nojm bhmZ 2) nojm ‘moR>o 3) g‘mZ 4) darbn¡H$s H$mhrhr Zmhr

4) Due to larger intermolecular spacing and random molecular motion, the thermal conductivity of

gases is generally ............. that of the solids.

1) smaller than 2) larger than 3) equal to 4) None of the above

5) A°ìhmoJmS´moÀ`m J¥hrVH$mZwgma........
1) H$moUË`mhr dm ỳÀ`m 1 ‘mobMr ‘mÌm hr BVa H$moUË`mhr dm ỳÀ`m KZ’$imEdT>r AgVo Ooìhm dm ỳ g‘mZ Vmn‘mZ Am{U

Xm~mda AgVmV.
2) H$moUË`mhr dm ỳÀ`m EH$m VrimMo dOZ BVa H$moUË`mhr dm ỳÀ`m dOZmBVHo$ AgVo.
3) 1 {H$bmo J°gMo AmH$ma‘mZ ho BVa H$moUË¶mhr 1 {H$bmo dm¶yÀ¶m AmH$ma‘mZ BVHo$ AgVo.
4) darbn¡H$s Zmhr

5) According to Avogadro's hypothesis ........

1) the volume of 1 mole of any gas is same as the volume of any other gas when the gases are at

same temperature and pressure.

2) the weight of one mole of any gas is same as the weight of any other gas.

3) the volume of 1 kg of gas is same as volume of any other 1 kg of gas.

4) None of the above

4) YmVy Am{U AYmVy
1) AmJnoQ>rÀ¶m ~mOydarc nÅ>rda ............. nXmW© dmnabm OmVmo.

1) nmoQ>°{e¶‘ ³bmoaoQ> 2) A±{Q>‘Zr gë’$mB©S> 3) bmb ’$m°ñ’$ag 4) {ndim ’$m°ñ’$ag
1) Substance ...... is used on the side of safety match box.

1) Potassium chlorate 2) Antimony suiphide 3) Red phosphorus 4) Yellow phosphorus

2) Imbrbn¡H$s H$moU H$m~©ZMm AnY‘u Zmhr ?
1) J«°’$mBQ> 2) J«m{’$Z 3) ’w$boarZ 4) H$moUVmhr Zmhr

2) Which of the following is not an allotrope of carbon ?

1) Graphi 2) Graphene 3) Fullerene 4) None
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3) Imcrc {Xcoë¶m {dYmZmn¡H$s H$moUVr {dYmZo ~amo~a AmhoV ?
a) {ham {dÚwV Xþdm©hH$ Amho.
b) J«°’$mBQ> ‘Ü¶o {Û{‘Vr¶ nÌH$mgmaIr g§aMZm AgVo.
c) J«°’$mBQ> {dÚwV dmhH$ Amho.
d) IS>H$mcm ^moH$ nmS>m¶cm {ham dmnaVmV
n¶m©¶r CÎmao :
1) darc gd© 2) ’$º$ (a),(b),(c) 3) ’$º$ (a),(b) 4) ’$º$ (b),(c)

3) Which of the following statements are correct ?

a) Diamond is a non-conductor of electricity.

b) Graphite has a to dimensional sheet like structure.

c) Graphite conducts electricity.

d) Diamond is used for rock drilling.

Answer Option :

1) All of the above 2) Only (a),(b),(c) 3) Only (a),(b) 4) Only (b),(c)

4) B§H$moZob (Inconel) EH$ {‘lYmVy Amho -
1) {ZHo$b, H«$mo{‘`‘ d bmoh 2) {ZHo$b Am{U Vm§~o
3) {ZHo$b Am{U H$Wrb 4) {ZHo$b Am{U OñV

4) Inconel is an alloy of -

1) Nickel, chromium and iron 2) Nickel and copper

3) Nickel and tin 4) Nickel and zinc

5) {nVi Am{U H$m§ñ` Ûmao doëS>oS> Ho$bo OmVmV -
1) VQ>ñW Á`moV 2) Á`moV H$‘r H$aUmar 3) Am°pŠgS>m`qPJ Á`moV 4) darbn¡H$s H$mhrhr Zmhr

5) Brass and bronze are welded by -

1) neutral flame 2) reducing flame 3) oxidising flame 4) None of the above

6) nabmBQ>Mo {‘lU Amho -
1) ’o$amBQ> Am{U {g‘|Q>mBQ> 2) Am°ñQ>oZmBQ> Am{U {g‘|Q>mBQ>
3) {g‘|Q>mBQ> Am{U boS>oã ẁamBQ 4) boS>oã ẁamBQ> Am{U ’o$amBQ>

6) Pearlite is a mixture of -

1) ferrite and cementite2) austenite and cementite

3) cementite and ledeburite 4) ledeburite and-ferrite

7) Oa H$mñQ> Am`Z©‘Ü ò H$m~©Z ~hþVoH$ ‘wº$ AdñWoV Agob Va Ë`mbm ........ åhUyZ AmoiIbo OmVo.
1) ìhmB©Q>H$mpñQ>am°Z 2) amImS>r H$mñQ> bmoh 3) {dVibobo H$mñQ> bmoh 4) darbn¡H$s H$moUVohr Zmhr

7)  If carbon present in cast iron is mostly in the free state, it is known as ........

1) whitecastiron 2) grey cast iron 3) molten cast iron 4) None of the above

8) nm§T>è`m H$mñQ> Am`Z©Mo M‘H$Xma qH$dm nm§T>ao ñdê$n ........ À`m CnpñWVr‘wio hmoVo.
1) {g‘|Q>mBQ> 2) boS>oã ẁamBQ> 3) ‘mQ>}ÝgmBQ> 4) nabmBQ>

8) The bright or white appearance of white cast iron is due to the presence of ........

1) cementite 2) ledeburite 3) martensite 4) pearlite
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9) Imbrbn¡H$s H$moUË`m H$qQ>J Qy>b ‘Q>o[a`b‘Ü ò OmñV H$S>H$nUm Amho?
1) {‘lYmVyMo ñQ>rb 2) HSS 3) Q>§JñQ>Z H$m~m©BS> 4) S>m`‘§S>

9) Which one of the following cutting tool materials have higher hardness ?

1) Alloy steel 2) HSS 3) Tungsten carbide 4) Diamond

10) Imbrbn¡H$s H$moUVo {dYmZ MwH$sMo Amho?
1) YmVyÀ`m n¥ð>^mJmMr CËgO©Zj‘Vm gm‘mÝ`V… bhmZ AgVo.
2) dmT>Ë`m Vmn‘mZmgh H§$S>ŠQ>aMr CËgO©Z H$‘r hmoVo.
3) Am°ŠgmB©S>À`m Wam§À`m CnpñWVr‘wio YmVyÀ`m n¥ð>^mJmÀ`m CËgO©ZmV bjUr` dmT> hmoD$ eH$Vo.
4) darb gd©

10) Which of the following statements is incorrect ?

1) Emissivity of metallic surfaces is generaily small.

2) Emissivity of conductors decreases with increasing temperature.

3) The presence of oxide layers may significantly increase the emissivity of metallic surfaces.

4) All of the above

11) dm°Q>a Hy$ëS> H§$S>oÝgagmR>r Imbrbn¡H$s H$moUVo Q> ỳq~J ‘oQ>b/Eg Agy eH$VmV?
1) Vm§~o 2) ñQ>oZbog ñQ>rb 3) H$àmo{ZHo$b 4) darb gd©

11) Which of the following can be tubing metal/s for water cooled condensers ?

1) Copper 2) Stainless steel 3) Cupronickel 4) All of the above

12) Imbrbn¡H$s H$moUVo ‘ycÐì` OnmZ ‘Yrb {‘Zm‘mQ>m ¶m amoJmgmR>r H$maUr ŷV hmoVo ?
1) Au 2) Pt 3) Ag 4) Hg

12) Which of the following element was Tesponsible for Minamata epidemic caused in Japan ?

1) Au 2) Pt 3) Ag 4) Hg

13) H$m°ÝQ´mñQ> ao{S>AmoJ«m’$s‘Ü ò dmnaë`m OmUmè`m nm°{P{Q>ìh H$m°ÝQ´mñQ> ‘r{S>`mMo CXmhaU .........
1) hdm 2) Am°pŠgOZ 3) ~o[a`‘ 4) darbn¡H$s H$mhrhr Zmhr

13) The example of positive contrast media used in contrast radiography is ........

1) Air 2) Oxygen 3) Barium 4) None of the above

14) ...... ho A°ë¶w{‘{Z¶‘Mo EH$ ‘hÎdmMo YmVwH$ Amho.
1) hbmBQ> 2) {H«$AmobmBQ> 3) nm¶amoë¶wgmBQ> 4) MmbH$mogmBQ>

14) .......... is an important ore of aluminium.

1) Halite 2) Cryolite 3) Pyrolusite 4) Chalcocite

15) Imbrbn¡H$s H$moUË¶m YmVyMo {ZîH$f©U Ë¶mÀ¶m jmamÀ¶m nmÊ¶mVrb ÐmdUmnmgyZ H$aVm ¶oV Zmhr?
1) K 2) Cu 3) Ag 4) Au

15) Which of the followin9 metal cannot be extracted from aqueous solution of its salt ?

1) K 2) Cu 3) Ag 4) Au
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16) ...... {‘l YmVyMo, Cƒ gm‘Ï¶© Vo dOZ JwUmoÎma àm‘w»¶mZo {d‘mZ Am{U Am°Q>mo‘mo~mB©b CÚmoJm§‘Ü¶o dmna H$aÊ¶mMr
{e’$mag H$aVmV.
1) hb³¶m pñQ>bÀ¶m 2) hb³¶m {Q>Q>±{ZA‘À¶m 3) hb³¶m Vm§ã¶mÀ¶m 4) hb³¶m A°ë¶w{‘{Z¶‘À¶m

16) The high strength-to-weight ratio of .......... recommends their use in aircraft and automobile

industries.

1) light steel 2) light titanium 3) light copper 4) light aluminium

5) {‘lUo d g§¶wJo
1) Ma~r ẁº$ MwZm {Z{‘©VrgmR>r Amdí¶H$ MwZIS>r‘Ü ò AewÕVoMo H$‘mb à‘mU {H$Vr Agmdo?

1) 15% 2) 12% 3) 5% 4) 10%
1) How much should be the maximum % of impurities in limestone allowed for fat lime ?

1) 15% 2) 12% 3) 5% 4) 10%

2) {ham ...... Amho.
1) YmpËdH$ ñ’${Q>H$ 2) ghg§¶wJr ñ’${Q>H$ 3) Am¶Zr ñ’${Q>H$ 4) aoUy ñ’${Q>H$

2) Diamond is a .....

1) Metallic Crystal 2) Covalent Crystal 3) Ionic Crystal 4) Molecular Crystal

3) qàQ>aMr emB© ho ........ Mo CXmhaU Amho.
1) Ý ỳQ>mo{Z`Z Ðd 2) Zm°Z-Ý ỳQ>mo{Z`Z Ðd
3) {WŠgmoQ´m°{nH$ nXmW© 4) bd{MH$ KZ

3) Printer’s ink is an example of ........

1) Newtonian fluid 2) Non-Newtonian fluid

3) Thixotropic substance 4) Elastic solid

4) ao{S>AmoJ«m’$s‘Ü ò dmnaë`m OmUmè`m S>oìhbqnJ agm`Zm‘Ü ò dmnabm OmUmam jnUH$ ........ Amho
1) hm`S´mo{¹$ZmoZ 2) A°ë ẁ{‘{Z`‘Mo jma
3) gmo{S>`‘ Wm`mogë’o$Q> 4) darbn¡H$s Zmhr

4) The main reducing agent present in developing chemicals used in radiography is ............

1) Hydroquinone 2) Salts of aluminum

3) Sodium thiosulfate 4) None of the above

5) gmYmaU nmoQ>©b±S> {g‘|Q> V`ma H$aÊ`mgmR>r, Z¡g{J©H$arË`m AmT>iUmè`m AmJubo{g`g Am{U H°$ëHo$[a`gMo {‘lU
H$moUË`m Vmn‘mZmV EH$Ì Omimdo bmJVo. ?
1) gw‘mao 145°C 2) gw‘mao 400°C 3) gw‘mao 1200°C 4) gw‘mao 750°C

5) Ideally at which temperature, mixture of naturally occurring argillaceous and calcareous is to be

burnt together in order to manufacture ordinary portland cement. ?

1) About 145°C 2) About 400°C 3) About 1200°C 4) About 750°C
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(5) amgm`{ZH$ A{^{H«$`m - Amåb, jma, g§̀ wJo
1) amgm`{ZH$ A{^{H«$`m
2) Amåbo Am{U AëH$br
3)  jma Am{U g§̀ wJo

1) amgm`{ZH$ A{^{H«$`m
1) 32 J«°‘ {‘WoZ (aoUy dñVw‘mZ 16 g/mol) Am{U 192 J«°‘ Am°p³gOZ (aoUy dñVw‘mZ 32 g/mol) EH$Ì {‘gico. ho

XmoZ dm¶y Oa EH$‘oH$m§er amgm¶{ZH$ A{^{H«$¶m H$aV ZgVrc Va {‘WoZ dm ỳMo ‘moc ’«°$³eZ {H$Vr ?
1) 0.25 2) 6 3) 0.167 4) 4

1) 32 g of methane (molar mass 16 g/mol) is mixed with 192 g of oxygen (molar mass 32 g/

mol). Presuming that these gases do not react with each other, what is the mole fraction of

methane ?

1) 0.25 2) 6 3) 0.167 4) 4

2) EH$m AZw‘mnZr {díbofUmV, 25 KZg|{Q>‘rQ>a 0.1 N Zm¶{Q´>H$ Amåb ...... KZg|{Q>‘rQ>a 0.25 N nmoQ>°{eA‘
hm`S´m°ŠgmBS> nyU©nUo A{^{H«$¶m H$aob.
1) 100 2) 10 3) 250 4) 25

2) In a titrimetric analysis, 25 cm3 of 0.1 N HNO3 would react completely with ............ cm3 of

0.25 N KOH.

1) 100 2) 10 3) 250 4) 25

3) Ooìhm 4.9 J«°‘ H2SO4 ho V KZg|{Q>‘rQ>a ÐmdUmV AgVo, Voìhm Ë¶m ÐmdUmMr àgm‘mÝ`Vm 0.025 N BVH$s AgVo,
Va V = ......
1) 4 2) 2000 3) 4000 4) 2

3) 4.9 g of H
2
SO

4
 is present in V cm3 0.025 N solution of sulphuric acid, then V = ...........

1) 4 2) 2000 3) 4000 4) 2

4) 10 J«°‘ dm¶wê$n hm¶S´>moOZ‘Ü¶o H2 ‘mZH$ Xm~ Am{U Vmn‘mZmV hm¶S´>moOZMo ...... ‘mob AgVmV.
1) 10 2) 5 3) 1 4) 0.1

4) 10 g of gaseous hydrogen H
2
 at NTP/STP contain .............. mol of hydrogen.

1) 10 2) 5 3) 1 4) 0.1

5) 7 J«°‘ dm¶wê$n Zm¶Q´>moOZMo N2 dmVmdaUmÀ¶m 2 EQ>rE‘ Xm~mV Am{U 546 K Vmn‘mZmg ...... dm3 BVHo$ KZ’$i
AgVo.
1) 5.6 2) 11.2 3) 22.4 4) 313.6

5) 7 g of gaseous nitrogen N
2
 occupies ........... dm3 at 546 K and 2 atm.

1) 5.6 2) 11.2 3) 22.4 4) 313.6
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6) NH
3
 Mo g§V¥á Amho Aem NaCI À¶m g§hV ÐmdUmVyZ CO

2
 nmR>{dbm AgVm .......... Mo ñ’${Q>H$ doJio hmoVmV.

1) NaHCO
3

2) Na
2
CO 3) NH

4
CI 4) (NH

4
)CO

3

6) When CO
2
 is passed into a concentrated solution of NaCl which is saturated with NH

3
 Crystals of

.................. separate out.

1) NaHCO
3

2) Na
2
CO 3) NH

4
CI 4) (NH

4
)CO

3

7) V
2
 O

7

-4 ‘Ü¶o V Mr Am°p³gS>rH$aU pñWVr hr ...... Amho.
1) + 5 2) - 5 3) + 4 4) + 10

7) The oxidation state of V in V
2
 O

7

-4 is .

1) 03 2) 04 3) 02 4) 01

8) gmo{S>`‘ ŠbmoamB©S>À`m BboŠQ´mo{b{gg‘Ü ò, {dVibobo gmo{S>`‘ ŠbmoamB©S> ho Ë¶mMm {db¶ q~Xy 808°C À`m Imbr R>odbo
OmVo :
1) nmoQ>°{e`‘ ŠbmoamB©S> 2) ‘°¾o{e`‘ ŠbmoamB©S> 3) H°$pëe`‘ ŠbmoamB©S> 4) {b{W`‘ ŠbmoamB©S>

8) In the electrolysis of sodium chloride, molten sodium chloride is kept molten at 600°C, below

its melting point of 808°C by addition of :

1) Potassium chloride 2) Magnesium chloride 3) Calcium chloride 4) Lithium chloride

9) ’°aoS>oÀ`m BboŠQ´mo{b{ggÀ`m n{hë`m {Z`‘mMr J{UVr` A{^ì`º$s ...... Amho.
1) W = Q, W = Z × I × t, W = ZQ 2) W = Q, W = Z × Q, W × Q

3) W∝ Q, W = Q, W = Z × I × t 4) W = Z × I × t, W = Z × Q, W ∝ Q

9) Mathematical expression of Faraday’s first law of electrolysis is ......

1) W = Q, W = Z × I × t, W = ZQ 2) W = Q, W = Z × Q, W × Q

3) W∝ Q, W = Q, W = Z × I × t 4) W = Z × I × t, W = Z × Q, W ∝ Q

10) gmnoj AS>Wio AgVmZm EŠgM|O H$m°åßboŠg‘YyZ g‘mZ H°$Q>m¶Ýg ~Xbbo OmD$ eH$VmV qH$dm H$mT>bo OmD$ eH$VmV,
Aemdoir ‘mVrÀ`m H$Um§Mo âbmoŠ ẁboeZ dmT>Vo, Ë¶mMm H«$‘ ......... Amho.
1) Al3+ > Ca2+ > Mg2+ > K+ > Na+ 2) Na+ > K+ > Mg2+ > Ca2+ > Al3+

3) Mg2+ > Ca2+ > A13+ > Na+ > K+ 4) K+ > Na+ >A13+ > Ca2+ > Mg2+

10) The relative difficulty with which common cations can be replaced or removed from the exchange

complex leading to increased flocculation of the clay particles is in the order of .....

1) Al3+ > Ca2+ > Mg2+ > K+ > Na+ 2) Na+ > K+ > Mg2+ > Ca2+ > Al3+

3) Mg2+ > Ca2+ > A13+ > Na+ > K+ 4) K+ > Na+ >A13+ > Ca2+ > Mg2+

11) ‘g©amBqOJ à{H«$ ògmR>r H$nS>o ......... AmhoV.
1) 10 Vo 15 Q> o̧$ H$m°pñQ>H$ gmoS>m ÐmdUmV 2 Vo 3 {‘{ZQ>o R>odm.
2) 15 Vo 20 Q> o̧$ H$m°pñQ>H$ gmoS>m gmoë ẁeZ‘Ü ò 1/2 Vo 2 {‘{ZQ>o R>odm.
3) 18 Vo 22 Q> o̧$ H$m°pñQ>H$ gmoS>mÀ`m ÐmdUmV 1 Vo 3 {‘{ZQ>o R>odm.
4) 20 Vo 25 Q> o̧$ H$m°pñQ>H$ gmoS>m ÐmdUmV 2 Vo 4 {‘{ZQ>o R>odm.

11) For mercerising process clothes are ..........

1) Put in 10 to 15 percent caustic soda solution for 2 to 3 minutes.

2) Put in 15 to 20 percent caustic soda solution for 1/2 to 2 minutes.

3) Put in 18 to 22 percent caustic soda solution for 1 to 3 minutes.

4) Put in 20 to 25 percent caustic soda solution for 2 to 4 minutes.
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12) amgm¶{ZH$ A{^{H«$¶oMm doJ hm gmYmaUnUo ...........
1) doioZwgma g§nyU©nUo pñWa ahmVmo.
2) gwédmVrcm H$‘r AgVmo Am{U doiogh dmT>V OmVmo.
3) gwédmVrcm OmñV AgVmo Am{U doiogh H$‘r hmoV OmVmo.
4) Ago gd©gmYmaU {dYmZ Ho$co OmD$ eH$V Zmhr.

12) Chemical reaction rates generally ..........

1) are constant throughout a reaction

2) are slow at the beginning and incrfease with time

3) are greater at the beginning of a reaction and decrease with time

4) no such generalization can be made

13) g‘wÐnmVirda Agboë¶m à¶moJemioV dmnaÊ¶mgmR>r, dfm©À¶m H$moUË¶mhr {Xder Imbrbn¡H$s gJù¶mV ¶mo½¶ g§hVr
EH$H$/EH$Ho$ ...... ho/hr Amho/AmhoV.
1) ’$º$ J«°‘aoUwVm 2) ’$º$ àgm‘mÝ¶Vm 3) ’$º$ ‘mobbVm 4) darb gd©

13) On any day of the year, to use in laboratories at sea level the most correct concentration unit/s is

/are ............

1) Only molarity 2) Only normality 3) Only molality 4) All of the above

14) g§dhZr dñVw‘mZ hñVm§VaU ‘wio hmoVo ........
1) aoUy§Mr `mÑpÀN>H$ JVr 2) ‘moR>çm à‘mUmV àdmhmÛmao nXmWm©Mr dmhVyH$
3) XmoÝhr (1) Am{U (2) 4) darbn¡H$s H$mhrhr Zmhr

14) Convective mass transfer occurs due to .......

1) Random motion of molecules 2) Transport of a substance by bulk flow

3) Both (1) and (2) 4) None of the above

2) Amåbo Am{U AëH$br
1) BIS 10500 : 2012 Zwgma, {nÊ`mÀ`m nmÊ`mV ŠbmoamB©S>Mr ñdrH$m ©̀ ‘`m©Xm ......... Amho.

1) 100 mg/l 2) 250 mg/l 3) 400 mg/l 4) 500 mg/l

1) As per BIS 10500: 2012, acceptable limit for chloride in drinking water is

1) 100 mg/l 2) 250 mg/l 3) 400 mg/l 4) 500 mg/l

2) hm`nmoŠbmoag A°{gS> Am{U hm`nmoŠbmoamBQ> Am`Z åhUyZ nmÊ`mV Agboë`m ŠbmoarZMr ì`m»`m ..... Aer Ho$br OmVo.
1) ‘wº$ ñdénmV CnbãY ŠbmoarZ 2) EH${ÌV CnbãY ŠbmoarZ
3) ŠbmoarZ ‘mJUr 4) Šbmoam‘mB©Ýg

2) Chlorine existing in water as hypochlorous acid and hypochlorite ions is defined as .........

1) Free available chlorine 2) Combined available chlorine

3) Chlorine demand 4) Chloramines
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3) jma Am{U g§̀ wJo
1) ewîH$ KQ> {dOoar g§MmV A°ZmoS> hm ........... Mm ~Zbobm AgVmo.

1) MnO2 2) J«°’$mBQ> 3) Cd 4) Zn

1) In dry cell battery, anode of the cellis made up of ......

1) MnO2 2) Graphite 3) Cd 4) Zn

2) ........ hm gm¡å¶ jnUH$ Amho. Omo ’$º$ H$m~m}{Zc JQ>mMo jnU BVa JQ> CXm. Zm¶Q´>mo, H$m~m}³Pr, BñQ>a, Xþhoar ~§Y
AgVmZm H$aVmo.
1) LiAlH4 2) NA - NH3 3) NaBH4 4) H2-Ni

2) The mildest reducing agent which reduces only carbonyl group in presence of nitro, carboxyl,

double bond and ester group is .........

1) LiAlH
4

2) NA - NH
3

3) NaBH
4

4) H
2
-Ni

3) nmÊ¶mMr {MañWm¶r Xþî’o$ZVm Xþa H$aÊ¶mgmR>r ............ hm/ho A{^H$maH$ dmnaVmV.
1) ’$º$ YwÊ¶mMm gmoS>m 2) ’$º$ gmo{S>A‘ ho³Pm‘oQ>m’$m°ñ’o$Q>
3) (1) Am{U (2) XmoÝhr 4) darbn¡H$s H$moUVohr Zmhr

3) The chemical reagent used to remove permanent hardness of water is / are

1) only washing soda 2) only sodium hexametaphosphate

3) Both (1) and (2) 4) None of the above

4) ãbrqMJ nmdS>a‘Ü ò Imbrb Jmoï>tMm g‘mdoe hmoVmo :
1) H°$pëe`‘ H$m~m}ZoQ> 2) H°$pëe`‘ hm`nmoŠbmoamBQ>
3) H°$pëe`‘ gë’o$Q> 4) ‘°¾o{e`‘ H$m~m}ZoQ>

4) Bleaching powder consists of :

1) Calcium Carbonate 2) Calcium Hypochlorite

3) Calcium Sulfate 4) Magnesium Carbonate

5) ßbmñQ>a Am°’$ n°[ag‘Ü ò ........ ho g§¶wJ AgVo.
1) H°$pëe`‘ gë’o$Q> 2) ‘°¾o{e`‘ gë’o$Q> 3) H°$pëe`‘ H$m~m}ZoQ> 4) ‘°¾o{e`‘ H$m~m}ZoQ>

5) Plaster of Paris consist of the following :

1) Calcium Sulfate 2) Magnesium Sulfate

3) Calcium Carbonate 4) Magnesium Carbonate

6) Wm`‘ Am°Bb‘Ü ò CnpñWV ‘w»` KQ>H$ Amho ....
1) Furfural 2) Carvacrol 3) Sennosides.  4) Galactogogue

6) The principal constituent present in thyme oil is ....

1) Furfural 2) Carvacrol 3) Sennosides.  4) Galactogogue
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(6) g|{Ð` agm`Zemó - hm`ŚmoH$m~©Ýg, H$sQ>H$ZmeHo$, B§YZ, dm ỳ, IVo
1) g|{Ð` agm`Zemó
2)  hm`ŚmoH$m~©Ýg
3) H$sQ>H$ZmeHo$
4) B§YZ, dm ỳ
5) IVo

1) g|{Ð` agm`Zemó
1) ŠbmoamoâbyamoH$m~©Z‘Yrb àË¶oH$ ŠbmoarZÀ`m aoUy‘mJo AmoPmoZÀ`m WamVyZ AmoPmoZMo gw‘mao ............ aoUy H$mT>bo OmVmV.

1) 10,00,000 2) 1,00,000 3) 10,000 4) 1,000
1) For every one molecule of chlorine from chlorofiuorocarbon, about .......... molecules of ozone

are removed from ozone layer.

1) 10,00,000 2) 1,00,000 3) 10,000 4) 1,000

2) ~wQ>mZmoZ ho Mma H$m~©Z Amho. H$m`m©Ë‘H$ JQ>mgh g§̀ wJ :
1) AëH$mohmob 2) AëS>rhmBS> 3) H$m~m}pŠP{bH$ E°{gS> 4) {H$Q>moZ

2) Butanone is a four carbon. compound with the functional group :

1) Alcohol 2) Aldehyde 3) Carboxylic acid 4) Ketone

3) Imbrbn¡H$s H$m¶ H$m~©ZMo Anén Zmhr ?
1) S>m`‘§S> 2) ’w$boarZ 3) ’o$amogrZ 4) J«°’$mBQ>

3) Following is not allotrope of carbon.

1) Diamond 2) Fullerene 3) Ferrocene 4) Graphite

4) H$moiemMo A§XmOo {díbofU ........... g§~§Yr ‘m{hVr XoVo.
1) H$m~©Z, hm`S´moOZ, Am°pŠgOZ Am{U amI `m§gmaIr {d{dY agm`Zo.
2) Amobmdm, pñWa H$m~©Z Am{U amI `m§À`m à‘mUmZwgma Q> o̧$dmar åhUyZ B§YZ KQ>H$,
3) Amobmdm, ApñWa nXmW©, pñWa H$m~©Z Am{U amI `m§À`m dOZmZwgma Q> o̧$dmar.
4) darbn¡H$s H$mhrhr Zmhr

4) The proximate analysis of coal gives ......

1) various chemicals like carbon, hydrogen, oxygen and ash.

2) fuel constituents as percentage by volume of moisture, fixed carbon and ash,

3) percentage by weight of moisture, volatile matter, fixed carbon and ash.

4) None of the above
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2) hm`ŚmoH$m~©Ýg
1) ImbÀ¶m dmVmdaUmV hm¶S´>moH$m~©Z Am{U Zm¶Q´>moOZ Am°³gmBS> ¶m‘Ü¶o A{^{H«$¶m hmoD$Z Yyhma V¶ma hmoVmo. ¶mM

AÝ¶moÝ¶{H«$¶oV ...... ho Xþæ¶‘ CËnmX AgVmV.
1) ’$º$ AmoPmoZ Am{U ApëS>hmBS>
2) ’$º$ ApëS>hmBS> Am{U {H$Q>moZ
3) ’$º$ ApëS>hmBS>, {H$Q>moZ, nam°p³gA°{gb Zm¶Q´>oQ

> 4) AmoPmoZ, ApëS>hmBS>, {H$Q>moZ, nam°p³gA°{gb Zm¶Q´>oQ>
1) In lower atmosphere, smog is formed by the reaction between hydrocarbon and nitrogen oxide.

This interaction produces .............. as secondary pollutants

1) only ozone and aldehydes

2) only aldehydes and ketones

3) only aldehydes, ketones, peroxyacyl nitrate

4) ozone, aldehydes, ketones, peroxyacyl nitrate

2) Imbrbn¡H$s H$moUVo ao{’«$Oa§Q> AË §̀V {dfmar Am{U ÁdbZerb Amho?
1) H$m~©Z S>m`Am°ŠgmBS> 2) gë’$a S>m`Am°ŠgmBS> 3) A‘mo{Z`m 4) R-12

2) Which of the following refrigerant is highly toxic and flammable ?

1) Carbon dioxide 2) Sulphur dioxide 3) Ammonia 4) R-12

3) Imbrbn¡H$s H$moUVm JwUY‘© AmXe© ao{’«$Oa§Q>gmR>r Bï> Zmhr?
1) H«$m§{VH$ Xm~ (Critical pressure) eŠ` {VVH$m OmñV Agmdm
2) ÐdmMr {d{eï> CîUVm eŠ` {VVH$s H$‘r Agmdr
3) ~mînr^dZmMr H$‘r EÝWmënr
4) bmoAa ’«$sqOJ nm°B§Q>

3) Which of the following property is not desirable for Ideal Refrigerant ?

1) Critical pressure should be as high as possible

2) Specific heat of liquid should be as small as possible

3) Lower enthalpy of evaporation

4) Lower freezing point

4) ao{’«$Oa|Q>À`m Imbrb dJm©Mm dmna erVJ¥hmV R>odboë`m nXmWm©VyZ CîUVm emofyZ qH$dm H$mTy>Z Q>mHy$Z W§S> H$aÊ`mgmR>r
Ho$bm OmVmo.
1) dJ© 2 2) dJ© 3 3) dJ© 1 4) dJ© 4

4) Following class of refrigerant is used to cool by absorption or extraction of heat from substance

to be refrigerated

1) Class 2 2) Class 3 3) Class 1 4) Class 4

5) S´>mQ> {~¶a åhUOo ......
1) AZ’$sëQ>aS²> {~¶a 2) AH©$‘wº$ {~¶a
3) AZnmíMamBO {~¶a 4) {H$ÊdZ à{H«$¶o{edm¶ V¶ma Pmbobr {~¶a

5) Draught beer means .....

1) Unfiltered beer 2) Flavoured beer

3) Unpasteurised beer 4) Beer made without fermentation process
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6) U.P. Mo {XK©ê$n/nyU©ê$n H$m¶ Amho?
1) A§S>a àmB©g 2) A§S>a àw’$ 3) A§S>a àmoQ>o³eZ 4) A§S>a àoea

6) What is the long form of UP ?

1) Under Price 2) Under Proof 3) Under Protection 4) Under Pressure

3) H$sQ>H$ZmeHo$
1) Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho?

A) S>rS>rQ>rMm àW‘ emoY AmoW‘ma PoS>baZo bmdbm
~) S>rS>rQ>rMr H$sQ>H$ZmeH$ JwUY‘© nm°b ‘wba `m§Zr {gÕ Ho$bo
n¶m©¶r CÎmao …
1) ’$º$ (A) 2) ’$º$ (~) 3) XmoÝhr (A) Am{U (~) 4) `mn¡H$s Zmhr

1) Among the following, which statement is correct ?

a) DDT was first discovered by Othmar Zeidler

b) Insecticidal property of DDT was proved by Paul Muller

Answer Options :

1) Only (a) 2) Only (b) 3) Both (a) and (b) 4) None of these

2) {haì`m H¥$fr agm`Zm§À`m JQ>mV Imbrb ~waerZmeHo$ H$moUVr?
1) ~oZmo{‘b 2) H$m~}ÝS>m{P‘ 3) â ẁ~o[aS>mPmob 4) Wm`mo’o$ZoQ> {‘WmBb

2) From the following fungicides which falls in the group of green agrochemicals ?

1) Benomyl 2) Carbendazim 3) Fuberidazole 4) Thiophanate methyl

4) B§YZ, dm ỳ
1) dmhVwH$sgmR>r B§YZ åhUyZ dmnaÊ¶mV ¶oUmè¶m g§Hw${MV ~m¶moJ°g ‘Ü¶o ............. % n¶ªV {‘WoZMr loUr dmT> H$aVmV.

1) 65 2) 75 3) 50 4) 98
1) Compressed Biogas used as fuel for transportation is upgraded to ...... % purity of Methane.

1) 65 2) 75 3) 50 4) 98

2) Imbrbn¡H$s H$moUË`m B§YZ-dm ẁ {‘lUm‘wio hm`S´moH$m~©ZMo H$‘r CËgO©Z hmoVo?
1) Xw~io B§YZ {‘lU
2) g‘¥Õ B§YZ {‘lU
3) ñQ>mo{MAmo‘o{Q´H$ B§YZ hdoMo {‘lU
4) B§YZ hdoÀ`m {‘lUmMm hm`S´moH$m~©Ýgda H$moUVmhr n[aUm‘ hmoV Zmhr

2) Which of the following fuel-air mixture results in less hydrocarbon emission ?

1) Lean fuel mixture

2) Rich fuel mixture

3) Stoichiometric fuel air mixture

4) Fuel air mixture does not have any effect on hydrocarbons
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3) ............ hm dm ỳ "^monmi dm¶y XþK©Q>Zog' H$maUr ŷV Pmbm.
1) {‘{Wc Am¶gmoH$m~m}ZoQ> 2) {‘{Wc Am¶gmoZm¶ZmBS>
3) {‘{Wc Am¶gmo³bmoamB©S> 4) {‘{Wc Am¶gmogm¶ZoQ>

3) ............ This gas caused the 'Bhopal gas disaster'.

1) Methyl isocarbonate . 2) Methylisocyanide .

3) Methyl isochloride' 4) Methyl isocyanate

5) IVo
1) qgJb gwna ’$m°ñ’o$Q>‘Ü ò {H$Vr Q> o̧$ P,O, AgVo?

1) 16%  2) 48% 3) 46% 4) 27%
1) How much percentage of P,O, is present in single super phosphate ?

1) 16% 2) 48% 3) 46% 4) 27%

2) PmBZ gë’o$Q> hoßQ>mhm`SóQ> IVm‘Ü ò qPH$Mo à‘mU H$m` Amho?
1) 19.4% 2) 12% 3) 21% 4) 33%

2) What is the zinc content in the zine sulphate heptahydrate fertilizer ?

1) 19.4% 2) 12% 3) 21% 4) 33%

3) 'PDM' IVm‘Ü ò H$moUVo à‘wI nmofH$ KQ>H$ AgVmV?
1) nmoQ>°e 2) ’$m°ñ’$ag 3) ‘°¾o{e`‘ 4) Zm`Q´moOZ

3) ‘PDM’ Fertilizer contains which major nutrient ?

1) Potash 2) Phosphorous 3) Magnesium 4) Nitrogen

4) Imbrbn¡H$s H$moUVo {dYmZ IFFCO Zo {dH${gV Z°Zmo ẁ[a`m À`m g§X^m©V ~amo~a Amho/AmhoV?
A) Z°Zmo ẁ[a`m‘Ü ò EHy$U 4-0% Zm`Q´moOZ AgVo (w/v)

~) ho IV ’${Q©>bm`Pa H§$Q´mob Am°S>©a (FCO), 1985 Ûmao A{Ygy{MV Ho$bo Jobo Amho
H$) Z°Zmo H$Um§Mm AmH$ma 150 - 200 nm n ª̀V ~XbVmo
S>) ho NBRC, H$bmobMo g§emoYZ n[aUm‘ Amho
n¶m©¶r CÎmao …
1) A Am{U ~ ’$º$ 2) A, ~ Am{U H$ ’$º$
3) A, ~ Am{U S> ’$º$ 4) A, ~, H$ Am{U S>

4) Which of following statements is/are correct in respect to “Nano urea developed by IFFCO” ?

a) Nano urea contains 4-0% total Nitrogen (w/v)

b) This fertilizer has been notified by Fertilizer Control Order (FCO), 1985

c) Nano particle size varies from 150 — 200 nm

d) It is research outcome of NBRC, Kalol

Answer Options :

1) a and b only 2) a, b and c only

3) a, b and d only 4) a, b, c and d
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4) Amåb ẁº$ ‘mVrV Imbrbn¡H$s H$moUVo IV A{YH$ `mo½` Amho?
1) A‘mo{Z`‘ gë’o$Q> 2) A‘mo{Z`‘ ŠbmoamB©S>
3) H°$pëe`‘ A‘mo{Z`‘ Zm`QóQ> 4) hm`S´m°g A‘mo{Z`m

4) Which of the following Fertilizer is more suitable in Acidic Soils ?

1) Ammonium Sulfate 2) Ammonium Chloride

3) Calcium ammonium nitrate 4) Hydrous ammonia

6) ñ’$moQ>Ho$
1) 'PETN' ho Imbrbn¡H$s H$moUË¶m ñ’$moQ>H$mMo g§{já ê$n Amho ?

1) noÝQ>m Q´>m¶Zm¶Q´>oQ> 2) noÝQ>m E[a{W«Q>mob Q>oQ´>mZm¶Q´>oQ>
3) noÝQ>m E[aW«mo‘ Q´>m¶Zm¶Q´>oQ> 4) noÝQ>m Zm¶Q´>oQ>

1) ‘PETN’ is the short form of which of the following explosives ?

1) Penta trinitrate 2) Penta erythritol tetranitrate

3) Penta erythrom trinitrate 4) Penta nitrate

2) Am¶.B©.S>r. .... ho Imbrbn¡H$s H$emMo g§{já ê$n Amho ?
1) Bånm°Q>©ÝQ> E³gßbmo{gìh {S>ìhmBg 2) BåàmodmBP²S> EŠgßcmo{gìh {S>ìhmBg
3) B{¾Q>oS> EŠgßcmo{gìh {S>ìhmBg 4) BÝâbm°‘oQ´>r EŠgßcmo{gìh {S>ìhmBg

2) IED is the short form of which of the following ?

1) Important Explosive Device 2) Improvised Explosive Device

3) Ignited Explosive Device 4) Inflammatory Explosive Device

3) eó A{Y{Z¶‘, 1959 AÝd¶o ""Xmê$Jmoim'' ¶mMm AW©, H$moUË¶mhr A{¾eóm§gmR>r bmJUmam Xmê$Jmoim Agm AgyZ,
Ë¶mV nwT>rb Jmoï>tMm g‘mdoe hmoVmo …
A) A{¾~mU, ~m°å~, ñ’$moQ>Jmoio Am{U Hw$bnr Jmoio. ~) bmR>r, MmbVmZm dmnamd¶mMr H$mR>r Am{U hm°H$s ~°Q>.
H$) n{cVo d Kf©UZ{bH$m. S>) Xmê$ Jmoù¶mMo ^mJ d Vmo V¶ma H$aÊ¶mMr ¶§Ì gm‘J«r
AMyH$ n¶m©¶r CÎma {ZdS>m.
1) n¶m©¶ A, ~ Am{U H$ AMyH$ AmhoV. 2) n¶m©¶ ~, H$ Am{U S> AMyH$ AmhoV.
3) n¶m©¶ A, H$ Am{U S> AMyH$ AmhoV. 4) gd© n¶m©¶ AMyH$ AmhoV.

3) Under the Arms Act, 1959, "Ammunition" means ammunition for any fire arm and includes :

a) rockets, bombs, grenades and shells.

b) lathis, walkingsticks and hockey bat.

c) fuses and friction tubes.

d) parts of and machinery for manufacturing, ammunition.

Choose the correct option.

1) Options a, b and c are correct 2) Options b, c and d are correct

3) Options a, c and d are correct 4) All options are correct

-0-0-0-0-0-0-0-0-0-0-0-
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‘hmamîQ́> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h

gm‘mÝ` {dkmZ

(1) JVremó, CîUVm, àH$me, ÜdZr,
{dÚwVMw§~H$s¶ bhar

1) JVremó - EH$Ho$, CnH$aUo, doJ, g§doJ, ~b, eº$s,
D$Om©

1-2 2-1 3-2 4-4 5-2 6-4
7-3 8-2 9-2 10-2 11-1 12-1
13-1 14-2 15-4 16-2 17-4 18-4
19-4 20-3 21-1 22-2

2) JVremó - Kf©U, n¥ð>VmU, {dî¶‘§XVm, Ðdàdmh

1-1 2-4 3-3 4-4 5-2 6-1
7-4 8-1 9-3 10-3 11-1 12-4
13-3 14-3 15-3 16-3 17-2 18-2
19-1 20-3

3) CîUVm, erVH$aU, ~mînr^dZ

1-3 2-2 3-3 4-1 5-1 6-3
7-4 8-4 9-3 10-3 11-4 12-2
13-3 14-4 15-3 16-4 17-2 18-3
19-1 20-2 21-3 22-4 23-2 24-2
25-4 26-2

4) ÜdZr, AëQ́>mgmo{Z³g, gmoZma

1-2 2-2 3-3 4-3 5-1 6-4
7-2 8-4 9-2

5) àH$me

1-1 2-4 3-4 4-2 5-2 6-1
7-4 8-2 9-4 10-3 11-4 12-3
13-2 14-2 15-3 16-3 17-1 18-3
19-3 20-2 21-3 22-4

6) {dÚwVMw§~H$s¶ bhar / Bbo³Q´>mo‘°¾o{Q>H$ ñnoŠQ´>‘

1-1 2-1 3-2 4-3 5-1

(2) {dÚwVemó, Mw§~H$Ëd, AUw{dkmZ d
{H$aUmoËgm[aVm

1) {dÚwVemó

1-2 2-1 3-3 4-4 5-3 6-3
7-4 8-3 9-3 10-3 11-3 12-2
13-1 14-1 15-2 16-3 17-3 18-3
19-1 20-3 21-2 22-1 23-4 24-2
25-3 26-3 27-3 28-1 29-4 30-2
31-4

2) Mw§~H$Ëd

1-4 2-2

3) AUw{dkmZ

1-1 2-3 3-2 4-4 5-4 6-4

4)${H$aUmoËgm[aVm

1-4 2-3 3-1 4-3 5-1 6-4
7-2

(3) IJmobemó d A§Vami {dkmZ

1) IJmobemó

1-2 2-2 3-4 4-1 5-1 6-4
7-4 8-4
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2) A§Vami {dkmZ

1-3

3) CnJ«h ¶§ÌUm d àjonU

1-2 2-3 3-4 4-2 5-1 6-3

4) Xÿag§doXZ

1-2 2-2 3-4 4-2 5-2 6-4
7-4 8-3 9-3 10-4

5) OrnrEg d OrAm¶Eg

1-2 2-4 3-1 4-2 5-2 6-3
7-

(4) AmdV© gmaUr - ‘ybÐì¶o, YmVy Am{U
AYmVy

1) AmdV© gmaUr

1-4 2-4 3-4

2) AUwaMZm d aoUy

1-2 2-3 3-4 4-1 5-1 6-2
7-3 8-1 9-4 10-1 11-4 12-2
13-4 14-2 15-2 16-2 17-3

3) ‘ybÐì¶o

1-2 2-3 3-3 4-1 5-1

4) YmVy Am{U AYmVy

1-3 2-4 3-1 4-1 5-3 6-1
7-2 8-1 9-4 10-2 11-4 12-4
13-3 14-2 15-1 16-4

5) {‘lUo d g§¶wJo

1-3 2-2 3-3 4-1 5-1

(5) amgm`{ZH$ A{^{H«$`m - Amåb, jma,
g§̀ wJo

1) amgm`{ZH$ A{^{H«$`m

1-1 2-2 3-3 4-2 5-1 6-1
7-1 8-3 9-4 10-1 11-2 12-3
13-3 14-2

2) Amåbo Am{U AëH$br

1-2 2-1

3) jma Am{U g§̀ wJo

1-4 2-3 3-3 4-2 5-16-2

(6) g|{Ð` agm`Zemó - hm`ŚmoH$m~©Ýg,
H$sQ>H$ZmeHo$, B§YZ, dm ỳ, IVo

1) g|{Ð` agm`Zemó

1-2 2-4 3-3 4-3

2) hm`ŚmoH$m~©Ýg

1-4 2-3 3-3 4-3 5-3 6-2

3) H$sQ>H$ZmeHo$

1-3 2-1

4) B§YZ, dm ỳ

1-4 2-1 3-4

5) IVo

1-1 2-3 3-1 4-3 4-3

6) ñ’$moQ>Ho$

1-2 2-2 3-3


